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(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
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Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).

G edIR o{lAeil YUoilBilef Uldel sclofl d3el] AW, Bouell ditl-YUsl i) 539 12VlLd] tla
aqiel «&l
(1) GALdR didl-YUell [Add S 11Ad ditl-¥Ael UsAse] 22 sd il 2ER.

(2) GUEdR UHUHI ditl-YUell 2% 5L A1 U URite AAd [ddd ditil-yUst UnASell
oiYsile] % GUALL 5.

(3) GALdR Uldlal UlatHi HAd YUY RASIHI 9UIAE URSHIS Yoo ditl-YUst] 22 ol 5cll dHIH
digl-yUell AU U Uit 6AG Yl[dreld w12 S (HIReR UBUA)sll Usl SHIS Yool Wl d
Aeelui 0 s2dl.

(4) U1 USUA Ui A2 ust a [Asey [Ad el ditil-Y et dlel Qo lH] w1dQ) il

(5) GREAR % URlell (A5 UR dit] 2% 536 & el [Asey U % % lod YUdd B 2 %clod GHedR
Uldlefl GrRad&lui wUd eld) a5, GAed R YUAd dlod el GrdRdElell asallod (¢3t &2l dl
GHed IR 2% 539 ditl-YUst LdleiH AR oAl

(6) W5 WS HI2 WS % ditl-YUel Uas dlUG, A5 % didl-YUet UAsHI 158l aaR usllel 22q41d
539 &2l dl A 2etl ditll-¥yAell il Ad Q) «i&l.

(7) U3lewHl sloR ¥A GAEAR % citl - YUot 9y 53| A5 .
(8) GRAeal? clul-YUol A& Wclloll scuataglell aisct @sial scusdl 234
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001.

D .

003.

o d [Aal Hla-u U4 sy [Qauy/las-l acu 89 ?
1. iR wellareut {221 24 et Rumga e qeildd .
2. vHelAle T sis30UL dvua A YAdinl §det-Ge-glr g1l situadinl 2 ed.

3. o0l wwud AlEl Aue wre A Ayel sl 214 e siaellavll ueazdl ol sudlai
(avflatl) 2 wvand €.

A U4 uioy [aseu vaie 3.
(A) A 121 3 (B) WA 2 ¢4, 3

@172 (D) 1,243

AR s Al (School of Art) (A2 -1 WA 53 [Qeun/sa (Al ue 97

1. oliR sou Al 2wl cid- Slasiami yru Adlzil Hidl 245 ¢dl 241 d Greco-Roman sou A\
A8 2y Sld Asouddl gdl.

2. 2UH1R 500 Al A HSUA tllg 44 A1 2ue Ad Asnnddl 8dl 244 dedl 20 Al Yo [41R (Theme)
2 G101 g A Gl (AU Sl

3. d Yuued s aURRA 27 Sl Gr-uHl curai f-nE [AsAd ¢dl 211 aafien, dauar, s
a2l euHlate d-il Yoo 220 Sdl.

QA Q4 aiou [Asey yrie s3l.
(A) {1 1 241 2 (B) Wit 1 244 3
(C) 1A 2 21 3 @223

[y 22gla-u dlsi-u wAiZorm -l ouotd DA W4 53 [Qa-y/sa [l aca e ?

-

1. AL e 244 Al el gl

2. dil [Qs12 24 29 2lsul (A 4L Sl

3. dutl wiidl 2ud- vl g,

4. UNSIAL HALZY L HIS USSL Sl

A2 U4 dlou [Asey vzie sl

(A) WA 1 24A 2 @ 1,224

(C) WA 121 3 (D) {1 2 1A 4

[BCH-1] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight


001.

002.

003.

Which of the following statements is/are correct regarding Gujarat?
(1) The Palitana Temples of Bhavnagar is associated with Bhagwan Rishabhdev
(2) Kankaria lake of Ahmedabad is built by Sultan Qutub-ud-din

(3) The famous Sidi Saiyyed Mosque in Jamnagar is entirely arcaded and is famous for beautifully

carved stone lattice work windows (jalis).
(A) 1 and 3 only (B) 2 and 3 only

@ 2nd 2 onty (D) 1,2 and 3

Which of the following statements is/are correct regarding Gandhara School of Art?

(1) Gandhara School of Art was one of the major schools of art in the history of ancient India and

it is uniquely associated with the Greco-Roman style of art

(2) Gandhara style of art was closely associated with Mahayana Buddhism and hence the main

theme of this art was Lord Buddha and Bodhisattvas

(3) It mostly flourished in the areas of Afghanistan and present North-Western India and the

prominent locations were Taxila, Peshawar, Bagram and Bamiyan
(A) 1 and 2 only
(B) 1 and 3 only

(C) 2 and 3 only
.1, 2and3

Which of the following statements is/are correct about the amusements of the people of the

Indus Civilisation?

(1) They enjoyed dancing and singing

(2) They took interest in hunting and chariot-racing

(3) They were interested in the game of dice.

(4) Toys were for the amusement of the children

(A) 1 and 2 only @:.2:nd 40nly

(C) 1 and 3 only (D) 2 and 4 only

[BCH-1] rro. |EN
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004.

00s.

006.

007.

008.

009.

gHRwWo Ald S [l DA A4 sy [Qa-y/sa Q- aca 69 ?

1. d dwia s AgRll .

2. ARIMZ dH-L HEMIAL Sl

3. dngl ogoUR, [Saa 2 €131 Gualo uR uldoiy ysul gdl.

4. el Mg sgula-dl AlHna Hed 43 Angls 30 edl.

2l-u WA uloy [Asey vrie s2.

@234 (B) WaL 1 24 2
(C) WA 3 i1 4 (D) 1,2,3 x4

4 DRTRVE R ERTRTEDTN ECTE RIS
(A) 1922 -1l 6UR31Al 5AAHT WAl 53R 1 HRAL A HLG2UAL LG L Ysadl Hidell sauni 2udl sdl.

(B) &2 Hedl WAl gl u [R-1e Henaar W dan-l 215l anan-l Aue 51 anan 1
2iUl2L (Coincidence) ¥4l 8.

@ o B oin

(D) A A9 B 15 uaL 8.

A2l W 5y [Aanq/sa [Qadl w8 ?

(A) U2l (Patta) 2 Vigdl 211 ol wlast Al Albid sA2 9.

(B) dstdll (The Taccavi) 21 FHIHEIRI g121 Mgl Ul (AllM i) o [ 8
@) = ®) vin

(D) (A) Al (B) 5 uaL )

AL1u513) Ai% - (Subsidiary Alliance) 2[R id2ld 22l A%l 56 At 2uuan udl edl ?
&G (B) dial

(C) AAua8IR (D) [a22ll susadi

cuRdla Sidlag Ul uaH wA[AA HHELIAE vid 1902 Hi......... L HULUE S50 AANY 8.

(A) YSINig 6l [ REEEIUERREE)

(C) 5.4l (D) AcAMMLES YA

HOUS L ABAUIE GIRL......... Al QUALSLL £ HYR WASHITSR AlsR (Alexander Walker)-l Asigu-ll
waH Uy adls [(AHgls sraumi 2udl gdl.

(A) A4 uasas ol @-v-ic2 ouusas

(C) 21RAYARLA QUASALS (D) Hidd duAsaLs
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004.

005.

006.

007.

008.

009.

Which of the following statements about Kumarpal Solanki is/are correct?
(1) He was the follower of Vaishnavism

(2) His mahaamatya was Vagbhatt.

(3) He had prohibited gambling, violence and use of liquor

(4) He had appointed Bhav Brihaspati as the Mahant of Somnath

.2, 3 and 4 only (B) 1 and 2 only

(C) 3 and 4 only D) 1,2,3 and 4

Which of the following statements is/are correct?

(A) The Bardoli Resolution of 1922 asked the peasants not to pay taxes and the tenants not to
pay rents.

(B) The Akali Movement for wresting the control of Gurudwaras from the corrupt Mahants
coincided with the Non-Cooperation Movement.

@soth (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements is/are correct?

(A) Patta is a written agreement between the peasant and the landowner
(B) The Taccavi used to disburse advances to the Tenants by the Zamindars
@soth (A) and (B)

(D) Neither (A) nor (B)

Which of the following powers was given to princely states under treaty of subsidiary alliance?
.Finance (B) Defence

(C) Communications (D) External Affairs

In Gujarat the first Session of Indian Congress was held at Ahmedabad in 1902 under the

Presidentship of .
(A) Subhash Chandra Bose .Surendranath Banerji
(C) M.K. Gandhi (D) Vallabhbhai Patel

Major Alexander Walker was appointed as the first President of Baroda by the Governor of

Bombay during the period of .
(A) Sayaji Rao Gaekwad II .Anandrao Gaekwad
(C) Ganpatrao Gaekwad (D) Khanderao Gaekwad

[BCH-1] rro. |E}
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010.

011.

012.

013.

014.

-

A AH HIS AR RS vl suoid DA WA sun Q- ac o ?

1. d VSUAE - W18 SAU/IU VALQHL HIAAL Sl

-

HQl dg A WAd (Eternal) A1 2HI8 (Infallible) HImdL Sl.

)
as

.

Y inY Y

3. AHEL A QLS cuodli Hird d$ (Reason) 247 [Ads 01 (Rationality) GUR GUIR Hsul Sdl.
4. dnal H[d yoa-il [ARiy sul gdl.
@134 (B) WA 1,2 21 3

(C) {1 2, ¢4 3 (D) 1,2,3 21 4

Dau WA 5y [Qrqy/san [Qanl ac 972

@ Qels-0 ulamd yo sl wand wul 8

(B) el URHLHL (Supreme Being) -l el 2812 53 69,
(C) (A) dal (B) tid

(D) (A) ¥t (B) s uaL ]

2R EURAT, QRL......... Sd

(A) adlaeHi AuRdluil sl Yad sl

(B) gl uewul (Princely States) Hi AU Rl %\L[:lrﬂd sdl
@222 ys o cudlail unel- Wi s34

(D) Bu-L U4 2is uaL (8.

w1 MRdld HorgR A4 (All India Trade Union) sutid 1A+ Ul sy [Qauy/sa [Qanl aea 697
1. d-l 2y a8 512+ Anam g as sdl.
2. AL ABUARIA dril HAH 1AL ARAE Sl

N ~

3. cdlu ndlu siAA d-l Azau-ulL [ER1y sl .

@172 (B) 13t 2

(C) WaL 121 3 (D) 1,21 3

FUR SIAAA Al HI2 oY - Arusls vl st 53 R agu HAnULlAA .......... A -
CECTRIERTERETR SN

(A) Swaraj Party (B) Indian Freedom Party

(C) Independence Federation of India .Indian Liberal Federation
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CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


010. Which of the following statements about the religious ideas of Raja Rammohan Roy are correct?
(1) He believed in monotheism, the concept of one God
(2) He considered the Vedas to be eternal and infallible
(3) He laid emphasis on human reason and rationality in all religious matters
(4) He opposed idol worship
.1, 3 and 4 only (B) 1, 2 and 3 only

(C) 2 and 3 only D) 1,2,3 and 4

011. Which of the following statements is/are correct?

.The Jains follow the practice of worshipping images of Tirthankaras

(B) The Jains denied the existence of a Supreme Being
(C) Both (A) and (B)

(D) Neither (A) nor (B)

012. The August Offer aimed at .
(A) Ensuring the participation of Indians in administration.
(B) Ensuring political stability in Princely states.
.Securing the support of Indians for British War efforts.

(D) None of the above

013. Which of the following statements is/are correct regarding the All India Trade Union?
(1) It was founded during the Non-Cooperation Movement.
(2) Lala Lajpat Rai was its first elected president.
(3) Indian National Congress opposed its formation.

.1 and 2 only (B) 2 only

(O) 1 and 3 only (D)1,2and 3

014. When Congress Leaders condemned Montagu-Chelmsford Report, many moderates left the party

to form the
(A) Swaraj Party (B) Indian Freedom Party
(C) Independence Federation of India .Indian Liberal Federation

[BCH-1] [PT.O.
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01S.

016.

017.

018.

UL ARUAS (A2l Al (8-l uHi @l 241 A1 BriR vrie $2U.

1. o AP AAHL UAH AUAS Sell.

2. (IR QRAULE S18L WS [rsu ol el

3. Higrald U B 2AUAS i d-dl a3aud 30 edl.

4. AHI2U Hd, VAR, AAASH S YUE A el

(A)HA 1,2 24 3 (B) WA 2, 11 3

(C) A1, 2% 4 @234

A2 2uuel wEL - 14 W€l 2 A A3l

ALEL-1 - AQdAdL AN AEl-2 - Al

1. 1814 [dwaq (Ahom Revolt) a. Y] AldARIH A% (Alluri Sitaram Raju)
2. wRLAU dl2ALAL sl (Pagalpantis Uprising) b. ANMUYR $iMdR (Gomdhar Konwar)

3. AHRIA tnal (Ramosis Uprising) c. él‘\{, 8 (Tipu Shah)

4. A4l [dgis (Rampa Rebellion) d. g (28 (Chittur Singh)
(A)1-2,2-b,3-¢,4-d @:-v.2-c3-d4-a
(C)1-¢,2-d,3-2,4-b D)1-d,2-a,3-¢,4-b

QA WA sl 2lRRammM00 /a2 2 QLS [l 65 AR F-E dZl3L s1a50 08 ioiBa © ?
1. Al HRASL YA

2. Adl uadl -uoyel

3. ﬂ“ﬂi eH" (Suppression of Thuggee)

4. {32 (A2 21[A[AUH (The English Education Act)

(A)HA 1,2 1 3 @1 2,321 4

(C) WA 1,2 ¢ 4 (D) WAt 1, 3 ¢4 4

A2l W) 56 ouotdini ol A dledl- Ao F212isg dEE & ?
1. Aeamidl onasll (st uz uldeiy

2. Uil

3. bun @2+ u uldsit

4. &flv 1ot uR uldeiy

(A) " 1 (B) WinL 1 244 2
(C) A 1,2 241 3 @:.2.32114
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015. Consider the following statements regarding Kheda Satyagraha and choose the correct answer.
(1) It was the first Satyagraha in Gujarat
(2) The crop was failed due to heavy rains
(3) The initiative came from local leaders like Mohanlal Pandya
(4) According to Gandhiji, the end of the Satyagraha was not ‘sweet’
(A) 1,2 and 3 only (B) 2 and 3 only
(C) 1,2 and 4 only @:.2,3ana4

016. Match the following List-1 with List-I1

List-I - Freedom Movements List-II - Leaders

1. Ahom Revolt a. Alluri Sitaram Raju
2. Pagalpantis Uprising b. Gomdhar Konwar

3. Ramosis Uprising c¢. Tipu Shah

4. Rampa Rebellion d. Chittur Singh
(A)1-2,2-b,3-¢,4-d @:-v.2-¢3-d4-a
©)1-¢,2-d,3-a,4-b M)1-d,2-a,3-¢,4-b

017. Which of the following acts/incidents/events were related to the tenure of Lord William Bentinck

as Governor General?

(1) Third Maratha War

(2) Abolition of Sati

(3) Suppression of Thuggee

(4) The English Education Act

(A) 1,2 and 3 only .2, 3 and 4 only
(O) 1,2 and 4 only (D) 1, 3 and 4 only

018. Which of the following were the contributions of King Jatashankar of Limbdi princely state?
(1) Ban on export of cows from the state
(2) Nashabandhi
(3) Prohibition of Child Marriage
(4) Ban on Begging
(A) 1 only (B) 1 and 2 only (C) 1,2 and 3 only .1, 2,3 and 4

[BCH-1] rro. |EN
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019.

020.

021.

022.

ARSI DEAUH] WHNUD .......... N 8,
.Mature Harappan Site (B) Microlithic Site
(C) Late Harappan Site (D) Paleolithic Site

A=A wEl 1 244 wEl 2 W A3

e-1 wgl-2

1.yexdl [ a. YA A A 2 SR susll
2. yradl AR b. LA i deueue-ll R
3. &Sl dl8 (Treaty of Jhalki) c. BulAg v Ry

4. sisayl [ d. HHAR1A 211 A1
(A)1-2,2-b,3-c,4-d (B)1-b,2-¢,3-d,4-2

@ -c2-23-p,4-4 D)1-d,2-¢,3-2,4-b

2ue (€€ $1% (Indian National Army) (42l A1 WAl 53 [Qau-i/sa (Al ey 44l?
1. d-ll 2w [€e 918l ananl [Rsua oue as.
2. INA il Al uaH (A1 Ha vid Yo s ol 20l .

3. INA 1 outl AL 24 Wl d (Raised) 53 gl 44 tid{l 2adstdl Yl d2il g12L d= 2802 2uucuml

L .
@223 (B) "ot 1
(C) WA 2 ¢ 3 (D) WaL 1 244 2

3o AL sl (g NA- U sy Qs [l wea e ?

1. A AAA 6UE M [AHIZ B AR AN GLUL Sl

2. M AAD- USAL 3 HFA) U WA LG GG HT 45012+ Al UL 53 ¢l
3. V1R, 1549 HI 52649+ UAH A 614 24 4o AL dLlS 2afUa 531,

4. 3% AU $UAD 1 ‘UM MR L bues” Al Bieioy 2l 2uedl gl
@123 (B) WAL 2, 3 241 4

(C)WA 1,294 4 (D) {1 1 241 2

[BCH-1] [Contd.
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019. Shamlaji in Sabarkantha district is a site.
.Mature Harappan (B) Microlithic
(C) Late Harappan (D) Paleolithic

020. Match the following List-I with List-II:

List-1 List-11

(1) Treaty of Purandar a. Raghunath Rao and East India Company
(2) Treaty of Surat b. Balaji and Nizam of Hyderabad

(3) Treaty of Jhalki c. Jai Singh and Shivaji

(4) Treaty of Kankapur d. Madhav Rao and Janoji

(A)1-2,2-b,3-¢,4-d
B)1-b,2-¢,3-d,4-a
@ -c2-23-b,4-4

D)1-d,2-¢,3-2,4-b

021. Which of the following statements is/are INCORRECT regarding Indian National Army?
(1) It was formed after the failure of Quit India Movement.
(2) The idea of the INA was first conceived in Malaya by Subhash Chandra Bose.
(3) The INA was raised by the Japanese Army and supported by them till India’s Independence.
@:.2:2na3 (B) 1 only

(C) 2 and 3 only (D) 1 and 2 only

022. Which of the following statements is/are correct regarding rulers of Jadeja dyanasty?
(1) After Jam Rawal, Jam Vibhaji became King of Nawanagar
(2) Jam Sataji-1 defeated Akbar’s army in the battle of Junagadh near ‘Majevadi’ village.
(3) Khengar became the 1st Rao of Kutch in AD 1549 and established Bhuj as Capital.
(4) Hardol ji the king of Jadeja dynasty was given the title of “Paschim Bharat ka Badshah”.
.1, 2 and 3 only (B) 2, 3 and 4 only

(C) 1,2 and 4 only (D) 1 and 2 only

[BCH-1] rro. |l
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023.

024.

025S.

026.

A1 U 5y [Qanqysan (Al a6 ?

1. 2urid ueudl a HodL 2uadl wEre saw Allsu qruadn Aels Al nan yrsiest vidddl 1ol
2L 8,

2. rtd neuell v1aa1 2unid Rl (Ware) 2L Aesidldls As(d (Chalcolithic Culture) €.
3. Urtd AR (Ware) 2 2odHi weel 241 529 [Feaunisll wofl 2uda 8.
@223 (B) HYYAIA 2 214 3

(C) 1A 11 3 (D) 1A 1 244 2

RAdHi 1857 L ananm [Aa A1 WA sy [Qa-y/sun (-l ae 97
1. Hateld ol dnasas disitt dearl 58 aigsiidl “omar’” A i Wil Mdl 530 sdl.
2. BIAYRUL DAUMLS SLSIR VA ARG £ USA vigd Atigla--l 2udia-l dldl.

3. ¢HlRunAl 2u0laidl 850l t181gR W dS) euliz £adlg sulul WA 512 eisd (Buckle) AlRs evil
BuR 2usMR 5y,

(A) 1A 1 241 2 (B) WA 2 241 3
(C) A 1241 3 @223
21 U4 565 oA/l uiou Ad Al € ?
1. GURdM ZA1-L AL UM $ 523 - wil3AL vid edl.
2. (Ml AN AL naw $524) sidlse vud sdl
3. HIRAHE 2{AA AL aH 5529 Y vud edl
4. RAHL s Al A §523) HydlugH vid gdl
(A) WA 1 241 2 @-v12,3214

(C)WaA 1,224 3 (D)1,2,3 %1 4

osulfden 5@ (A2 aA-u U4 sy Qs (Al uen 97

1. duQl emRiend] wfis Al 08 @a-udd anan aadl Ada sy,

2. duel xBa (rdla ?){gﬁﬁ{d onld 28 (All India Scheduled Caste Federation)-il 24+l 53
3. [Raneafadl smuil e s onil vidiR dil Al UaH dl

(A) H1A 2 91 3 (B) WAL 1 244, 2

@ 12473 (D) 1,2, %43
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023. Which of the following statements is/are correct?

(1) The ceramics similar to the Anarta tradition was first reported from Surkotada with Classical

Harappan ceramics.
(2) The Anarta tradition or Anarta ware is a chalcolithic culture
(3) The Anarta ware found from Patan and Kutch districts of Gujarat
@:.2:043 (B) 2 and 3 only

(C) 1 and 3 only (D) 1 and 2 only

024. Which of the following statements is/are correct regarding 1857 movement in Gujarat?

(1) Magan Lal Baniya recruited men for the “rebel” army from Kadi Taluka in Gaekwad’s domain.

(2) Jivabhai Thakore of Khanpur and Garbad Das Patel led a peasant upsurge in Anand.

(3) Pro Bahadur Shah forces led by Hamir Khan attacked the captain Buckle troops near

Devgadh Baria
(A) 1 and 2 only (B) 2 and 3 only
(C) 1 and 3 only @:.2:ana3

025. Which of the following pairs is/are correctly matched?
(1) First Factory of the French in India was at Pondicherry
(2) First Factory of the Portuguese in India was at Calicut
(3) First Factory of the English in India was at Surat
(4) First factory of the Dutch in India was at Masulipatnam
(A) 1 and 2 only .2, 3 and 4 only

(C) 1,2 and 3 only D) 1,2,3 and 4

026. Which of the following statements is/are correct regarding Jyotiba Phule?
(1) He led a lifelong movement against Brahmanical religious authority.
(2) He organized All India Scheduled Caste Federation.
(3) He was the first to open several schools for the girls of the lower castes.
(A) 2 and 3 only (B) 1 and 2 only

@1 2nd 3 onty (D) 1,2 and 3
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027. SUMI2L (The Dayabhaga) USUL A .......... .
(A) Aultid, [Acuo 554 yu oums- o-w ol o a8 a5 8
(B) dultig [Acuar 5261 asi-t @ansin e 48 A5 6
@-iufg (o g2 st @ansin exuq a8 a3 AR,
(D) Bu-iL U4l »is ua Ale.

-\

028. 12 2uud Glig UWRNE s1sHIGAR dlsdl.

1. daue 2. A% 3. wedlyat 4. s1edlR
(A)1,4,3 412 (B) 3,2, 1 21 4
(C)4,1,2413 @:. 1,324
029. €l-il (Daana) ARUR2 315 UL UNAL didellal (Tangaliya) ABU2 A 9 RAdAL ... (e sr-udnzfla
(Danagasia) AHeld glRl sAUU 204 69,
(A) x12a¢d) @2
(C) tt-tasist (D) Guu U4l »is v -l

030. AU 53 [Aa-y/sa Q- aca 9 ?
1. SHIRUIN V1 IR 2A2lS sSUU 6.
2. weRt viid-ll -5l 24 8l 3undl gl sitani 2udl gdl.
3. 3GHSLAU AMUH A¥id AN HURAY GIRL tiAUHT el Sl
4. oAl HI2LHLAL ALES A5 AAdH 24U A Sell.
(A) WA 1,2 ¢4 3 (B) {12 2 24 4

@1 1,304 (D) 1,2,3 x4 4

031. $afl (Kuntasi) Yrdedlu 200 ouoid -1 W4 sy [Qan/sa [Qadl e 97
1. 20 220 5451 (Phulki) Rel-iL Hew (3R [Raq 6.
2. 0 220 25 A5 1A oie: A HAQ 9.

3. 622, artdl WMl tida, WAeR dAd duR s3d WASHAL uyg AAS wRL 2 il woil

EICER
@123 (B) W 2 214 3
(C) 1A 11 3 (D) {1 1 241 2
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027. The Dayabhaga system is
(A) Property could be partitioned only on the birth of a male child.
(B) Property could be partitioned during the lifetime of the head of the family.
.Partition of property could not take place in the lifetime of the head of the family.

(D) None of the above.

028. Arrange the following Buddhist Councils in chronological order.
(1) Vaishali (2) Rajagriha (3) Pataliputra (4) Kashmir
(A)1,4,3 and 2 B)3,2,1and 4

(C)4,1,2 and 3 @:.1.3ana4 -

029. Tangaliya weaving is also known as Daana weaving mainly practised by Danagasia community of

district of Gujarat.
(A) Aravalli .Surendranagar
(C) Banaskantha (D) None of the above

030. Which of the following statements is/are correct?
(1) Kumarapala is called as Ashoka of Gujarat
(2) Rani-ki-Vav at Patan was constructed by Queen Rupmati
(3) Rudra Mahalaya was first constructed by Mulraj
(4) Most of the Solanki rulers of Gujarat were following shaivism
(A) 1,2 and 3 only (B) 2 and 4 only

@:.3 and 4 only (D) 1,2,3 and 4

031. Which of the following statements is/are correct regarding Kuntasi Archaeological site?
(1) This site is located on the right bank of Phulki River
(2) A port cum industrial complex was found at this site

(3) Arich collection of superbly finished pottery made of high quality clay has also been unearthed
at the site.

.1, 2 and 3 (B) 2 and 3 only

(C) 1 and 3 only (D) 1 and 2 only
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032, weat v |22 (Aol Al Ul sy [Qan/san [l aea © ?
1. [A5H dad-w v 1155 (5.2 1099) Hi U WS viur H[E: vitne sd.
2. 20 422 U el [0 slinani 2uey ¢d.
3. 2L (82 e1al WA A AR (Dedicated) $34 €9,
(A) 1AL 1 211 2 (B) WA 2 ¢4 3
(C) AT 244 3 @23

033. 52l cur (gl - WS sy [Qay/sa [l aeu €97
1. %] ¥ Indo-Aryan (it 8.
2. U MHINL oA 529 [AeRME 21 WlBRet- (18 (et sllqanni 2ud .
3. UG uHUn d virhl [alml aviani 2uadl ¢dl 5 2 ¢d g ad as ©.
(A) 1A 1 241 2 (B) H1AA 2 244 3
(C) AT 244 3 @23

034, DA wEl - 14 A€l - 2 W A3l

AEL-T - Ys AIEL-2 - el

1. vMsu- wgdan a. UH 2 AHRAAU [Anaag 2uakRa

2. HaeuH b. AR 52 U 2uHRd s1u

3. YaRIERA c. AHl BTiR GURAHI A Ao 5l 2d umiL GuR
il d [dei-l cald sRaumi >udl €.

4. gL d. d Hira 214 ugla-dl alsazil axa-n yaneal
olug anld 52 ©.

@ -22-p3-¢4-4 (B)1-2,2-¢,3-b,4-d

(C)1-b,2-¢,3-d,4-2 (D)1-¢,2-d,3-b,4-a

035. D21 WA 53y [Asuq/su [Qeanl ue 972
1. cusreL Al Alz s vaai-u 20812 g12llis 204Him (Philosophical Speculation) -l A+ 212 8.
2. AHde 24 Akl wllA g 69,
3. 28oAg Al UHUHL ASK 5l Slalril 1552 YRlal HAA €9,
4. Gral2 s anuduouHi Ao’ yAsiA s1aguR ot-iadl A6iRd 2Hs [RARBIHT v ARl s vl
(A) H1AA 1 1A 4 (B) WA 2
(C) WA 3 241 4 @1
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(1) In the year 1155 of the Vikram era (1099 CE), Sajjan Shah built the Shankheshwar temple.

032. Which of the following statements is/are correct regarding Shankeshwar Temple of Patan?

(2) This temple was built on the river banks of Rupen

(3) This temple is dedicated to Lord Parshwanath

(A) 1 and 2 only (B) 2 and 3 only
(C) 1 and 3 only @:.2:ana3

033. Which of the following statements is/are correct regarding Kutchi Language?
(1) Kutchi is an Indo-Aryan Language

(2) This language is used in Kutch region of Gujarat and Sindh region of Pakistan

(3) In earlier times it was written in Khojki script, which is now extinct.
(A) 1 and 2 only (B) 2 and 3 only
(C) 1 and 3 only @:.2:n43

034. Match the following List-I with List-I1

List-I - Book List-1II - Description

(1) Abhijana Shakuntalam a. Based on the theme of Love and Romance

(2) Meghasandesam b. Poem on the subject of King Kubera

(3) Mudrarakshasa c. It talks about how King Chandragupta came

to power in Northern India

(4) Ritusamhara d. Describes the harmonious relation between
man and forces of nature

@-22-1v3-¢4-4 B)1-2a,2-¢,3-b,4-d
(C)1-b,2-¢,3-d,4-2 (D)1-¢,2-d,3-b,4-a

035. Which of the following statements is/are correct?
(1) Brahmana texts involve philosophical speculation on Vedic concepts
(2) The Sama Veda is the oldest Veda.
(3) There is material evidence of urban centers in the Rig Vedic period

(4) The later Vedic period witnessed an upswing in rituals related to legitimizing the role of the

raja, the king.
(A) 1 and 4 only (B) 2 only
(C) 3 and 4 only @ oy
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036.

037.

038.

039.

A1 U £y [Qanqysan (Al a6 ?

(A) a3ign vl Aot {1 AUDAA 2UASAI-TITA W 60 A Yol qai-ll wgni sisani
AL .

(B) WeryR viid-ll Sl 21 92 Wigang vl il e d0Lui olitcuni 2l .
@) B vid
(D) (A) 214l (B) 2is Ut -l

A= 2uuel WEl-1 14 wegl-2 WA Al

-1 igl-2

1. i ued a. “uel uly

2. Uil Al Y2e b. %

3. 249 Y24 c. Asale

4. SUYUW HA WSS d. ¢ll> 2l

(A) 1-a, 2-b, 3-c, 4-d @:-c. 2-d,3b,4-2
(C) 1-d, 2-c, 3-a, 4-b (D) 1-d, 2-a, 3-b, 4-¢

9%l LA[AAL (Paintings) (A2 N2 WAL 53 [Qau-y/sa (-l w97

(A) As3tl oals [D-21oL (Block Printing) 24 2150 31 61 as-lsi €9 -l Guaidl il ued ) siiaan
W A e,

(B) (a2 2 24 ol icid uyg dissan Ald 8. 3 vis 2ulzoaldil gt [Badl u sl
204 €9,

@) 2 B) vin
(D) (A) ¥l (B) s uaL )
A VA 56 Ao vinglangui “-ue [Qen vzl au-u 531 ?

@121 [Qenzicn (B) 9% ArlsyaR Al

(C) el AlSer ulRue (D) cuRdlu [den ¢aq
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036. Which of the following statements is/are correct?

(A) The Kirti Stambh at Vadodara was built to mark 60 years rule of Maharaja Sayajirao
Gaekwad-I1I

(B) Kirti Stambh at Palanpur was constructed to commemorate the gallantry of Sher Mohammed
Khan

@soth (A) and (B)
(D) Neither (A) nor (B)

037. Match the following List-1 with List-I1

List-I List-1T

(1) Dhiruben Patel a. Nameli Sanja
(2) Pannalal Patel b. Zanza

(3) Ravji Patel ¢. Vadavanal
(4) Hasamukh H Pathak d. Bhiru Sathi

(A)1-2,2-b,3-¢c,4-d
@:-c2-d3-p4-a
(C)1-d,2-¢,3-2,4-b

D)1-d,2-a,3-b,4-c

038. Which of the following statements is/are correct regarding the paintings of Gujarat?
(A) Wooden block-printing and painting are the two techniques used to create the Mata ni Pachedi

(B) Pithora paintings are highly enriched folk art culture of Gujarat done on the walls by several

tribes
@soth (A) and (B)
(D) Neither (A) nor (B)
039. Which organization has established the ‘Natya Vidya Mandir’ in Ahmedabad?
.Guj arat Vidyasabha
(B) Gujarat Vernacular Society
(C) Gujarati Sahitya Parishad

(D) Bharatiya Vidya Bhavan
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040.

041.

042.

043.

044.

A U 5y [Qanq a9l ?

(1) welln (Memorial Stones) N @Rlb;\ i 529Ul AlsBiu 6.

(2) dlRyul (il (Hero Stones) i &3l GuR Yauld, [R3uwl 53¢ lu 6.
(3) udl-l Neumi yauld 3w 53¢ slu 6.

(4) udl Al 21 8L U0 MM HSUHE 204 69,

{121 Y4 a0y [Aseu urie s

(A) WA 1 241 2 (B) WA 1 ¢4 3

(C) WA 2 241 4 @324

4 DETRVEN R ERTRTEDTN TR TR DI e

(1) 24 Al SAL HS L MRl vitel HugL (Drafting) AR[A A4 Sl
(2) S-gudl MHAAA HIRcAAL NAH VUL 217 2AUS Sdl.

(3) [a-ie Brudlaran [ 91t ananui cud-i uan [Qendl adle ei-ut g

(A) 1,291 3 (B) HIA 2 1 3

(C) WA 1 244 2 @Gu-u i s uaql

2 suuen Qi 28R 3RS [ Hlgd, un sinvll sl
(1) 2 SHIRA 2 6£) AL AHASNAL B 21 d 9ornc-il Wllan satagllar SHrdui-l 245 €.

(2) 219R+1L £9d AHIASL ElAONL A5 251U Y212 (amalka cogged wheel-shaped crown) il 12 $HiA
ogdl e cudl 2usel avenddl gy 69,

(3) d ad el 518 Rad ©.

@-iu-ik: (B) AR5 ala

(C) gl (D) Bu-L Q4 i uaL -
ML ollg QUL MM xR Yuat .......... viid Al HA €9,

(1) grst-u [

(2) 213149+l aa

(3) %W HE 225U [l s (Rock Edict)
(A) WA 1 249 2 (B) WA 2 %A 3 (C) WA 1241 3 @

D2 WAL 55 uleonld HsLs1cd HSIHIRAT, Uldld, A5 4R1d 6 ?
(A) Aadl (B) usal
@-u (D) gl
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040. Which of the following statements is/are INCORRECT ?
(1) Memorial stones are popular in Saurashtra & Kutch
(2) Hero stones depict men on horse
(3) Sati stone depicts men
(4) Sati stone is placed in front of houses
(A) 1 and 2 only (B) 1 and 3 only
(C) 2 and 4 only @; and 4 only

041. Which of the following statements is/are INCORRECT?
(1) Hansa Mehta 'the freedom fighter' was the member of drafting committee of Indian Constitution.
(2) Indumati Chamanlal was the founder of first Khadi store in India -
(3) Vinod Kinariwala became the first student martyr of India over Quit India Movement
(A)1,2and 3 (B) 2 and 3 only
(C) 1 and 2 only .None of the above

042. Name the monument/temple with the help of following statements:

(1) This structure is dated to the 6th century and is one of the earliest surviving stone structures
in Gujarat.

(2) The roof of the tower is decorated with arch-like gavaksha window shapes below
an amalka cogged wheel-shaped crown.

(3) It is located on the bank of Vartu river
.Gop temple (B) Rani Ki Vav
(C) Ghumli (D) None of the above

043. The testimony of the early existence of Buddhism in Gujarat is seen at
(1) Temple of Dwaraka
(2) Stepwell of Adalaj
(3) Asokan Rock edict in Junagadh
(A) 1 and 2 only (B) 2 and 3 only

(C) 1 and 3 only @:; ony
044. Which of the following tribes has its own version of the epic ‘Mahabharata’?

(A) Chaudhary (B) Rathva
@snil (D) Doobla
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04S.

046.

047.

048.

049.

050.

pornani [8g Hlzi Geudl ag2ud .......... Al 2 AoilAd [Alay ey Adlziqn x50 se as 8.
(A) HSI-R @501 (C) 1R (D) 2 2-UlAs IR
sauns1dl (kalamkari) 3R .......... e Aoifa 69,

(A) Bri-yd tuRAHL ain-ll sasal v siadl siudd Qs
(B) MRl uZam [Briau [Qaui vdls U238 Glnd s1us
@22 curani s RAld Yard sus

(D) GriR-ufaH tiRdHE 82 RAld Yaultd 22l s1u8

50y 4l 2 MRAUSAH el a2 g dslad © ?
@04 i Ad4) uridliuld AUE S Al HAL B F HAULANUI Acl WAL )

(B) sl ol iR w2 wat AvIA qed 529 d MA-uRHH QlE@isdl 9 uid $AYL dni 20 usRg
SAAA Sig .

(C) (A) dal (B) tid
(D) (A) 212 (B) is w8

gl Hidl 2qu (A2 AlaA-u U4 5y Qi uen 97
(1) 20 U 21l 1aed) Pyecnni »uddl 6.
(2) 2[5 Ad 212U A HRRAAA 2520 A5 2000 69

-

(3) =it Al A2 2B4aul Yeoln 530 el 24 g UL A% GIRL A, tiaH UL Sl

@223 (B) WA 2 244 3

(C) WaL 1 244 2 (D) {1 1 44 3

auRd-ll Heusid 2uden A YusA-l ssHIgAR A 54 ... 8.

(A) Sung Yun, Hiuen Tsang, Fa-hien (B) Hiuen Tsang, Sung Yun, Fa-hien
.Fa-hien, Sung Yun, Hiuen Tsang (D) Buu U4 2is ua Al

A1 U £y [Qaun ae 69,

(1) agla Anei 2 Aaaue-l ueuv 8.

(2) WL 21 sruarisel vid agefla Hlel 2udean .

(3) agellar 3 B A1 e Aeifa 9.

(@) agdla 2 WM gadld A3 .

A2 Q4 aiou [Asey urie s2U.

(A) WA 1 A 4 (B) WA 3 ¢ 4 (C) A 121 3 @112
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045.

046.

047.

048.

049.

050.

The rise of Hindu temples in Gujarat has its beginnings in the amalgam of many different
architectural styles related to the style

(A) Maha-Gurjara .Chalukyan-Nagara
(C) Maru-Gurjara (D) Gurjara-Pratihara

Kalamkari painting refers to

(A) A handmade drawing on bamboo handicraft in North-East India
(B) A block-painted woollen cloth in Western Himalayan region of India
.A hand-painted cotton textile in South India

(D) A hand-painted decorative silk cloth in North-Western India

Which of the following is the difference between Kuchipudi and Bharatnatyam dances?

.Dancers occasionally speaking dialogues are found in Kuchipudi dance but not in
Bharatnatyam.

(B) Dancing on the brass plate by keeping the feet on its edges is a feature of Bharatnatyam but
Kuchipudi dance does not have such a form of movements.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements is/are correct regarding Devnimori Stupa?
(1) This stupa is located in the Aravalli District of Gujarat
(2) This stupa locally known as Bhoj Raja’s tekra

(3) This construction was designed by Agnivarma Sudarshan and it was constructed by a king
named Rudrasen.

@:.2:ana3 (B) 2 and 3 only (C) 1 and 2 only (D) 1 and 3 only

The correct chronological order of the following Chinese travellers visit to India is
(A) Sung Yun, Hiuen Tsang, Fa-hien (B) Hiuen Tsang, Sung Yun, Fa-hien
.Fa-hien, Sung Yun, Hiuen Tsang (D) None of the above

Which of the following statements are correct?

(1) Lakulisha sect is an offshoot of Shaivism

(2) Pavagadh and Kayavarohan are located with Lakulisha Temple

(3) Lakulisha is related to Jain sect

(4) Lakulisha is a form of village deity

(A) 1 and 4 only (B) 3 and 4 only (C) 1 and 3 only .1 and 2 only
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051. -l 2uslieasly caal@sdat [@Qel la-u U8 sy [Qamy/sa Q- 1 o ?
1. elaa-u Crecnziin eloranoll 2uotigal €9 o1 Gria-l f-UHi Yos 2uoieal €
2. elB- [yecuAini gos 2uoisal € o1 Gri-l fsiHi Mol suelisa 8
3. 9 RAdHl U212 A1 33 4l 152 Al a2 8 9.
(A) WA 3 (B) 1A 1 244 2
@ 12473 (D) 1,241 3

T

052. el 1A 2uien [Fearziid drl A< 500 21 Bl 51l dlsal. (2011l adl aiddl Ag12
£ azdl-i uldad 182 azdl) (% of Urban Population to total Population as per 2011 census)

1 qausid 2. €18l 3. 161518 4. AU ST
(A)4-3-2-1 (B)1-4-3-2
(€)3-1-2-4 @;-1-4-2

053. (At udarion-u -1 U4 suL &l A Y8 8- 6 ?
1. AUl AR AU ANHARRY
2. 5181 DAAREL 2UR(Ad &
3. AWYARL U 2UR(EA &
4. Hitd A1 Geurt
(A) 11 2 @124 (C)HA 1,2 2 4 D) 1,2,3 1 4

AN =

054. A UL 53 oAt eRuS Heri-l et vzt (Ao ) ?
(A) 529+ 20l @i 2w pbisia A
(C) AR HelA (D) AL siuril Helr

055. -l adl [Adr@ (2011) (A2l Dab-u WA 5y [Atnq / san Q- wea © ?
1. GTR YAAAHI i-usisL 2 Aldl ay azdl quadl Breal .
2. AR AxAnl Awsie [rear uglu s34 cuaoR [Feadl Aldll ay azdl olad qd 6.
3. Gk yd-il Preanziini ersie [Fea 21 ald yeiar Aldl Gl uwua 4d 6.

@223 (B) W 2 214 3
(C) A 131 3 (D) 1A 1 244 2
056. stélauaus gluseu o .......... ERTEIRTIR AR R AR D
@1 Cciia a4 (Emerged) (B) Ruars adal (Submerged)
(C) A (Ria) (D) 31 [Qiun (Dalmatian)
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051. Which of the following statements is/are correct regarding Climatic characteristics of Gujarat?
(1) Southern districts witness moist climate while the northern region dry climate
(2) Southern districts witness dry climate while the northern region moist climate
(3) The average rainfall in Gujarat state varies from 33 to 152 cms
(A) 3 only (B) 1 and 2 only
@1 :20a30n1y (D) 1,2 and 3

052. Arrange the following districts of Gujarat state in descending order of level of urbanization
(% of urban population to total population as per 2011 census).

(1) Panchmahal (2) Dahod (3) Sabarkantha (4) Banaskantha
(A)4-3-2-1 B)1-4-3-2
m (€)3-1-2-4 @:-1-4-2 -
053. Which of the following is/are a protected area in the Vindhya Range?
(1) Gandhisagar Wildlife Sanctuary
(2) Kanha Biosphere Reserve
(3) Satpura Tiger Reserve

(4) Madhav National Park
(A)2 only @ 2nd 4 onty (C)1,2and4only  (D)1,2,3 and 4

054. Which of the following is NOT a physical subdivision of Gujarat coastal plain?
(A) The Rann of Kutch .The Narmada Delta Plain
(C) The Saurashtra Plain (D) The Gujarat Alluvial Plain
055. Which of the following statements is/are correct regarding population distribution (2011) in
Gujarat?
(1) Banaskantha is the most populous district in North Gujarat.

(2) Bhavnagar district has the highest population density in Saurashtra region after Rajkot
district.

(3) Dahod district has the highest proportion of sex ratio in the north-eastern districts.

.1, 2 and 3 (B) 2 and 3 only
(C) 1 and 3 only (D) 1 and 2 only
056. The Kathiawar Peninsula is an example of shorelines.
.Emerged (B) Submerged
(C) Ria (D) Dalmatian
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058.

059.

060.

061.

062.

063.

.......... 2 GuRaxl Al Hiel ulzonld wyg © 3 veaugadl saizs A oauddl ulau sioun yol-u
[Qsue ugami sandal €.

(A) Ui (Santhals) @:-i: (Gonds)

(C) & (Bhils) (D) W2 (Tharus)

QURAL AL UL %L WL 5y AU 212U ellsuS 2L Aldsl 67 uldad (S0 41d & ?
(A) YRR 21 ARvi3 (B) BIRVS A HEIR

(C) saf2s A ddousu @R 213 witma

vigsi (A9 A A4 sy [Qeun / su Qs a8 ?

1. w35l M Ad AR aolui adllgd sl 2ud 8 - U5 vissl, sNgd wsl A1 [Agd vissi.

2. 2n5d vissl A Aol il Yol ugieiuisl a-dlyd a9,

3. addluell, uad, 6125 2»aa @ayledl veedl yedll 2wl u FHLad vigs 3untd O d [Aga wss 8.
4. 2024 A 3uidRd Yl u2ar 8 A sy 2 3uidlRd Adl-l vear 8.

(A)1,2,3 1 4 @1, 214

(C) 1A 2, 3 1A 4 (D) HA 1,2 24 3

A Y

anl@yu 1 auiesian- &ol 3 D W4 s usi- auell calBisdiil € ?

(A) Aas-ly (Conventional) .QLé,cl &Y (Orographic)
(C) A5ald (Cyclonic) (D) ArdlA (Thermal)

siedl-l vllar .......... a3 »uddl ¢9.

(A) YlRuiord uld I 24 HIALIR Yddmon (B) 3152 Udd A QgL UddHIoL
@ D2uivra udamion 214 R udason (D) GuRisd W4 25 w4l

[Buseu auRd-Al DA WA 56 A€l Aledl W2l aeuga [@QciR (basin area) 41d € ?

(A) and) (B) 5143 @2 (D) ML

QURAML B1Y) AL (Summer Monsoon)il Ag-t-ll mi=d [2en 1A U 56 glu 6 ?
(A) el ol Grr (B) el2a ulZam 9] el yd

@: a1 ulaa o) Gz yd (D) GuRisd WL 25 ua AR
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057.

058.

059.

060.

061.

062.

063.

The constitute the largest tribal group of India and spread over a vast territory from
Madhya Pradesh to Karnataka and from Gujarat to West Bengal.

(A) Santhals .Gonds

(C) Bhils (D) Tharus

Which among the following Indian states account for more than 67 percent of country’s resources
of Bauxite?

(A) Odisha and Jharkhand (B) Jharkhand and Maharashtra

(C) Karnataka and Telangana .Odisha and Andhra Pradesh

Which of the following statements is/are correct regarding rocks?

(1) Rocks are commonly divided into three major classes - igneous rocks, sedimentary rocks,
metamorphic rocks

(2) Igneous rocks solidified from molten material called magma

(3) Metamorphic rocks are those that are deposited and lithified at the Earth’s surface, with the
assistance of running water, wind, ice, or living organisms

(4) Marble is metamorphosed limestone, quartzite is metamorphosed sandstone
(A)1,2,3 and 4 .1, 2 and 4 only
(©)2,3 and 4 (D) 1,2 and 3 only

The rain-fed and rain-shadow areas are the characteristics of which type of the following rainfall?
(A) Conventional .Orographic
(C) Cyclonic (D) Thermal

The Valley of Kashmir lies between

(A) Pir Panjal range and Dhauladhar range
(B) Zanskar mountain and Ladakh range
.Pir Panjal range and the Himadri range
(D) None of the above

Which one of the following rivers of the Peninsular India has the largest basin area?
(A) Tapi (B) Cauvery

.Mahanadi (D) Narmada

Which of the following is the general direction of flow of summer monsoon in India?

(A) From South to North (B) From South West and South East
.From South West to North East (D) None of the above
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064.

06S.

066.

067.

068.

069.

QLEL-T A AEL-TT 0 AL

AE)-T (2Ll A% Gofl Hasl) AEL-TT (Bl USIR)

a. 318U (i) UMY

b. Gar1Q (Utran) (i) 20 [Agga

¢. SLSRAUR (i) SlaA

d. arusoiisl (iv) A&

@- - Gi), b - (iv), ¢ - (), d - Gii) (B) a - (i), b - (ii), ¢ - (iii), d - (iv)
(C) a - (iii), b - (i), ¢ - (iv), d - (ii) (D) a - (iv), b - (iii), ¢ - (i), d - (ii)

el [Agl i U4 sy (a7 sun Qs wea 9 ?

1. MRl Mot (sl uiglds kAl R curusla oaul wllsd 5390 asw O - The Austric, The
Dravidians, The Sino-Tibetian 2A- The Indo-Aryan

2. glaa curardl el ¢[as oga-l cumil €
3. Austric 20l L 519405, R 214 ar1dl-l wda 2 8.

(A) 1,241 3 (B) Wit 1 ¢4 3
(C) WA 2 247 3 @172
Al Ul 5y [Qanqt ueu el ?

(A) RS Rl 21 d-l wglds ausani o0 Avdlu Genrt 2An a-u29a AU AU AAHL AL W €9
(B) [Qa- Alefl Hi2r M2l /g Fad e 3 wwald AU sidua e 4 AABls [Ra e 9

(C) Grwvis-u usicie AU Geunni sidud aig 21 A0S il A 1ol

@)Guisa d s ua iR

AL U4 sul uddane 24 (uRd, Al 24 RuUAHIRAL “Tri-junction” 23 €9 ?

(A) ~ugal (B) @dlal

(C) elmdlan @:\:

cuRcrll AL QAL sUL [ARaR Rl Gaug W2 uvAid an ¢ ?
@ cu2anil auisii g (B) A2
(C)ud &2 (D) e &st

AR {30 Al AL U suL A AL AHRUAL AHARU0 A1) 41691 Sl 69 ?

(A) yedl @
(C) Han (D) YA
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064.

065.

066.

067.

068.

069.

Match List-I with List-11

List-I (Power plants of Gujarat State) List-IT (Type of Power)

a. Kadana (i) Nuclear

b. Utran (ii) Hydroelectric

c¢. Kakrapara (iii) Coal

d. Wankabori (iv) Gas

.a - (ii), b - (iv), ¢ - (i), d - (iii) (B) a - (i), b - (ii), c - (iii), d - (iv)
(C) a - (iii), b - (i), ¢ - (iv), d - (ii) (D) a - (iv), b - (iii), ¢ - (i), d - (ii)

Which of the following statements is/are correct regarding Languages?

(1) India’s rich linguistic culture heritage may be grouped into four linguistic families i.e.
the Austric, the Dravidians, the Sino-Tibetian and the Indo-Aryan

(2) The languages of South India belong to the Dravidian family
(3) The languages of Austric family include Kashmiri, Sindhi, Gujarati
(A)1,2and 3 (B) 1 and 3 only
(C) 2 and 3 only .1 and 2 only

Which of the following statements is/are INCORRECT?
(A) Asian Lion in its natural habitat found in Gir National Park and Wildlife Sanctuary, Gujarat

(B) The largest tidal mangrove forest in the world, the Sundarbans is home to the famous Royal
Bengal Tiger

(C) Jim Corbett National Park, Uttarakhand hosts Bengal Tiger and the Asiatic Elephant.
.None of the above

Which of the following Mountain passes forms the “Tri-junction” of India, China and Myanmar?
(A) Nathu La (B) Jele La
(C) Bomdi La .Diphu

Among the following which part of India has prominent place in production of ‘Ragi’ ?
.Rain shadow zone of India (B) Saurashtra
(C) Eastern ghats (D) Malwa region

Which of the following planets of solar system has least orbital period?
(A) Earth .Mercury
(C) Mars (D) Uranus
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070.

071.

072.

073.

074.

07s.

Madeudly {d 214 Alas Ad HRdaul Al 4d- (Youngest) %l 2a3u .......... £,
(A) [Rruaa- uddamuon (B) gvuig1L cla-il Gaussl

@G den (D) BuRisd Wl 25 uaL 4l

MRAHE Guat sRoiHlu R dlen aci-l cialBisail A A4 ¢S ¢ ?
@- oui ruvu (canopy) Ligradla Fodl 8.

(B) [Ralld BgHi gl dxri wall wRdl 4w ¢,

(C) (A) a2 (B) b

(D) (A) dal (B) 6id U4l 2is gL <l

A2l W4 5y [Aanq / sun Q- uea 9 ?

(A) AU Gellrl dell AR HUMARRAHL 1R AL, 21l 2 SHIRAL st 2s[Ad a1 QIR Rl
uglrizl [RA=18 2gA1R HIL AU 20d 6.

@120 Geurt 24 wuat 215 onld i 1l udg uRRRARAY daau e W Duifld s3a slu 8.
(C) (A) dal (B) tid

(D) (A) d2l (B) 6id U4l 2is L <l

U] swA-l vidl [Qa DA W4 sy [/ s Qe a9 ?

1. d widls Bgul Gadl GuasCoifla ws 8.

2. yauiord) (flowering) doissiHi d=l 24269 2512l 3<luld Siu 6.

3. swi A 510l ol duoy siusll ordlami Goudl asi 6.

(A) WA 1 (B) HIAL 2 ¥4 3 (C) WA 1241 3 @223
Aifuu-t [Ansrlat (extraction) Hi DAL WA ¢S vidflop-il GuaioL aS a3 € ?

1. Monazite 2. Allanite 3. Zircon

(A) 1A 1 211 2 (B) WA 2 ¢4 3 (C) 1A 131 3 @223
2011l ardloidadl stgAaR 2144Rd alddl (Scheduled Caste) Al [Ag 1A WS sy [Qn / su
[Qtu-l aca 69 ?

(A) Al g[22 Alell ay SC -l azdl oneni .

@sT el el ay ulsid wra @osiHH A wa 8.

(C) (A) d (B) b

(D) (A) d2l (B) 6id U4l 2is gL <l
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070.

071.

072.

073.

074.

07s.

Geologically and geographically the youngest land form in India is
(A) The Himalayan Mountains (B) The Deccan Lava Plateau
.The Northern plains (D) None of the above

Which of the following are the characteristic features of tropical Evergreen Forests in India?
.They are multi-layered forests with dense canopy.

(B) Trees shed their leaves during specific season.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements is/are correct?

(A) Activities such as grazing, collection of food and timber, etc. are allowed in a regulated manner
in national parks and wildlife sanctuaries.

.A national park is demarcated for the conservation of an ecosystem and not just a single
species.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements is/are correct with regard to cotton cultivation in India?
(1) It is a tropical crop grown in the Kharif season.

(2) It requires clear sky during the flowering stage.

(3) Cotton can be grown in black soil as well as alluvial soil.

(A) 1 only (B) 2 and 3 only (C) 1 and 3 only @:.22ana3

Which of the following minerals can be used for extracting Thorium?

(1) Monazite

(2) Allanite

(3) Zircon

(A) 1 and 2 only (B) 2 and 3 only (C) 1 and 3 only .1, 2 and 3
Which of the following statements is/are correct regarding Scheduled Caste population according
to 2011 census?

(A) The maximum SC population by number is in Punjab.

.The maximum ST population by percentage is found in Mizoram.

(C) Both (A) and (B)

(D) Neither (A) nor (B)
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076. Wlci-ll Qlod5lu o330utdid Yl 5241 ISRO gRlL D21 Wl su drag g el vinasin saumi 2uasl ?

A) [AlRun (B) 202U+
@ un (D) N
077. M-816U YA Berof 1 Halld a1 HiSd UaH AHAL DA USL 53 & ?
(A) Al AHAA (B) Hirdlua uizisia (gl [RQrer)
@00 G (el Rrak) (D) 21+ ulRue
078. ‘Dobson’ ¥ .......... Ul HIYA W2 QURAAL A5 69,
(A) uYs deusa-l G
[ ZIREETESERIRK

(C) B3at [l Glans (Height of an airborne platform)
(D) yedl-iL AialRs cudtdl s

079. uHgl AURAHL AHIRL A WL FUGER WRoI DA WS s e ?
1. suflean,
2. dRRUIE
3. dldlarelg Gl ot i el ua-il
4. 2L Rl s
(A) WA 2 249 4 @123
(C)WA 1,224 3 (D)1,2,3 %1 4

080. swA wddR Ad) 5100l FHIAHE sUL dvell AU WA & ?

1. Elight 2. Kaolinite 3. Chlorite 4. Montmorillonite
(A) WA 1244 3 (B) HI5L 2 11 3
(C) WA 3 @ 4

081. MURAHL XM (Jhum) UddR (A2l DA WS 53 [ a8 ?
1. dd AddR HYEIL dUAHHL AU B,
2. dA “Slash and Burn’ d$-$ d3l3 2u0maQiai 2ud 6.
3. AUl SNGUAL AL ANTHL vdH A 3L,
(A) W3 2 ¢4 3 (B) HIA 1 241 2
(C) A 1241 3 @223
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076. Which of the following elements will be mined by ISRO from the moon to meet its energy needs?
(A) Lithium (B) Argon

.Helium (D) Neon

077. Which one of the following is the first convention to limit the emission of greenhouse gases?
(A) Rio-Summit (B) Montreal Protocol

.Kyoto Protocol (D) Toronto Conference

078. ‘Dobson’ is an Unit used for the measurement of
(A) Depth of the ocean basins .Thickness of Ozone layer

(C) Height of an airborne platform (D) Thickness of the Earth interior

079. Which of the following factors are responsible for increase of salinity of the Ocean?
(1) Evaporation
(2) Precipitation
(3) Atmospheric high pressure and stable winds
(4) Influx of river water
(A) 2 and 4 only .1 and 3 only

(C) 1,2 and 3 only D) 1,2,3 and 4

080. Which of the following elements are found in the cotton growing black soil?

1. Elight 2. Kaolinite 3. Chlorite 4. Montmorillonite
(A) 1 and 3 only (B) 2 and 3 only
(C) 3 only @ ony

081. Which of the following statements are correct regarding Jhum cultivation in India?
(1) It is largely practised in Assam
(2) It is referred to as “Slash and Burn” technique
(3) In it, the fertility will be exhausted in a few years
(A) 2 and 3 only (B) 1 and 2 only

(C) 1 and 3 only @:.2:2na3
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082.

083.

084.

08s.

20910 Al Ul (Propulsion) W12 GUAIHI AL 2Uddl Ramjet i Scramjet A=y a4 g
astad ¢ ?

(A) Ramjet [ ram air -l GualoL 52 & FUR Scramjet iRyt 2oL Gualol 53 €9,
.Ramjet [l €81 subsonic AU A 8 FUIR Scramjet [P Hi €811 supersonic H3U A1 €9,

(C) Ramjet A[Z1i si3lu41 GualoL gl S[E9d 33U ASIAL s W2 AU & B Scramjet A[=By-2ll
[Qudla 6.

(D) Scramjet [Pl 33U quRal W2 26UiS--dl Guuldl A 8 w2 Ramjet [Fui 519
26U S+ Al

2ugalAs Sl (A DA W4 sy [ v 44l ?

(A) 20dls Sl Bsudl SREa @zl d uwa Uel 53 a5 9.

(B) H™L AU HUAIAL DAdA UR B AU AsAAL

(C) d % d uea-it WRRA[A [AsunHi v12idaq Ut sau-dl uRL asudl 4R1d 8.

@Guzisa WA 2sua 14

D WA 5y [Atun / s [Qsnqil a9 ?

1. agall Cryogenic Upper Stage A GSLV ¢ 2 2+ Qjﬁldl gRUAR Guas- wauRd AU 0{'1[01!; .
2. eld GSLV 2 vield-l PSLV $2ai 1ie9l Glus 4214 69,

3. udly 4an vidRa 5%, SHAR vudll #isL PSLV o uaiuwl 531 a5 ¢,

(A)1,2 1 3 @122

(C) WA 2 21 3 (D) s 1 244 3

Panchi (A2l {121 W4 53 [t / sun Qs aea 9 ?

-\

1. Panchi % u3u1dld G318l 21 Gdut-l &Ml Al Nishant (MAURL 20HRd y8ics UAV)
(Launcher based tactical UAV)"ﬁ Y5 USIR 69,

2.4 daylight camera, infrared camera d2l laser designator gl payload:i ANIAR 53 69,
3. d wtd 2uyAs weudlal 421d © o ada-u, Ny, qsd 2 AW S AIUHIRL Rl 12 uaH .
@223 (B) Hi1A 2 211 3

(C) WA 121 3 (D) {1 1 241 2
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083.

084.

08s.

What is the difference between Ramjet and Scramjet engines used for propulsion?
(A) Ramjet engines use ram air while scramjet engines use oxygen
.In ramjet engines combustion is at subsonic speeds while in scramjet it is at supersonic speeds

(C) In ramjet engines compressors are used to compress the air to desired speed unlike in scramjet

engines

(D) In scramjet engines turbines are used for increasing speed, while there are no turbines in
ramjet engines

Which one of the following is INCORRECT about the genetic engineering?

(A) Genetic engineering can produce organism with desired features quickly

(B) Possibility of toxicity of an organism to humans or other organisms

(C) It would also have the possibility of causing an imbalance in the ecology of a region

.None of the above

Which of the following statements is/are correct?

(1) GSLYV with indigenous Cryogenic Upper Stage has enabled the launching up to 2 tonne class of

communication satellites.
(2) Latest GSLYV is lesser height than latest PSLV
(3) Only PSLVs can be launched from the Satish Dhawan Space Centre, SHAR.
(A)1,2 and 3 @1 and 2 ony

(C) 2 and 3 only (D) 1 and 3 only

Which of the following statements is/are correct regarding Panchi?

(1) Panchi is a variant of Nishant (launcher based tactical UAV) with capability of conventional

take-off and landing.
(2) It carries payloads like daylight camera, infrared camera and laser designator.

(3) It has state of art systems, capable of surveillance, reconnaissance, target location detection

and artillery fire correction.
@:.2:ana3 (B) 2 and 3 only

(C) 1 and 3 only (D) 1 and 2 only

[BCH-1] rro. B3
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086.

087.

088.

089.

090.

a5 (Infrared) 241 2244 (Visible) GuAs 96l .......... AR I KRS
@200 04 247 Gl sdl sl Qe

(B) ¢l 244 o5 gVl Q23 aslad 155l saul Lld

(C) gt 6l (Cloud seeding) H12 U1y AVl vl Lld

(D) “Aal”’ 4 “ogrl” AUgull a2 dslad A8l sai-l <l

A1 U4 5 ulEa usiaisduami 1l © ?

(A) it AR Bl (Free energy)-il [Raie w2 (Rala Gl H5d ALY 6.

.Oitl*l A8 Gl (Free energy) [RulaBloui 3uidld 2 € i AAS1u 9.

(C) $10i S1ASASS 4 Wl Ysel s W2 vlAs 2U5AS RS 2 B,

(D) 2U5A1% g AHL 204 £ 2, $16{ SSRGS dar Well-l sy si812 Asincuni »ud 69,

-

e WAL 55 ulsamBuiz yedl ag GuR stoirasHi seisRLsAS 31T GHRA 53 © ?
Loyl Bur 2. aaaulBa 3. usierisduauza 4. sieils ueal-u [@Qaeqsd ulza
(A) H1A 1 1A 4 (B)HA 1,241 3

@ 1,274 (D) 1,2,3 1 4

DA WA sy (s / su Qi a9 ?

1. YRaoUrL WMRAGUA AL $s1amidl siddl [Qaun oras a8,
2. urawon A eRus vursdsll wellil 6.

3. udn A dudl (g2 8l daunnid) uidiil 2o 2 69,

(A) 1A 14 3 (B) WA 2 441 3

(C) WA 1 247 2 @223

ot ALY 2 NS AU WIS HI2L WARUIYU 6. L AeMHHL DA UL 5y [t / s Qe a9 ?
(A) Wt wellmi ay HEAHD sAIA 2 elaHi UL UeL 52 69,

(B) Mlaw-it wiellHi ues-ll ay wonedl w3 313l goly 2ud €.

@) = ) vin

(D) (A) d2l (B) 6id U4l 2is gL <l
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089.

090.

Infrared and visible satellite images might provide

.A way of determining cloud thickness and altitude
(B) A way of distinguishing between wet and dry clouds.
(C) A way of identifying clouds suitable for cloud seeding.

(D) A way of distinguishing between “new” and “old” clouds.

Which one of the following process involves in photosynthesis?
(A) Potential energy is released to form free energy.

.Free energy is converted into potential energy and stored.
(C) Food is oxidised to release carbon dioxide and water.

(D) Oxygen is taken in, and carbon dioxide and water vapour are given out.

Which of the following adds/add carbon dioxide to the carbon cycle on the planet Earth?
(1) Volcanic action (2) Respiration (3) Photosynthesis  (4) Decay of organic matter
(A) 1 and 4 only (B) 1, 2 and 3 only

@:.2and 4 only (D) 1,2,3 and 4

Which of the following statements is/are correct?

(1) Coral reef is a large underwater structure composed of the skeletons of corals.
(2) Corals are marine invertebrate animals.

(3) Corals receive their colouration from algae living within them.

(A) 1 and 3 only (B) 2 and 3 only

(C) 1 and 2 only @:.2:2na3

Water contaminants are a major threat to public health. Which of the following statement/s is/are
correct in this context?

(A) Excess of fluorine in drinking water causes tooth decay.

(B) Excessive sulphur in drinking water has a smell of rotten egg.

@soth (A) and (B)

(D) Neither (A) nor (B)

[BCH-1] [PT.O.
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091.

092.

093.

094.

MR ‘U215 5 vid-iL Aaia’ euoid DA WA 5y [ / sa Qs a6 ?

1. e[Bw1 oioi-ll 6154 €12) [AHSa sUMT U d-L AL AR uSal % 1989 Hi MR 19 52 Aol a3
SAUUL 21y,

2. 9l 21 Larsemann Hills vitd [Rad ai®i s122d Wd 2U 8.
3. auRdl 2428 5% i Schirmacher Oasis vild [R4d €.

(A)1,2 243 (B) H1AA 2 244 3
@1 (D) WA 1241 3

-

AL WS UL SARA 21 8L 522 AlS RqaHi 2ud 9 ?
1. AW (HMH - Fly ash)
2. 5125U-DWH

-

3. Ellgy-ﬁ wlusl (Steel slags)

4. Qlviz~ Ellg-g;'l\l wiusl (Iron slags)

(A) H1A 1 4 2 (B) Wit 1 ¢4+ 4

(C) WA 2, 3 21 4 @234

sl 8491 als Gualol 521 Blod Hast 611 UeL A ‘Av (MM - Fly ash)- Ae¢Hi 4lA-1 W 53
(e / s [Qtudi aca 9 ?

1. AL (M2H - Fly ash)ril GualdL 24 HstriAL el siH {12 qudl $2i1 Geugui 4 as 6,

2. sisle-l S2dls uigdrs Aflu-2 mall-u secumi A (MU - Fly ash) Ayl asiy 6.

3. AW (M - Fly ash) 31 Wiot A1l siq siisued s 244 seellum s 3+ otdell € 214 d 516 3 geul
guadl 4.

@123 (B) Hi1A 2 211 3

(C) WaL 1 21 3 (D) 1A 1 244 2

2u4[A5 Ay [Agga Hasii stad HAML Avdl usaL ARl ¢4t (pulverized) 531 -wvicuHi »ud . A
U4 56 ouotd 21 oflell a5t scudll (pulverization) Addl SIAELE ?

@ iczu-u e @aning awl 53 8.

(B) d siazu 11 Beut adl uui a2isi 52 6.

(C) d aw [Agd nasdl wiell-l 38Ut Yddau 52 8.

(D) BuRisd U4 2isual 4l
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092.

093.

094.

Which of the following statements is/are correct regarding India ‘research at Antarctic?

(1) India’s second base, Maitri, was opened in 1989, shortly before Dakshin Gangotri was buried

in ice and abandoned
(2) Maitri is a year-round station, located in the Larsemann Hills
(3) Research station Bharati located in the Schirmacher Oasis

(A)1,2and 3 (B) 2 and 3 only

.1 only (D) 1 and 3 only

Which of the following wastes are considered as solid wastes?
(1) Fly ash
(2) Phosphor-gypsum

(3) Steel slags

(4) Iron slags
(A) 1 and 2 only (B) 1 and 4 only
(C) 2,3 and 4 only @:.2.32and4

With reference to ‘fly ash’ produced by the power plants using coal as fuel, which of the following

statement/s is/are correct?
(1) Fly ash can be used in the production of bricks for constructing buildings.
(2) Fly ash can be used as a replacement for some of the Portland cement contents of concrete.

(3) Fly ash is made up of silicon dioxide and calcium oxide only, and does not contain any toxic

elements.
@1 2nd 2 onty (B) 2 and 3 only
(C) 1 and 3 only (D)1,2and3

In modern thermal power plants, coal is pulverized before it is put into the furnace. Which one of

the following is the advantage of Pulverization?

.It enhances the burning properties of coal.

(B) It reduces the ash generated by coal.

(C) It minimizes the water requirements of thermal power plant.

(D) None of the above

[BCH-1] rro. B



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


095. ¢913HI yNA8S (Xylem) i ......... A uRag W2 SUALIR 69,
1. wiell 2.l WM drll 3. s16iH srisS3
(A) WA 1 @122
(C) HA 2 1 3 (D) 1,241 3

096. w1y [Avig-dl ulEan s umgy Aas-l uldu 58 dd s1ueiss € ?

(A) ¥ A €0 118 uRHY A6l ulsu 24 uaHug, [Auis-l ulEul s vior 1L wensi Glod yil
ws 69,

(B) U1y, [Avis ulsuni Geut adl Auiviséla uguaiit [Asiadl ua auz 9. 2uusiRg Qaizisdla
UENEL 3 uRHIY, sl lEumi Geu—t ag 1l

@) 2 ) vin
(D) (A) a2l (B) tid WSl s uat Al

097. 51015 2U[Fui Gualomi Al 2idadl Propellant .......... q1d 69,
(A) S8R a3 8 S 1% 247 25RAT AR 1S Ul 2isAl oyt
@52 a3 nadl eiSgior 217 2isNNSHR a3 nadl s
(C) St a3 Ul i giorm wiA ASRAG AR A3 ur 2sflo

(D) S8 a3 @ 1531 2= 2U5RAANTBR A3 @ visAlo

098. gy F[as S4v (Microbial fuel) Add 2516 Glogi-l 23lid dl3 2 W2 dwRiHi 2ud € ?
1. Al 52415 YR (substrates)Hid dlosefl Bt s W2 GElus a5 uaylR-l Guulal 52 ¢,
2. Al [Afay 2510([A ugial-l YR (substrates) dls Gualol 53 €.
3. d dlel uiell-t & s vzl wiell gea s 29 dlog Geunet sra 2alid 53 as .
(A) 1A 1 244 2 (B) H1A 2 211 3

@113 (D) 1,21 3

099. AuR-U [AHi (Al DA U s [Asen / [Aseal nea e ?
(A) Lasers 4 [RuleL g 212 dadl weamadl a8 as 8 ug ay azusidl a8 asg .

(B) 542 2301 Hienuniell Sas2iqq angl 5304 Grrs dls s1d 53 © A il G+ $3 © % ay
BDd B g 51281 611 8.

(C) (A) A (B) i+
@ 1) 2u (B) 6id WA 205 w4
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09s.

096.

097.

098.

099.

The xylem in the plants is responsible for the transportation of

(1) Water (2) Soil nutrients (3) Carbon dioxide
(A) 1 only .1 and 2 only
(C) 2 and 3 only D)1,2and3

What are the advantages of nuclear fusion over nuclear fission?

(A) Nuclear fusion can provide far more energy as compared to nuclear fission with the same
amount of mass.

(B) The radioactive pollution generated in nuclear fission is harmful for living organisms.
There is also problem in disposal of such radioactive pollution. Such radioactive pollution is

not generated in nuclear fusion reaction.

@sBoih () and (B)
(D) Neither (A) nor (B)

The propellant used in cryogenic engines consists of

(A) Solid hydrogen as fuel and liquid oxygen as oxidizer.
.Liquid hydrogen as fuel and liquid oxygen as oxidizer.
(C) Liquid hydrogen as fuel and solid oxygen as oxidizer.

(D) Solid hydrogen as fuel and solid oxygen as oxidizer.

Why Microbial fuel cells are considered as a source of sustainable energy?

(1) They use living organisms as catalysts to generate electricity from certain substrates.

(2) They use a variety of inorganic materials as substrates.

(3) They can be installed in waste water treatment plants to cleanse water and produce electricity.
(A) 1 and 2 only (B) 2 and 3 only

@1 203001y (D) 1,2 and 3

Which of the following statements is/are correct regarding construction of lasers?
(A) Lasers can be made from a solid or a liquid medium and not from a gaseous medium.

(B) A flash tube acts as a stimulator by absorbing electrons from the medium and emitting photons

that further cause stimulated emissions.
(C) Both (A) and (B)
@ cither (A) nor (B)
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100.

101.

102.

103.

104.

10s.

106.

Bluetooth Hi .......... asLEl-L GualoL 2 €9,
(A) Gaussian Minimum Shift Keying

(B) 8 Phase Shift Keying

.Frequency Hopping Spread Spectrum
(D) Binary Phase Shift Keying

D WA 56 su-dl 2 Al () cudla Sudl © B ABdHUL 100 21019 Y2, AR e Hil Aswl
(Market Capitalization) 34l ugia{l ¢ ?

@nfosys (B) Zomato (C) IRCTC (D) Tata Power

QA UL 56 Sudl 212 Gl AL A GuRd- AL van 220 [AsAld Naval Anti Drone System Uit
501 HI2 SAIER Ul 8 ?

(A) Nav Robons .Bharat Electricals Limited

(C) Hindustan Drones (D) Gu~u WSl 215 uw (8.

2301 A s 2 National Nutrition Week (A1 WML Atdlg) 2021 d5 HAAUH 20,
21 n6adlal Yoo [Q21R (Theme) .......... Sl

(A) Smart Nutrition Smart Nation

(B) Feed the Nutrition Food for Everyone
.Feeding Smart Right from the Start
(D) Feeding Nutrition is Feeding the Nation

International Labour Organzation (MidQthé\l?‘l HR A L World Social Protection Report

2020-22 AFAR, AR .......... AlsL AW S5 YRa1 4Rl -l

(A) 1 Billion (B) 2.3 Billion @-.1 Biltion (D) 5 Billion
Qeqertaq Avannarleq ¥ dl%dHi AHIAR €d 4 .......... 2]

(A) Advanced Humanoid Robot .Northernmost Island of Greenland
(C) Advanced Super Speed Computer (D) New Asteroid

A UL £y [Qanqy/san [l 2 (i_d AR 51+ iRaster [A2 a0 8 ?

1. d 1ol Y&, 1ol 215341d 24 Hl aeiddl Wl o) au-l wiese o,

2. d ~12L &5l BuR B 3dld 53 69, AlgHrl rcmdl, aldellaal [Asdum 2 Hel Aamdl $51:2542
3. A 21353 g1t AL wddl2 Ui s2d HHELAE vid BEauL ST 20 .

(A) 1,241 3 (B) Wit 1 241 3

(C) WA 2 241 3 @172
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100.

101.

102.

103.

104.

105.

106.

The technology used in Bluetooth is:
(A) Gaussian minimum shift keying (B) 8 phase shift keying

.F requency hopping spread spectrum (D) Binary phase shift keying

Which of the following 4t Indian company to reach 100 billion US dollar market capitalization

recently?
.Infosys (B) Zomato
(CO) IRCTC (D) Tata Power

With which of the following companies Indian Navy has signed to procure India’s first indigenously

developed Naval anti Drone System?
(A) Nav Robons .Bharat Electricals Limited

(C) Hindusthan Drones (D) None of the above

First week of September is observed as the National Nutrition Week 2021, the theme of this week

was
(A) Smart Nutrition Smart Nation (B) Feed the Nutritious food for everyone
.Feeding Smart right from the start (D) Feeding Nutrition is Feeding the Nation

According to International Labour Organization’s report World Social Protection Report 2020-

2022, approximately number of people don’t have social security
(A) 1 Billion (B) 2.3 Billion
@1 Billion (D) 5 Billion

Qeqertaq Avannarleq is in news recently, this is the
(A) Advanced Humanoid Robot .Northernmost Island of Greenland

(C) Advanced Super speed Computer (D) New Asteroid

Which of the following statements is/are correct regarding iRaster of Government of India?
(1) It is a two-year project for road safety-reduce road accidents and road safety

(2) It focuses on three areas: Vehicle Safety, Mobility Analysis and Road Safety Infrastructure
(3) The Pilot Project was inaugurated by Nitin Ghadkari in Ahmedabad

(A)1,2and 3 (B) 1 and 3 only

(C) 2 and 3 only @1 2nd 2 only
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107.

108.

109.

110.

111.

112.

113.

[A#16l5 L Groundswell Part-II: Acting on Internal Climate Migration 21312 2025 Y4 ...........
alsi 2aunid-l Raldui sl

(A) 100 Nelux @216 :04un

(C) 350 Hlellun (D) 4 ellellun

RURA MRAUBL 534 UAH A2Ad2 wi vHRdly Budd il (Tracking) 81 ............ .
(A) INS Neel (B) INS Veeru

@:~s phruy (D) INS Arivansh

MR AR SVAMITVA Al [RdA% H12 SVAMITVA app 23 531 69, 2L 4l f q&......... 8.

@:ua R (B) 23 Auiss28L (Urban Amalgamation)
(C) a=a g, sla (D) MSME 342
Al ldl 2uA100 (NITI Aayog) ‘Shoonya’ll A3%Ud 581 8, d ........... 6.

(A) 82 AR [ el el
(B) UHLBHL UAHRL L 28 d Wil ela

@:. vena Saadl (Zero Pollution Delivery) aus-l H2 6ol

(D) Bu-L Y4l i uL 1l

AL ARHI 2AULAHL Aal 21l WAl Fumio Kishida i .......... A% SU ua-L 6.
(A) National Freedom Party .Liberal Democratic Party
(C) Liberal Republican Party (D) Guz-u U 245w AR,

«dl Hypersonic Missile, Hwasong-s'j, ABARML ......... glL uZlaRL saui Q»tlc?;l;
A) sl siku B) Bdlws=

@G siku (D) 2wt

MRdlY 2edl ditn vidl Hiaaes (Long Haul Freight) 2 [l 1A W4 sy [Qaqysu [l
AU ?

1. Gucla 2edut AL A avid (e 1 ed (SCR)HL 6L Long Haul Freight ¢l (Aga’ »id 138’ 4
ASNAL Y A4 54,

2. (g4 24 SCR +l A% Hidaus s 24 HaAld 177 WAL S 36U (Wagons) Q1] WA Qiol vidl 21 8.
3. SCR 2 M1Rdld J¢cAU] YU uia HId Aigs 3¢d (Freight Loading Railways)Hi-l s 6.

(A) {1 1 241 2 (B) WA 2 ¢4 3

(C) WA 1241 3 @223
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107.

108.

109.

110.

111.

112.

113.

According to the World Bank’s Groundswell Part-II: Acting on Internal Climate Migration,

approximately number of people into migration by 2050.
(A) 100 million @:16 mittion
(C) 350 million (D) 4 billion

India has launched its first Satellite and Nuclear Missile tracking ship

(A) INS Neel (B) INS Veeru

.INS Dhruv (D) INS Arivansh

Government of India has launched SVAMITVA app to monitor SVAMITVA scheme, this scheme
aimed at

.Rural Development (B) Urban Amalgamation

(C) Forest products marketing (D) MSME marketing

Recently NITI Aayog has launched “Shoonya”, it is a
(A) Campaign for Door to Door Education
(B) Campaign for Zero hunger in the society

.Campaign for Zero pollution delivery vehicles

(D) None of the above

Recently elected new Prime Minister of Japan Fumio Kishida belongs to political party.
(A) National Freedom Party .Liberal Democratic Party

(C) Liberal Republican Party (D) None of the above

The New hypersonic Missile Hwasong-8 was recently testfired by

(A) South Korea (B) Philippines

.North Korea (D) Japan

Which of the following statements is/are correct regarding Long Haul freight trains by
Indian Railways?

(1) Indian Railways has successfully operated two long haul freight trains “Trishul” and “Garuda”
for the first time over South Central Railway (SCR).

(2) Trishul is SCR’s first long haul comprising three freight trains, i.e., 177 wagons
(3) SCR is one of the five major freight loading railways on Indian Railways

(A) 1 and 2 only (B) 2 and 3 only

(C) 1 and 3 only @:.2:2na3
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114, 22 $=fl- [adldell 5@ (Disinvestment) (A2l A2l WAL 53 [Qau-/sun [Qan-il e € ?

1. 2R Sl W2 Hasl AU YU LA ddl (Enterprise Value Consideration) INR 18000 5313 %1
[z viiell (Winning Bid) 9.
2. UHAU AL [3A12 2021 Yl YRl s 2uadl.

3. u51R-1 2uHd [BHd 15000 5213 edl.

@172 (B) WA 2 1. 3
(C) A 121 3 (D) 1,241 3
115, MRd AR ... o, ) 000l s1isHAL Ysriddl ulsa (Mascot) d<ls -uarel sy,
(A) 1L s @-v=u 2
(C) 5151 s7L (D) Uil H2dRdd

116. AlBdUL GI 291 Mt 534 Gewig -l outotd Al WS 56 oAdl uloy dd il 97
1. viflonor Sl - HeRIg
2. A3L5AH Alvil (Wada Kolam Rice) - W24 sioun
3. 231UR WY, (Edayur Chilli) - 50
4. [AA12 Al (Chinnor Rice) - H&L B
(A)1,2,3 %1 4 (B) {1 2, 3 211 4

(C)HA 1,2 11 4 @ 1,304

117. MRd AZd™L 2 9l 9 2152161 ERUA 2021 a1 Atdls-l Gorarll 530 21 xsal3al Yo [QuR

.Forests and Livelihoods: Sustaining People and Planet
(B) Forests: Livelihood of People and Animals
(C) Forests: Sustainable Livelihood as a whole

(D) Sustainability, Livelihood, People, Animals, Birds- Forests

118. [d2 cawiR qaeq Alus cawr ulRauw 210uél (Global Trade Volume Forecast) .......... %4l atld
.......... % 53,
(A) 6,8 @s. 10
(C) 4.8,9.6 (D) 9,13.1
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114.

115.

116.

117.

118.

Which of the following statements is/are correct regarding disinvestment in Air India?
(1) The winning bid is for INR18,000 crore as enterprise value consideration for Air India.
(2) The entire transaction will be completed by December 2021

(3) The reserve price of the government was INR 15,000 crores

.1 and 2 only (B) 2 and 3 only

(O) 1 and 3 only (D)1,2and 3

Government of India has unveiled as the mascot for the Namami Gange Programme.
(A) Mama Mishra @ chacha Chaudnary

(C) Kaka Kannaiah (D) Nana Natwarlal

Which of the following pairs is/are correct regarding the products which received the GI tag

recently?

(1) Alibaug Onion — Maharashtra

(2) Wada Kolam Rice — West Bengal

(3) Edayur Chilli — Kerala

(4) Chinnor Rice — Madhya Pradesh

(A)1,2,3 and 4 (B) 2,3 and 4 only

(C) 1,2 and 4 only .1, 3 and 4 only

Recently India has observed 2021 wildlife week from 2nd to 9t October, the theme of this week is

.Forests and Livelihoods: Sustaining People and Planet
(B) Forests: Livelihood of People and Animals
(C) Forests: Sustainable Livelihood as a whole

(D) Sustainability, Livelihood, People, Animals, Birds- Forests

World Trade Oragnization has raised Global Trade volume forecast from % to %.
(A) 6,8 @s. 10
(C)4.8,9.6 D)9, 13.1

[BCH-1] [PT.O.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


119.

120.

121.

122.

123.

Al ARHL “RTS, S/ASO1” AHARHL €4, d .......... 3%
(A) d 2 MR2ui COVID -t [Agi Wl RTPCR 42 8.
@) nan AdRwA 20 8.

(C) HIV/AIDS Il wa[&s e 69,

(D) Bu-iL U4 s ua (.

AlF Ml AR uHIY, AGMAHIL Al UAH Qv Hypersonic [Rudasd usndiyds udaa sy,
20 [Radag H .......... 8.

(A) Rusosswq (B) Mascos
(C) Ardon .Zircon

oue 28l 512 100 A1 UA sy [Aa/fA-l aca 9 ?

1. 16 il au o2 Yl cunsid dn-i e 2 [Asuaami 1 2ud Al Y4l COVID-19 - Audl 2@
2uan Wil L UldsiRsdl -l 52 8.

2. outn 28U Sl2 A qal, Diediy, BEHY, dy 241 Yol sranidl sr-uda 0u 6.
3. 2 412 Ui Annu Oil, [RAVALE] A1 3L URL AHIA Y 8.
4. 3 512 AIIMSUL 4sui2Efl DRDO girl [Asaiaani 2udl ¢9.

(A)1,2,324 @123
(C) {1 2, 3 1A 4 (D) {1 1 21 3
AP ARHL AYsd A2 Wi 2A[BSR WRHEL ........... AR wdBis 218512 adls ud AH[Add Haewr 5y

(A) COVID-19 12 [R:ges 0150
(B) [R:g1¢5 2 Adly %15 A1RAUR
@29, 22 211 2416 vaiaa
(D) UL U4l i uaL 8.

PM MITRA ui$ (42 l2-u W4 5y [Qen-y/sa [l aea 9 ?

1. PM MITRA i Textile Ul$ 9.

2. PM MITRA A MSME uRR2[d4l d=t (Ecosystem) €.

3. 2 us1R-L WSl S Ad A 2021-22-1 t1g2Hi sl 2ud).

4. PM MITRA- 23%1d A PM Higl-u 5F geellal (Vision) Udld €.
(A)1,2,3 21 4 (B) WA 2, 3 21 4
(C) A 1241 3 @134
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119.

120.

121.

122.

123.

“RTS, S/AS01” was in news recently, this is a

(A) RTPCR kit to diagnose COVID in 2 mins

.World’s first Malaria Vaccine

(C) Initial medicine for HIV/AIDS

(D) None of the above

Recently Russia has successfully test-fired Hypersonic missile from a nuclear submarine for the
first time, the name of the missile is

(A) Rusosswq (B) Mascos

(C) Ardon .Zircon

Which of the following statements is/are correct regarding Bal Raksha Kit?

(1) This is an immunity boosting kit to protect the children up to the age of 16 from Covid-19
infection till the time a vaccine is developed for them.

(2) Bal Raksha kit contains a syrup made up of basil, giloy, liquorice, cinnamon and dry grapes.
(3) The kit also comprises Annu oil, Sitopaladi and Chyawanprash.
(4) This kit is developed by DRDO in collaboration with AIIMS.

(A)1,2,3 and 4 @:.2:and30nly
(C) 2,3 and 4 only (D) 1 and 3 only
Recently, The United Nations Human Rights Council has unanimously voted for the asa

universal right.

(A) Free Vaccination for COVID-19

(B) Free and Satisfactory Treatment

.Clean, Healthy and Sustainable Environment
(D) None of the above

Which of the following statements is/are correct regarding PM MITRA parks?
(1) PM MITRA is a textile park

(2) PM MITRA is a MSME eco systems

(3) The announcement of such parks was made in the budget 2021-2022

(4) PM MITRA initiative is motivated by PM Modi’s 5F vision

(A)1,2,3 and 4 (B) 2, 3 and 4 only

(C) 1 and 3 only @ .3 and 4 only
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124. 5% UR12 2eld~ Heli Borne survey 25Ul -l 232Ud 531 8. U 25UAD A .......... q udaa sa
Gualowi A 9.
.ij’lG-{ %YL YA (Groundwater management)
(B) UldR1Mi Ulsg 23U (Crop Pattern in Fields)
© ASEL BUR ol 2\13'0['{1 P (Land Mines Identification at Borders)

D) (Alas Aeraini ant U081 (Forest Cover in Various States)

125. Q{gfsd AL [Asia siisy (United Nations Development Programme) Multidimensional Poverty

Index 2021 (61 WRAlA Aol yasis 2021) AU AHFAUIR HIRAHI .......... dlst eig uRwelly
alellui 6.

(A) 181 Hl[&un (B) 281 Hl[Aun

@51 Nn (D) 481 {&-

126. National Legal Services Authority (NALSA) [l -l2-1 U4l ED) [eun / sa Qe aca 69 ?

(A) The National Legal Services Authority (NALSA) il 2-il R Legal Services Authorities Act,
1987 iddld sHi 2udl .

(B) NALSA -l ¥ 8d, 1 A HE 010U a0l A [R:ghes 24 uaH s1ag1la At Yl wiganil 8.
@) = ®) vin
(D) (A) 212 (B) »is w8

127. cRdlu o 5la uRudlni 5 244 AUl 424 Al ad2ll ([@el DA WA sy Qe / s Qs a8 ?
@2 (215 20w dnor AR [Qual-l s10aell Hi ue 2 Ao RIS ST ARUAL £ MoK S,
(B) 022l 246 [Ba Aol 41ld (A S¢ 51271 s1SURL s1R16NL S1aL AU U511 AL A3 6.
(C) (A) dal (B) tid
(D) (A) 212 (B) is UL U8

128. Inter State Council (2id221%% U[RUE) 1 Zonal Councils (804 uRue) suotani DA U4 sy

(@ / s Qi acu e ?

(A) 21 i Al i oinelld A 69 % AU A2 dHY AAUL 214 36 A2 AAUBdiA UiRus
YA U 6,

@i vianru WRNE vz la B puR Asild AU Yoarlul sugaR Ad a-a
RNl a6 ©.

(C) (A) a2 (B) b
(D) (A) 22 (B) is w8
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124.

125.

126.

127.

128.

Central Government has launched state-of-the-art Heli-Borne survey technology, this technology
is used to survey the

.Groundwater management (B) Crop pattern in the fields

(C) Land mines identification at borders (D) Forest cover in various states

According to Multidimensional Poverty Index 2021 report by United Nations Development

Programme, number of Indian people in Multi Dimension Poverty.
(A) 181 million (B) 281 million
@31 miltion (D) 481 million

Which of the following statements is/are correct regarding National Legal Services Authority
(NALSA)?

(A) The National Legal Services Authority (NALSA) has been constituted under the Legal Services
Authorities Act, 1987.

(B) The principal objective of NALSA is to provide free and competent legal services to the weaker
sections of the society

@soth (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements is/are correct regarding the power sharing between Centre and
States in the Indian Political system?

.Parliament enjoys superiority over the state legislature in terms of territorial extent as well as
distribution of legislative subjects.

(B) The President may entrust to a state government any of the executive functions of the Central
Government without the consent of the concerned state.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements is/are correct regarding Inter State Council and Zonal Councils?

(A) Both of these bodies are constitutional bodies created for promoting harmony among the
states and between the States and the Union.

.The Inter State Council is chaired by the Prime Minister while the Zonal Councils are chaired
by the Chief Ministers of the concerned states on rotation basis.

(C) Both (A) and (B)
(D) Neither (A) nor (B)
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129.

130.

131.

132.

133.

solld2 ARl 214 Aty afldxil [ Dl U sy [ a8 ?
(A) it o142 ARlAA 2aa A1 AR[A2AL Bedw sl 2uda ),

(B) amim Augla a2 siudl 2R qd 9 puR sollde alldail aed (Adhoc) HiREL Nuaini
204 69,

(C) (A) a2 (B) b
@ 1) »1aa (B) s ua AR

RuRAHl Qs adatdirit 85 [Agl DA WAL sy [anq / s [l aea e ?

(A) siSunt Aalds uzenmi lis Y-l 2udl asidl 9.

@ 15ua AlBan SiSua aaiu uR W 52 Ysad W2 sowdt 530 ws AR,

(C) (A) AL (B) i+

(D) (A) 212 (B) »is 4L [

A{ARAY U1Y VELA (International Court of Justice) (ICJT) (A2 -1 WA sy (A / sun (sl
AL ?

1. ICJ ysd 02+ [Qgwul8s1R (Charter) 4l 2 »udl 8.

2. ICJ sl (22l) 24 AlZdii-l 212201 201 sl 530 us 6.

3. ICJU [Aely % 12 signsdl 6.

(A) 1,241 3 (B) WA 2 ¢4 3
@113 (D) A 1 %41 2
“AUMEILS SLEL UE .......... glRL AR spu 2udd 69,

(A) tltRRl

(B) due (O]Qﬂl?‘lsrll v2sUd - Prevention of disqualification) BRI
(C) UARA HELA AL YSIEL
@)Guz-uiQ 2 un Al

51 uHE AYRA Al a5 YRR s 12 wa dld .......... HIUES HUlaHi 2ud 6.
(A) iRl sau (Article) 366 Hi 534 AU 501

(B) vituRel-l $aH (Article) 342 Ui 534 U520

@) o (B) vin

(D) bitRRIMI 518 e 3udvi 2uud .
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129.

130.

131.

132.

133.

Which of the following statements is/are correct regarding Cabinet Committees and Parliamentary
Committees?

(A) There is no mention of either Cabinet Committees or Parliamentary Committees in the
Constitution.

(B) All the Parliamentary Committees exist permanently while the Cabinet Committees are
constituted on ad hoc basis.

(C) Both (A) and (B)
@ cither (A) nor (B)

Which of the following statements is/are correct regarding right to freedom of religion in India?
(A) Religious instructions cannot be provided in any educational institution.

.No person can be compelled to pay taxes for the promotion of any religion.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following statements is/are correct regarding International Court of Justice (ICJ)?
(1) The ICJ was established by the Charter of the United Nations.

(2) The ICJ can deal with applications from the States (countries) individuals and NGOs.

(3) The decision of the ICJ is binding on the State parties.

(A)1,2and 3 (B) 2 and 3 only

@1 2nd 3 onty (D) 1 and 2 only

Term “Office of Profit” has been defined by .
(A) Constitution

(B) Parliament (Prevention of disqualification) Act.
(C) Judgment of the Supreme Court

.None of the above

The criteria generally adopted for specifications of a community as a Scheduled Tribe is
(A) Spelt out in the Article 366 of the Constitution.

(B) Spelt out in the Article 342 of the Constitution

@soth (A) and (B)

(D) No definition in the Constitution

[BCH-1] rro. B3



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


134.

135.

136.

137.

QA Q4 56 sl 2U[A512 (Citizen’s Charter)N cllBisaizil €9 ?

1. Citizen’s Charter $14€L4l 2414 (Court of Law)Hi &3] 53] as14 9.

2. ¥l Citizen’s Charter <) $2-ll 8¢ M8 A JRiatL JeRaA HIE 6.

3. Citizen’s Charter Hi $3l18 [Rcne utald 214 d 59 dd Guaot 2 a3 d-l [@ordl idl AS2A.
4. W2l (Citizens) AL AL 51 (Clients) [Agi-] (A2l

(A) A 121 3 B)WA 1,241 3

@ 2,324 (D) 1,2,3 %44

URARE 3 Y R gondl (e DA WA sy (A Dad-u W4 sy [Aanq / sun Qe wea 9 ?

1. sitnRedl sau 366 (25) Hddld 234Rd g-oald ue crvlRid s2ami 2uda 9.

2. NAH Ul 2l AeuEdL sas? 530 edl.

3. 694 gyl uH, Aenaa, By 2 Roiu-u 2ulenld a-aui i et yRld s2a 6

4. 233Rq goldd AU 20101 (National Commission for Scheduled Tribes) 2009 i RUUUHL
2y 6.

@ 1,223 (B) WAL 2, 3 241 4

(C) 1A 1 211 2 (D) 1,2,3 21 4

ol ulfail (@9l DA U4 5 oAdl2il dlou d Al =l ?
(A) RuHl (rules) A - agd wM@la

@R (ethics) ulld - 20 ufla

(C) aq A 512 Ald - 0l alala

(D) 28R BusH ulAld - 2enl ulala

MRAlA AR st [Agl DA WA 5y Qe / sa (Al aca 69 ?

(A) 26 g2 1950 UL A% 18l d uel, ud 16l gens 1987 usal HiRdHl w-Hell culdd A dn-
Hidl-Rrdl dladid 2uqmi dla [ og-uedl cud-l AeiEls ©.

(B) 1l gensS 1987 ~UL 1o 18U d uesl, uig 3% [3a12 2004 usai cudani F-HAl AlBdr Hidl-[dy
A d ABdrAl %H AHA HIRAL URURS Sladl d ulEd g1l tud-l s 6.

@) < B) vin
(D) (A) 212 (B) »is w8
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134.

135.

136.

137.

Which of the following are the characteristics of Citizen’s charter?
(1) The Citizen’s charter are enforceable in court of law

(2) The exercise to issue the Citizen’s charter of an organisation is to improve the quality of public

services.
(3) The Citizen charter should have details of Grievance Redress Mechanism and how to access it
(4) Details of ‘Citizens’ or ‘Clients’
(A) 1 and 3 only (B) 1, 2 and 3 only

@:. 3 and 4 only (D)1,2,3 and 4

Which of the following statements is/are correct regarding Scheduled Tribes in India?
(1) The term Scheduled Tribes is defined in the Constitution under Article 366 (25)
(2) The first Backward Classes Commission was headed by Kalelkar

(3) The Sixth Schedule identified autonomous districts in the tribal areas in Assam, Meghalaya,

Tripura and Mizoram
(4) National Commission for Scheduled Tribes was set up in 2009
.1, 2 and 3 only (B) 2, 3 and 4 only

(C) 1 and 2 only D)1,2,3 and 4

Which of the following pairs is INCORRECTLY matched regarding Cabinet committees?
(A) Rules Committee-Ad hoc Committee

.Committee on Ethics-Standing committee

(C) Business Advisory Committee-Standing Committee

(D) Public Undertakings Committee-Standing Committee

Which of the following statements is/are correct regarding the Indian Citizenship?

(A) A person born in India on or after 26th January 1950 but before 1st July, 1987 is citizen of

India by birth irrespective of the nationality of his parents.

(B) A person born in India on or after 1st July, 1987 but before 3rd December, 2004 is considered

citizen of India by birth if both of his parents is a citizen of India at the time of his birth.

@sBoth (A) and (B)
(D) Neither (A) nor (B)
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138.

139.

140.

141.

A1 U 5y [Qenq / s Q- aca 69 ?

1. ARdani dlsaudl weudl 21 0dBis ysa valBsi Rieaid u >uaRa 6.

2. 18 uiefl Ay BHR 21242 Hed A1A SIOURL AUOURS % UBH AELAA 61 ASR SAHL L Ul SIU dl
2ellHi Haglr 530 A5 .

3. HalAs12 2 sidua suld, uaveiy, 4d 3 ondl (gender) A @aui ddt -l

4. % dlsid AlssAU S1UEIRL Ul HI €A SaUHL 21l 9 2 Fa-dl U 2uUH] 20d & d2il Hd
20l 2set -l

@234 (B) WAL 1,2 241 3
(C) 11 2, 3 1A 4 (D) {1 1, 3 1A 4

AR [S101 A (AN NAn WA sy (At / s [l wea 9 ?

1. ulAla- ugrl Aue- oiq sinidl Slu 8.

2. d- 2% (214 uamidl o Slal AS2A dd duls 21[80i4n (Obligation) 8.

3. d GURd U1 A& AcuAiA @dtdl [ARui [Buei-l duia 2 6.

4. d AUl S AL AUSHI Y 52 8.

(A) WAL 1 244 2 (B) HiAA 2, 3 A 4

@ 12113 (D) A1, 2 41 3

Yl 2% Al AiAd s2u1d 211 [(E9S Sl (A9l AL WS 55 A [ o dlaa aiou fd
Al €9 ?

1. Q295 - uHuU- -1

2. 539U - dHIH 2 UARALL 218 SLEIHIE uRle 26l

3. A[RE95 - YUl -uLusla Al HogR sdl

@213 (B) HIA 1 21 3 (C) 11 3 (D) 1,294 3

MIRA U512 ALR[AUH 1919 (Government of India Act 1919) (A2l {121 U 5y (A A ell ?

1. el Wil uR 5l (R sng ay

2. 511605l URUE (executive councils) Hi WAH Avid GURAIAL 018+ (Association) Y WSAUHI 20,
3. 2L AL uAH avid [garsae v ucig Y2ell erma saumi 2udl

4. Al Ama Y[R, vidla Al 2104 auadl yllui agaami 2udl

(A) WAL 1 244 3 @224

(C) WA 1 241 2 (D) 1,2,3 21 4
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138.

139.

140.

141.

Which of the following statements is/are correct?
(1) The democratic system in India is based on the principle of universal adult suffrage.

(2) Any citizen over the age of 18 years with unsound mind can vote in an election unless declared
by a competent court.

(3) The right to vote is irrespective of caste, creed, religion or gender.

(4) Those who are convicted of certain criminal offences and imprisoned are not allowed to vote.
.1, 2,3 and 4 (B) 1, 2 and 3 only

(C) 2,3 and 4 only (D) 1, 3 and 4 only

Which of the following statements is/are correct regarding Public Accounts Committee?
(1) Members of the Committee coming from both the Houses of Parliament.
(2) It’s a statutory obligation to select the Chairman from Opposition only.

(3) It examines the Appropriation Accounts relating to the Defence Services of Government
of India.

(4) It submits its reports to Parliament.

(A) 1 and 2 only (B) 2, 3 and 4 only

@1 2nd 3 onty (D) 1,2 and 3 only

Which of the following pairs is/are correctly matched regarding the compulsory and voluntary
provisions related to Panchayati Raj Institutions?

(1) Voluntary — Organization of Gram Sabha

(2) Compulsory — Indirect elections to the post of Chairperson of Panchayats at all level

(3) Voluntary — Granting financial powers to the Panchayats

.2 and 3 only (B) 1 and 3 only

(C) 3 only (D)1,2and 3

Which of the following statements is INCORRECT regarding Government of India Act 1919?
(1) It relaxed the Central control over the provinces.

(2) Provided for the first time association of Indians in the executive councils.

(3) First time introduction of bicameralism and direct elections in the country.

(4) Divided the powers into federal list, provincial list and concurrent list.

(A) 1 and 3 only @: 2nd 4 oniy

(C) 1 and 2 only D) 1,2,3 and 4
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142, s1a-ll uRRAMHI 207, A2u 214 Anadl Y2 suotd DA W4 sy [Qaq v 4l ?
(A) o YRAMI 61 [Quai-l Axide i 9.
@i w97 (vl usda a 8.
(C) uHadl »[ 52 [Auai-l oiAd) €.

(D) 214Ul (Originally) AHadl gl 47 [Aual s

143. A58 Hsvllal 24 cudly iR sa1L cual qHfae ¢ ?
@0 1xB (B) 1oL X

(C) *udL XI (D) QU2 XV

144. DA YA s qRAUH 3 21 w251 (Units) a2l A A8 320, vidla 420l 201 auadl g2l

[Qeued sul ?
(A) Indian Independence Act, 1947 (B) Government of India Act, 1919
(C) Indian Councils Act, 1909 .Government of India Act, 1935

145. DAL U4 56 ouotdl 24 A2 A1 HAGUESIRUL A2 2 ¢ ?
1. MURel ARSIR 24 25 21l Ay AU AL [Aaue
2. AAUE-L SSURL 318 Haal A% DAL el 200 [dae
3. IR U512 211 Srs2fAd uea a-n [Qae
4.61 5 ddll ay AUl a2 [Qae
(A) " 1, 3 ¥4 4 (B) WAt 2, 3 ¥ 4

@ 1274 (D) 1,2,3 %4 4

146. -uRi [A8u5 (Money Bill) (A2l N2l WA 5y (At A Al ?
@ v [Q8us 2 curd-u 2usas eisiomidl -uai-u QR0 08 60iRd 8.

(B) %A [Q8us Hi SiSuRL 42 clgal, ULE 52, HIS 5L, $$IR 5L 2L 52 et Rana-l o

-

89 Al d -ueu [A8us ddls i 2uasl.

(C) i [Q8us 2 uRd-L 2s[Ad GiSIN A URAAL 2UsRUS /isinril [EH&Q (Custody) HiSH)
RS A 9

(D) -l [A8Us 2 (A A1 I1RL LU Bedll A iac SiHUR eliuld) (Guarantee) Buuci-l [Ruu-
12 AoBd €
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142.

143.

144.

145.

146.

Currently, which one of the following statements concerning the three Lists — Union, State and

Concurrent — is not correct?

(A) State List comprises 61 Subjects
.Union list contains 97 Subjects.

(C) Concurrent list consists of 52 Subjects

(D) Originally Concurrent list contained 47 Subjects

Cooperative Societies are covered in which part of the Indian Constitution?

@r:arc1x8 (B) Part X

(C) Part XI (D) Part XV

Which of the following Act divided the powers between the Centre and units into Federal List,
Provincial List and Concurrent List?

(A) Indian Independence Act, 1947 (B) Government of India Act, 1919

(C) Indian Councils Act, 1909 .Government of India Act, 1935

Which of the following are included in the original jurisdiction of the Supreme Court?

(1) A dispute between Government of India and one or more States

(2) A dispute regarding elections to either House of Parliament or that of Legislature of a State
(3) A dispute between the Government of India and a Union Territory

(4) A dispute between two or more States

(A) 1, 3 and 4 only (B) 2,3 and 4 only

@1 2nd 4 onty (D) 1,2,3,and 4

Which of the following statements is/are INCORRECT regarding Money Bill?

.A Money Bill is concerned with the appropriation of money out of the Contingency Fund of

India.

(B) A Bill shall be deemed to be a Money Bill if it contains only provisions relating to imposition,

abolition, remission, alteration or regulation of any tax.

(C) A Money Bill has provisions for the custody of the Consolidated Fund of India or the
Contingency Fund of India.

(D) A Money Bill deals with the regulation of borrowing of money or giving of any guarantee by

Government of India.
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147.

148.

149.

150.

151.

The International North South Corridor (INSTC) i .......... Gl $AUHL 2UdA He -l udd 69,

(A) *uRd, Al 241 A2 - Ul ASAPRIA AL A, W DAL AL A8 AUS QiR Wl
@iz, 22 219 S - ulag usUlor qRal 21 wea AR 22l WA AUS ara w2

(C) AURd, S 2 AS UL - ULl AU At 24 Hed A 220 18 AUS At W2

(D) A, WUlZcirt 241 S - Ul AS AR a1l A, Wed DAL 2L 8 AUS QiR Wl

A

RURAL o{81RaL] M DA Yool Sqati-l Amida 52 ©.

1. Ald 5 gl eianel d-l AaEs W 52 9 d sald ©

2. d A (stands apart) Q © i Uil d AOAUHT 0dA 8 d BAld £Ald &
3. o{t1eL % 8d, L 2AMd 52a1 241 WeAlBd s ML &9 d weud 8

4. d ol sl 2182 e asia A wd ©

(A)1,2,3 31 4 B)WA 1,231 3

(C)HA 1,2 2 4 @ 1,324

RURAAL s{eR8LL 2l (A9 A2 U4 58 % dl aiou d Al el ?
(A) 28R Adl UAIRL - MU A1 2A[A[RAH 1935

(B) 5 1% (Single) WUR s - [Bdla vitue

(C) ~ulas ulan - A1°[R s viw

@::2152 und ey ssiql 2aBidd - 32 vinra

A2 WA s (52040 Whip (€357 2U820) Al 2AHA Ydl Al ?
(A) 51U EuilR (B) AlsAMLAL el 22ull

(C) 2AlA2n Udial @-2ufa 22

RURAHL 2% 23] SlAsiRs 2t Agedul DAnnidl 5O Al widl ¢ ?

(A) [A= 31 Al - 28 slasiHl AR 2ias el sai-l qasais

(B) Hl 611364 et (AL - HEAH, SEAL, Ul 2 $212 Lol Uil 2UUALAL URdld
(C) %L W%l - HiSAUL] AU UR UHRA Sl

@ iz dioru - cud Geloll 1A Budllopi-u 3 23U U (R ysul
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147.

148.

149.

150.

151.

(A) India, China and Russia to promote transportation cooperation and to enhance connectivity

The International North South Corridor (INSTC) is an important initiative taken by

with Central Asian countries.

.India, Russia and Iran to promote transportation cooperation and to enhance connectivity
with Central Asian countries.

(C) India, Iran and Afghanistan to promote transportation cooperation and to enhance connectivity
with Central Asian countries.

(D) China, Pakistan and Iran to promote transportation cooperation and to enhance connectivity
with Central Asian countries.

The Preamble of the Indian Constitution serves the below purposes

(1) Indicate the source from which the Constitution derives its authority

(2) It stands apart and indicates the source from where it is derived

(3) States the object which the Constitution seeks to establish and promote

(4) It aids legal interpretation of the Constitution

(A)1,2,3 and 4 (B) 1, 2 and 3 only

(C) 1,2 and 4 only .1, 3 and 4 only

Which one of the following pairs is INCORRECTLY matched regarding the sources of the Indian

Constitution?

(A) Public Service Commission — Government of India Act, 1935

(B) Single Citizenship — British Constitution

(C) Judicial Review — American Constitution

.Suspension of Fundamental Rights during Emergency — French Constitution

In which of the following cases the whip cannot be exercised?

(A) Cut motion (B) Election of Speaker in Lok Sabha

(C) No confidence Motion .Presidential Election

Which one of the following is a wrong match with respect to the historical debates about planning
in India?

(A) Visvesvaraya Plan — targeted to double the national income in one decade

(B) The Bombay Plan — proposed to promote the medium-scale, small-scale and cottage industries
(C) The People’s Plan — was based on Marxist socialism

.The Sarvodaya Plan — emphasized on heavy industries and centralized form of planning
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152. DA-uHiell 53 PM 2Uld alsd e W qae -l ?
(A) 4 cleilas R weudl (GIS) U 2uaRd Wesid 8 % 2t iy 2Rs &t A3l

(B) U 2y Wesid cursiaal daqa SlReeye sz W v[@saq s @3-51HRsA (BISAG)
R [Asuaami 2ue ©.

@ 202425 Y oy Gewret s gl s @z A B.
(D) Al 8q, A HIIAL YL 4G $52[A2NA) [Aet12 S0 €9,
153. 19910 20l 52158 AnA AidRAEY w8l ¢8I0 (IMF) g1R1 dit 20udl auid DAl 56 245 2:d
sl 2udl ¢dl ?
(A) 3R 30 251 Aay A 529
@ w2504 virlui aalils 10 2500 B218L S04 2048
(C) HSTH AL ¥ 51d (peak import duty) 30 251 At 130 251 54l

(D) 2513 A S1dHi 20 25140 B213l $ql.

154. W 65 Al DA-uniell s uRad-s13 5251211 51280 NITI Aayog Al 22l 32 udl ?
1. ¢l 2 A SEHE BRUH QHIRL.
2. A% Aulad alea ulsa.
3. Rl x1eddaag AluseL

4. AuRdld ardlq 96

@ 1213 (B) WA 1 2 4
(C) A2 M1 3 (D) WA 2 211 4
155. on8R &l sisi-u [Adlls@ql &g DA ......... (R dxm 6.
@iz Aciui S 2anfla s2ql. (B) $€[ARe12-1 cledl Aenaal.
(C) Al Yamami YaRl s:al. (D) Hiet AR[As [ 2uadl dql.

156. - [Qau-id 2nAHi al:
(At : 1. cuRd-w 5[ & 2020-21 eFaq RUR cud 3.4% 9 Aladl.
(-t = 2. 2019-20 W2 adHi ¢ il §4 Heualfd (GVA)UL 5 27 Ao At (3241 17.8% 6.
(At : 3. 2019-20 Wi HeuU Gelldl AA HIRAAL AU FH YRUUL 2.5% ARLELL 20y ©.
(A) =81 [Qtunl w2l 69 (B) =8l [Qau-l 2 ¢

@ 2B uazvig® (D) 1944 3 1218 ugL 2 vig &
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(A) It is a platform based on geographic information system (GIS) that will connect all economic
zones in the country

152. Which one of the following is not a feature of PM Gati Shakti Master Plan?

(B) This entire platform has been developed by the Bhaskaracharya National Institute for Space
Applications and Geoinformatics (BISAG)

.It aims to double power generation capacity by 2024-25
(D) It aims at extending 4G connectivity to all villages
153. Which one of the following was a condition put forth by the International Monetary Fund (IMF)
while giving loan at the time of 1991 economic crisis?
(A) Devaluation of the rupee by 30%
.All government expenditure to be cut down by 10% annually

(C) Increase in the peak import duty from 30% to 130%
(D) Decrease in excise duties by 20%
154. Which of the following transformatory changes over the past 65 years necessitated the formation
of NITI Aayog?
(I) Tremendous increase in the size of Indian economy
(IT) State-driven growth process
(III) Globalization of Indian economy
(IV) Ageing of India’s population

Select the correct code from the alternatives given below:

.(I) & (IID) B) (D) & (V) (C) dI) & (IID) D) dI) & (IV)
155. Amalgamation of the public sector banks aims at all of the following except

.Monopolizing the banking sector (B) Gaining economies of scale

(C) Improving access to capital (D) Covering larger geographical area

156. Consider the following statements:

Statement I: India’s agricultural sector recorded a growth of 3.4% at constant prices during
2020-21

Statement II: The share of agriculture and allied sectors in Gross Value Added (GVA) of the
country at current prices is 17.8% for 2019-20

Statement I11: In 2019-20 fisheries sector contributed 2.5% of India’s national Gross Value Added
Which of the following options is correct with respect to the above statements?
(A) All the three statements are incorrect (B) All the three statements are correct

.(I) & (II) are correct but (III) is incorrect (D) (I) & (III) are correct but (II) is incorrect
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157.

158.

159.

160.

161.

DAHil 5y (At cudni dla Geloy e Aeilfd wiig ¢ ?

(A) Al AR+ 321 Hyol CTERE TR KRS TR (insurance penetration rate) Alus 2 scL 2 8.
(B) Algd-l 321 Yoot Mic-ll Lt artdl A s aefl 2416 €9,

@ A neua [@2al ydRisw (FDI) A waiel 2021-22 Hi Q@A 75% sa4i 2udl.

(D) drtd -tcll [gafly cars-l W2 i aui-il 48 Wil ful slal sR@ud 6.

D2Aunioll 53 4dlsd vy (monetized deficit) 2% Ld cvalid 52 6 ?
(A) 2UdRs aoigilzin sue sl sy vy,

@5 5002 vus-l cuoL 3 RBI gIRLAR$127 2] 204 8.

(C) A$1R- $4 2Uas 21 §@ WA A3 dslad

(D) a5+ Ul 2098 21 Y WA 423 dslad

MRAL 28R gal (gl DNa-umiddl sy [Qsq vig & ?

(A) 5% 12 el e A ol div 4 A5 O ug AU UL A Al gl o Al
ad a3 9.

(B) 2019-20 ¥i MR eg - ) oRilnR 2UAR 74% <.
(C) 201041 U512 23223 321l v Addl Yl
@25 32 Aoz 22l (PDMA) 21 2015-16 2 514 s A3 54

-

AAHidl 53 Al 2ailis Ala 1991 L [Aenaitia s d cavald s2 6 ?
1. Gellollg 2uR&eL € 429

2. Galdiui udtl ugld 2¢ s2dl

3. MRTP HAUlEIHi a1l

4. dinA ARHI 3uldRd sau-l 59 e

@224 (B) 1,21 3

(C)2,3 41 4 (D) 1444 2

2UAHAHR G1RA 2A[HALAU HRLZU 2020 ) 1512 1L DA su1 v Aani uea e ?

(A) 02HRs 32 S [35+u HydsuRomi (A2l neua ydisa (FDI) Hulel i 74% sAHi
2.

(B) sl U+l a3 2isiEsR g sul

A O

(C) PPP Hi3 €611 MR dHIM Ui+ 8
@) 17 B) vid
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157.

158.

159.

160.

161.

Which one the following statements is INCORRECT related to insurance industry in India?
(A) As per the latest data, India’s insurance penetration rate is lower than the global rate
(B) As per the latest data, India’s insurance density is much lower than China’s

.The permissible limit of the Foreign Direct Investment (FDI) in insurance sector was increased
to 75% in 2021-22

(D) It is mandatory for all new two-wheelers to have a five-year third party insurance

Which one of the following best defines monetized deficit?

(A) the fiscal deficit excluding the interest liabilities

.the part of the fiscal deficit which is provided by the RBI to the government
(C) difference between government’s total receipts and total expenditure

(D) difference between government’s revenue receipts and capital expenditure

Which one of the following statements about India’s public debt is INCORRECT?

(A) The Central Government can borrow inside and outside the country but State Governments
can borrow only from within the country

(B) India’s debt-to-GDP ratio in 2019-20 was approximately 74%
(C) In 2010, Government articulated the concept of adjusted debt
@rubiic Debt Management Agency (PDMA) started functioning from 2015-16

Which of the following best defines the features of New Industrial Policy, 1991?
(I) Dereservation of the industries

(IT) De-licensing of the industries

(ITI) Increase in the MRTP limit

(IV) Abolition of compulsion to convert loans into shares

Select the correct code from below given options:

@ 0. & av) (B) (1), (II) & (1)

(©) (m, (1) & (IV) (D) () & (IT)

As a part of Aatmanirbharbharat Abhiyan, which of the following measures have been taken by
the Government since 2020?

(A) FDI limit in defence manufacturing under automatic route raised to 74%
(B) Government monopoly on coal removed

(C) All airports of India auctioned under PPP mode
@soth (A) and (B)
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162, $51225U2-1 [A51440 ARSI AD AU $UL HSTAAL USSIRUAL 14l 2l udl 8L €9 ?
1. Wi seui [Aciet % ildu wAui atl 53 9.
2. ¥l Awe i [aciol
3. ‘edln sld-uglle’ s2isél
4. 814U PPP HIS¢AHI oo il
(A) 142 (B) 2, 3 ¥ 4

@234 (D) 3 21 4

163. NAunidfl s34 HIRARL GST  qza -l
(A) 3452 UM g1 GST Ay sl Ml saumi 2udl gdl.
@GSt rum azgil v awy wa ©
(C) GST @wd) Acit 51381 AU Hias-l st HI2 AU Ui” Qi |12 and: Hasgl

(D) GST 860 A% & A1d 52 AHU[AR €9,

164. Merchandise Exports from India Scheme (MEIS)1 242l 2021 4l .......... gl slgami 2udl €9,
(A) Bewg A8 A31AA Ui (PLI) Al
(B) Adl0la visuuiza sin Sz 244 (SEIS)
@021 vils A 23 2520 2l AAsAUIS Wss2U (RODTEP)

e

(D) 133 visAuidu 244 (DES)
165. ARA) 193612 2020-21 £ R ulls Ada 2021 oL tuRd-L [0l dwr-w Ageiui DA-umidl sy
(At 22y 69 ?
(A) A *Rag Al {Wig s oo ol g 8.
(B) USA GURd- Alel 1ich 2uatd Ald 69,
(C) i Aldll ay 2nudl azg o1l 284 9.
@127 UsA 208 Al ag 2750 AuiR digad g,
166. AU 61%2 2021-22 Yoot U1 vl 2iely s2dl (3l [Asiuasl naizi we nu e ?

[ B2 (B) 29%
(C) 75% (D) 40%
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162.

163.

164.

165.

166.

Which are the important challenges being faced by the government recently in developing

infrastructure?

(I) Project delays which increase final cost

(IT) Delays in land acquisition

(III) Twin balance sheet crisis

(IV) Weaknesses in the existing PPP models

A) (M) & (1) (B) (), (IT) & (IV)
.(I), D, (III) & (IV) (D) dID) & (IV)

Which one of the following is not a feature of GST in India?
(A) Introduction of GST was recommended by the Kelkar Committee
.GST applies to all goods

(C) States will get compensation for five years for the loss of revenue due to the implementation
of GST

(D) A total of nine state taxes are subsumed under GST

The MEIS (Merchandise Exports from India Scheme) has been replaced by with effect
from January 2021.

(A) Production-Linked Incentive (PLI) Scheme

(B) Services Exports from India Scheme (SEIS)

.Remission of Duties and Taxes on Exported Products (RoDTEP)

(D) Deemed Exports Scheme (DES)

Which one of the following statements is true with respect to India’s foreign trade as per the
Economic Survey 2020-21 during April-November 2020-21 ?

(A) China has become India’s largest export market

(B) USA is India’s largest import source

(C) Gold continues to be the highest imported commodity

.India had the most favourable trade balance with the USA

According to Gujarat Budget 2021-22, what proportion of government’s expenditure (approximate)
goes for developmental activities?

[ B2 (B) 29%

(C) 75% (D) 40%
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167. 9sud- 2t [Aa DA-uniddl sy [ vig o ?
(A) 2019-20 €A1 924l 9.3% L GDP gl Aiud
(B) 2221l GDP Hi AR5 &l sl Alell ay 6.
@i wandls 2uas suisl 2Rz orid wiawmi 54 6.
(D) 2017-18 Hi 16.63% disi AZ1ofl Jvu {12 2odl 280 Sal.

168. yuud-ll yau anadort dio- Qe Na-umioll sy [ g © ?
1. d-ll 232U 2016 Wi suui >ud) gdl.
2. d M@y Qe e [Qendlzid by vee Yl wsag qau v 8.
3. Ul 860 HogR Al 54 Al As3 als [QAalRd sami »ud €.
(A) 12412 (B) 14 3 (C)HA 3 @1

169. 113 2udd 56 5 NAHi 9or2Ad ARSI 21U HHAA HUAAL WIS A1 AU N8R 53 8l ?
(A) ) 2Aeifis A, 1991 @ b AR, 2015
(C) 2212244 9)os21d H\ld, 2019 (D) R_1EEy/S-iduq ld, 2020

170. DA 200 130 Guaiol 5304 1 241 2 0L 4=l 48 ke

1 2

1. ol yaadly uio- a. I yollu srdsu

2. viadl Yol aleu b. U2 Gellall 27 Yol arg il
3. Al daarla dio-i c. Adlell gaal

4. 94 quarlu Ao d. HNMd YT A

@ -v2-23-d4-¢ B)1-2a,2-b,3-d,4-¢
(C)1-2,2-b,3-¢,4-d (D)1-d,2-¢,3-b,4-2

-

171, DA 200 130 Guaiol 5304 1 241 2 0L 1=l 248l ke

1 2

1. MaH UGl YRl a. 52 YHRA

2. ol2o Ul YRl b. ALH G2 YHIRIAL

3. Ao Udl-uL il c. §51HAA 25UAID HAH MIRA
4. 214l 44l Yl d. daadl 21 A1l (PRIS)
(A)1-2,2-b,3-¢,4-d @:-22-03-d4-c
(C)1-d,2-¢,3-b,4-a D)1-d,2-¢,3-2,4-b
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167.

168.

169.

170.

171.

Which one of the following statements about Gujarat’s economy is INCORRECT?
(A) During 2019-20, Gujarat recorded GDP growth of 9.3%

(B) Industrial sector contributes the maximum to Gujarat’s GDP

.Gujarat is ranked fifth in terms of per capita income rank within India

(D) In 2017-18, 16.63% people lived below poverty line

Which of the following statements about Mukhyamantri Yuva Swavlamban Yojana is true?
(I) It was started in 2016
(II) It aims at providing monetary help for secondary education

(IIT) The amount sanctioned under the scheme is disbursed as cash to the beneficiary
A) M) & (D B) () & (11I) (C) Only (I1IT) .Only @

Under which one of the following policies did the Government of Gujarat announce assistance
plan for Startup/Innovation?

(A) New Industrial Policy, 1991 .New Industrial Policy, 2015
(C) Startup Gujarat Policy, 2019 (D) Startup/Innovation Policy, 2020

Match (I) with (II) using the codes given below:

@ damn
(i) Second Five-Year Plan (a) Twenty-point programme
(i) Fifth Five-Year Plan (b) Heavy industries and Capital goods
(iii) Ninth Five-Year Plan (¢) Garibi Hatao
(iv) Sixth Five-Year Plan (d) Basic Minimum Services
@ -v2-23-d4-c (B)1-a,2-b,3-d,4-¢
(C)1-a,2-b,3-¢,4-d M)1-d,2-¢,3-b,4-a

Match (I) with (II) using the codes given below:

@ amn
(i) First Generation Reforms (a) Tax reforms
(ii) Second Generation Reforms (b) Factor market reforms
(iii) Third Generation Reforms (c) Information technology enabled India
(IV) Fourth Generation Reforms (d) Panchayati Raj Institutions (PRIs)
(A)1-2,2-b,3-c,4-d @:-22-03-d4-¢
©)1-d,2-¢,3-b,4-a MD)1-d,2-¢,3-a,4-b

[BCH-1] rro. 33
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172.

173.

174.

175.

176.

DAuniddl sy s S SRU Al AR ciHied) 2is 4l ?
(A) 1l ulBui @ 25w

(C) d, AldRHINY (D) il HinlAsa

1991 Hi AR1R GIRA 812 HRAME 2UAE HINBUSIY JAIRAL uoLel AUl sa1 e ?
1. 2=l A5 @AsiA s cvalRia s,

2. v ofl Y4l G2 cualleidl-l naa.

3. vieddaAnl §4 Yasl auRal.

4. A 2l Hidd RUBia sl

@223 (B) 2,3 i1 4

(C©)1,2 %1 4 (D) 1,3 21 4

aRdL 5UA3-19 st UinsH (fiscal stimulus)it Ae¢HE DAunidl 54 (At wid © ?
(A) §4 ReRyau GDP -1 15% %24 8.

(B) 4 Rexyauuidl, 2UcH[AMR HIRd U5y S50 USIR 611 9% YU, HE1RAU (Mlcls) Y3 UIsAUHi
w1y
@107 250 2uucn 2 curd 2159 avid (A 21H) Reryau W3 di-u sy

(D) 2UHARR FHIRA 3.0 S50 Gewlg 18 AIRA WS (PLI) Al 20a2) dani 2ud) sdl.

A 2udan sl Gualol s34 dul dredirl addl 51 AqR 2 disaat s

1. GL5HI G1Ad BILAIME L 48l

2. dlsl WA 84 A4 14 [sst

3. 6l5HL ALY HIAIHE HL ALl

4. 6isHi WA 8 A Yedl avel

(A)1-2-3-4 B)2-3-4-1

(€)3-4-2-1 @:-1-3-2

200 AlSaxti-n 218 AxsHi a2 G0 170 A 9. 215 aul udl d WS s2aus G 1 A 2l ad
8 i o fl-idl G 3 Al peell afdl 99, ¢d u G 171.4 Al 2w 8. dl s2a Alsai-l Gas 3
Al afl eal ?

(A) 36 (B) 75

(©) 80 .40
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172.

173.

174.

175.

176.

Which one of the following is not one of the four pillars of ‘Make In India’ scheme?

(A) New processes .New technology

(C) New infrastructure (D) New mindset

Which of the following are ‘structural reform measures’ undertaken by the Government
during 1991?

(I) Redefining the role of the government in the economy

(II) Attempting higher participation of private capital

(IIT) Increasing aggregate supply in the economy

(IV) Controlling the excessive demand in the economy

Select the answer using the code given below:

@:.2:043 (B) 2,3 and 4

(C)1,2 and 4 (D)1,3 and 4

Which one of the following statements is INCORRECT with respect to India’s Covid-19
fiscal stimulus?

(A) Total stimulus amounts to 15% of the GDP

(B) Out of the total stimulus, stimulus worth 9% was provided by the Government under
Aatmanirbhar Bharat Package

.India launched one-time stimulus package to support demand

(D) Production-Linked Incentive scheme was covered under Aatmanirbhar Bharat 3.0

Arrange the following according to their increasing order of liquidity, using the code given below:
1. Saving account deposits with the banks

2. Currency and coins with the public

3. Current account deposits with the banks

4. Term deposits with the banks

(A)1-2-3-4 B)2-3-4-1

(C)3-4-2-1 @:+-1-3-2

The average height in a group of 200 persons is 170 cm. After one year, the height of some of them

increased by 1 cm, and that of remaining increased by 3 cm. The average height now became
171.4 cm. Of how many persons the height has increased by 3 cm?

(A) 36 (B) 75

(©) 80 .40

[BCH-1] [PT.O.
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177.

178.

179.

180.

181.

182.

183.

yauls vl e A W4 sy [ i el ?
(A) 6 615) AvAAUAL RUSIR GLEL vu 8,

(B) 1000 241 1100 A2 {1zt 61 YRiadl Ava1il €9,
@120 10 A4 2ivaiiidl weus 2 A4 v S,
(D) MAH 10 A4 A1l Heus 3 615 v 69,

-\

AR WAL A5 § SAUHL 209 69, dl AL AU 6 209 A+l HeuaH sedl ?
(A) 20/108 (B) 30/100

@;/10s (D) GuRisd WA A =l

215 211 215 800 Hl22 aion yan 90 (330 uld sausll 33U 41 As~s1i uAIR 53 8. dl 2l dons seefl 8ol ?
@225 022 (B) 250 {22
(C) 325 W12 (D) Buisd U4 s ]

25 242 9% vil2 WA AAAH] 20d 9. %A d 3L 3,000 AR AS AAUHL 2Udd dl 6% 51 Ad. dl 10%
51 Horaal 20 2522 52l (Bud u dug AdA?

(A) 3L. 22,800 @:. 22,000
(C) 3L. 32,000 (D) 3L. 21,600
Aellui vizd ue 2l

kpul3, zej57, 2, din1315
@011 (B) ptz911
(C) ouy1113 (D) Buisd U4 51 ]

-

6] AuAALAL ARITR 26:41 2 AHAL L AL 16 8. dHAL A ALA. ..........
(A) 17054 @17056
(C) 16076 (D) BuRisd U4l 516 ).

N Y

5: 40 seu3 al3un-u MRz sizl x4 sans si2l adHl vl Sedl 9l ?
(A) 66° (B) 77°
(C) 140° @curisaia a¢ 14
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177.

178.

179.

180.

181.

182.

183.

Which of the following statements is not true about integers?
(A) Multiplication of two even numbers is an even number
(B) There are only two perfect squares between 1000 and 1100
.Mean of first 10 even numbers is an even number

(D) Mean of first 10 odd numbers is an even number

Three dice are thrown together. What is the probability of getting a total of 6?

(A) 20/108 (B) 30/100

@:;/108 (D) None of the above

A train crosses a 800-meter long bridge at 90 Km per hour in 41 seconds. What is the length
of the train?

.225 meters (B) 250 meters

(C) 325 meters (D) None of the above

A scooter was sold at a loss of 9%. Had it been sold for Rs. 3,000 more there would have been profit
of 6%. At what price should the scooter be sold to make a profit of 10%?

(A) Rs. 22,800 @rs. 22,000

(C) Rs. 32,000 (D) Rs. 21,600

Find the missing term in series:
kpul3, zej57, 2?2, din1315

—_—

@011 (B) ptz911

(C) ouyl113 (D) None of the above

The ratio of two numbers is 26:41 and their H.C.F is 16. Their L.C.M is
(A) 17054 @17056

(C) 16076 (D) None of the above
What is the angle between the minute hand and the hour hand when the time is 5:40 hours?
(A) 66° B) 77°

(C) 140° .None of the above

[BCH-1] [PT..
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184.

185.

186.

187.

188.

189.

R Rl [Bounmi 2 sausui 23 (34l adl a5 6. uas-l (a3 Rauni d 10.5 (530 3 sausui a2 8. s2eus
iconHi uas -l suni 1.5 [33{l/sc1s g2dl aaisi wa 6. di sl vas 0 14 (338 (uans-l [2auui)
dRal W2 R A S2dl uuy ADI ?

(A) 1 seus 30 (A2 [ JECTEPXIRIRE:

(0) 2 seus 12 A2 (D) BuRisd U4 518 Al

25 Hga uR oflog 2t Hlon avlui Hola AsalB4 y BisH 31 12,000 244 31 14,400 B, dl Ul €2
sedl el ?

(A) 24% uldaan (B) 25% uldan

@:0v wlaani (D) GuRisd WA 6 4l

31. 8,000 U2 15%-1 €2 2 Al 4 WA wlls {d owud AsalBy ey s2¢ sol ?

(A) 3\ 3,190 @:. 3109
(C) 3L 2,880 (D) 3L. 3,620

-

(Rge: (Mail : 187 &l 189) : uda MUML =121 AU 2uuHl Ul 9, [Aseuni 2uua 1R 2ugldazi U4,

A Y Y

UUAL ARL AL URRUR AoitlA 2 Ld saiadl 2ugld aldl x4

-

1oy, [Asey ude s2l.

A (B) O

© (D)

sull, vils, wsenz (@
uallail, §di, stidRi .

(5522, s20llar, aurdlal .

[BCH-1] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


184.

18S.

186.

187.

188.

189.

R can swim 23 km with the flow in 2 hours. Against the current, he covers 10.5 km in 3 hours.
Under certain circumstances, the speed of the flow got reduced by 1.5 km/hr. What is the time

taken by R to cover 14 km (in downstream) with the changed flow?

(A) 1 hour 30 minutes @1 hour 24 minutes

(C) 2 hours 12 minutes (D) None of the above

Compound Interest earned on a sum for second and third years are Rs. 12,000 and Rs. 14,400
respectively. What is the rate of Interest?

(A) 24% per annum (B) 25% per annum

. 20% per annum (D) None of the above

What will be the compound interest on Rs. 8,000 at 15% per annum for 2 years 4 months,
compounded annually?

(A) Rs. 3,190 @rs. 3,100

(C) Rs. 2,880 (D) Rs. 3,620

Directions : ( Questions : 187 to 189) : In the following questions three classes are given. Out of

four figures that indicated in options, find out the figure which best represents the relationship

among the three classes and mark appropriate option.

(A) (B) O

© (D)

fruit, food, vegetable .

birds, dogs, pigeons ()

Cricketer, Footballer, Indians .

[BCH-1] [PT..
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* H

190.

191.

192.

193.

194.

195.

(Rgar: (sl : 190 ol 192) : €35 NAHL 25 UsL 244 6 [Qsunl (1) 241 (1) 20Ul 8. dHIR 2 58] sau,
8 3, [Qauiad 2udel Wl dl ual G 2uuaL vald €9 3 31 ? dHiRl Grir 21 dd 2uul

(A) %A [t (1) 2is¢ o UL UL 2UuAL VAl Sid
(B) % [ttt (I1) 154 o ULl Fet Syl uaid $id
(C) A [Atunt (1) 241 (11) 24508 UL FAUsL BUYAL 2UAWUS SIY

(D) % [ (1) 21 (I1) 518 UL FAUGL AL YA A 1A

m 243 n i e sz 9?7 (@
(D n 1 618 yaus 69, m 21 25 yaus © 14 m A n sl Hiel 9.

(I1) m 211 n AL RUSIR 30 8.

215 2ullui 3 GHeARl P, Q ¢ R, ALSAMLAL AGAUE HIZ GHeaAld] 53 8l Sdl. UASA S2el Hd HouL ?
() P = Q 52t 2987 Hel AY HOUL 241 R 52l 7600 Hel AY, HOUL. .

(IT) 890 AL5IA HAEIA A 53,

AQL AvALAL a, b, ¢ USL dHIH 4L €9 2 AHOLRITR SRl €9. g uMoLRiaR Slell-l A dRITR 1 SRl
241691 89 ?

() 1/a %1 1/b $clL S 9.

(I1) a, b 27 ¢ &1 1 ) -l 2y s 9.

70 (o1 20 31. 350+ 1A wIeAUHT 209 €9 24 3L, 72 0L UlA Sl Gud dAAHT 20D €. dl 5L AL
dsAall esiadl sedl ag ?

(A) 12.5% (B) 17.5%

@:0 (D) 25%

A2 USL sul w0 ollon 3 521 516 d gL us B ?
(A) AUl (B) U<l»
[ RERTE) (D) ¥y

Al Yaus Avai-Al AL, 245 Yls x 2d 8. 244 €9 YRUSL 20, 4, 10, 4, 8 21 4 3 Y61 8. % 1

7 YRS HELS, HEIRA A oIgAS A3l $HUL QUSAUHT 21d dl Al Hs AHidR S8l eiriagl. dl x -l
AHIM A YL AW 52l Y3l ?

(A)26 (B) 34

(€) 38 @+

[BCH-1] [Contd.
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190.

191.

192.

193.

194.

195.

Directions : (Question : 190 to 192) : Each question has a problem and two statements (I) and (II).
You have to decide, if the information given in the statements is sufficient to answer the question.
Indicate your answer as

(A) If statement (I) alone is sufficient to answer the question.
(B) If statement (II) alone is sufficient to answer the question.
(C) If statements (I) and (II) both together are needed to answer the question.

(D) If statements (I) and (II) both together are not sufficient to answer the question.

What are the values of m and n? .

(D) n is an even integer, m is odd integer and m is greater than n.

(IT) The product of m and n is 30.

In an election, 3 candidates P, Q and R were representing for a membership of Parliament.
How many votes did each receive? .

(I) P received 2987 votes more than Q and 7600 more votes than R.

(IT) 890 People did not vote in the election.

The three numbers a, b, ¢ are all positive and are in geometric progression. Is the common ratio of
the GP less than 17 ()

(D) 1/a is less than 1/b.

(IT) a, b and c are all fractions less than 1.

70 Oranges are bought at the rate of Rs. 350 and sold at the rate of Rs. 72 per dozen. What is the
percentage of profit or loss ?

(A) 12.5% B) 17.5%

@:02 (D) 25%

Which of the following words is different from other 3 in some manner?
(A) Savanna (B) Prairies

.Pantanal (D) Steppe

In a list of seven integers, one integer denoted as x is unknown. The other six integers are 20, 4, 10,
4, 8 and 4. If the mean, median and mode of these 7 integers are arranged in increasing order, they
form an arithmetic progression. What is the sum of all possible values of x?

(A) 26 (B) 34

(C) 38 .40

[BCH-1] [PT.O.
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196.

197.

198.

199.

200.

%A 3/5 +/125 = 17.88 , €l il /80 + 16+/5 o 4eu 324 udl ?
@47 (B) 53.42
(C) 56.6 (D) BuRisd U4l 518 1l

s doraixy Wizl dens 30% atRami 20d € 241 d-l ugions 20% setsaimi 20d 69, di Aal oA
21 YU oAU AASNAL ARlTR S24l 2a?

(A) 26:23 @:6:25
(C) 13:10 (D) BuRisd U4 518 Al
EETRIE D) SecsWluz gas o,

M) 6141 gag 564dR1 8.

III) GLaL $64dR01 AW 69,
el i) 52415 Ulu2 s04d 8.

i) 52a15 s0idRi U2 ¢,

i) elaLga3 WU 9.
@ o222 8. (B) $5d I, TTT 2443 6.
(C) 85 I, TIT AR 6. (D) 554 I, I A4AR 8.
215 3.78 Hl2R aiow 211 5.25 Hl2: ugion adsid vis uvi sedl AlA diglzdl satdl 26 6. di 1 e

Al Hiat e se-l cuglatiAl Guaio agi ?

(A) 14 A @:1 20

(C) 28 A (D) Buisd U4 58 <l

L wSU P o Q 25 2isl 15 [AA2 244 20 AU 2154 M3l A3 . vid WU 5018 vilaaHi 204 8,
uig 4 e ugl wdu P oid scumi 20d 6. dl 218l MRl 54 524l uny Qe ?

(A) 14 WAz 20 As~3 (B) 16 (A2 40 As~3

(C) 18 A2 40 As~3 @Guisa 0 65
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196. If3+/5 ++/125 = 17.88 , then what will be the value of /80 +16+/5 ?

&7 (B) 53.42
(C) 56.6 (D) None of the above

197. The length of a rectangular plot is increased by 30% and its width is decreased by 20%. What will
be the ratio between the area of the new rectangle and the original rectangle?
(A) 26:23 @:6:25
(C) 13:10 (D) None of the above

198. Statements: I)  Some parrots are owls.

II) All owls are pigeons.
III) All pigeons are snakes.

Conclusions: i) Some parrots are pigeons

ii) Some pigeons are parrots

iii)  All owls are snakes
@1 foow (B) Only L, I1I follow
(C) Only I1, III follow (D) Only L, II follow

199. Arectangular courtyard 3.78 meters long 5.25 meters wide is to be paved exactly with square tiles,
all of the same size. What is the largest size of the tile which could be used for the purpose?

(A) 14 cm @:1
(C) 28 cm (D) None of these

200. Two pipes P and Q can fill a tank in 15 minutes and 20 minutes respectively. Both the pipes are
opened together but after 4 minutes, pipe P is turned off. What is the total time required to fill the

tank?
(A) 14 minutes 20 seconds (B) 16 minutes 40 seconds
(C) 18 minutes 40 seconds .None of these

[BCH-1] [PT..
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PROVISIONAL ANSWER KEY

Name of The Post Accounts Officer, Class-2
Advertisement No 04/2021-22

Preliminary Test Held On 05-12-2021

Que. No. 001-200

Publish Date 07-12-2021

Last Date to Send Suggestion (S) 15-12 -2021

Instructions / }ell (Physical Submission)

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).

G edIR o{lAeil YUoilBilef Uldel sclofl d3el] AW, Bouell ditl-YUsl i) 539 12VlLd] tla
aqiel «&l
(1) GALdR didl-YUell [Add S 11Ad ditl-¥Ael UsAse] 22 sd il 2ER.

(2) GUEdR UHUHI ditl-YUell 2% 5L A1 U URite AAd [ddd ditil-yUst UnASell
oiYsile] % GUALL 5.

(3) GALdR Uldlal UlatHi HAd YUY RASIHI 9UIAE URSHIS Yoo ditl-YUst] 22 ol 5cll dHIH
digl-yUell AU U Uit 6AG Yl[dreld w12 S (HIReR UBUA)sll Usl SHIS Yool Wl d
Aeelui 0 s2dl.

(4) U1 USUA Ui A2 ust a [Asey [Ad el ditil-Y et dlel Qo lH] w1dQ) il

(5) GREAR % URlell (A5 UR dit] 2% 536 & el [Asey U % % lod YUdd B 2 %clod GHedR
Uldlefl GrRad&lui wUd eld) a5, GAed R YUAd dlod el GrdRdElell asallod (¢3t &2l dl
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004.

With respect to basic accounting concepts, which of the following statement/s is/are incorrect?
(i) Book-keeping is mainly concerned with recording of financial data

(ii) Financial statements are part of book-keeping

(iii) Financial position of a business is ascertained on the basis of Balance Sheet

(iv) Financial statements do not consider assets and liabilities expressed in non-monetary terms
(A) Only (i) @ony G

(C) Both (i) and (iii) (D) Both (i) and (iv)

Which of the following is/are not regarded as revenue expenditure?

(i) Expenses incurred in connection with obtaining a licence for starting the factory

(ii) Expenses paid for removal of inventory to a new site

(iii) Overhauling expenses for the engine of a motor car to get better fuel efficiency

(iv) Amount spent on demolition of building to construct a bigger building on the same site
(A) Only (i) (B) Only (ii)

(C) Both (i) and (iii) @ ). Gi) and (iv)

With respect to trial balance, which of the following statement/s is/are correct?
(i) Trial balance contains various ledger balances on a particular date
(ii) It forms the basis for preparing final statement i.e. profit and loss statement and balance sheet

(iii) If trial balance tallies, it means that the accounts are arithmetically accurate but certain

errors may still remain undetected
(iv) A trial balance will tally in case of compensating errors
(A) Only (i) (B) Only (ii)

(C) Both (i) and (iii) @ ). G, Gii) and (iv)

With respect to trial balance, which of the following statements is incorrect?

(A) The method of rectification of errors depends on the stage at which the errors are detected
.In case of error of complete omission, the trial balance does not tally

(C) When errors are detected after preparation of trial balance, suspense account is opened

(D) When purchase of an asset is treated as a revenue expenses, it is known as error of principle
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005. With respect to bank reconciliation statement, which of the following statement/s is/are incorrect?

(i) The reconciliation will bring out any errors that may have been committed only in the cash
book but not in pass book

(ii) Any undue delay in the clearance of cheques will not be shown up by the reconciliation
(iii) It helps in finding out the actual position of the bank balance

(iv) There are three types of differences between cash book and pass book namely Timing,
Transactions & Errors

(A) Only (i) (B) Only (iii)
.Both (i) and (ii) (D) Both (i) and (iv)

006. With respect to admission of partner, which of the following statements is incorrect?

(A) New partner is admitted either for increasing the partnership capital or for strengthening the
management of the firm

(B) When a new partner is admitted into the partnership, assets are revalued and liabilities are
reassessed

.Whenever a new partner is admitted, any reserve appearing in the balance sheet should
be transferred to the capital accounts of all partners including the new partner in the new
profit-sharing ratio

(D) Revaluation account is also called as profit and loss adjustment account

007. With respect to retirement of partner, which of the following statement/s is/are incorrect?

(i) Business of a partnership is not closed if any one partner retires, remaining partners may
continue to carry on the business.

(ii) At the time of retirement of a partner no special treatment is required for any reserves
appearing in the balance sheet

(iii) If the firm has taken any joint life policy, then it is to be surrendered on retirement of
a partner

(iv) Profit on revaluation is credited to continuing partners, retiring partner is not entitled to any
profit on revaluation

(A) Only (i) (B) Only (ii)
(C) Both (ii) and (i) @5 Gi) and (iv)
008. If the death takes place during the accounting period, the Executor of the deceased partner is

entitled to have a share of profit upto the date of death on the profit earned in the immediately
preceding year or some agreed basis. For this purpose, is credited and is debited.

.The deceased partner’s capital account; Profit and loss suspense account
(B) The deceased partner’s capital account; Cash account
(C) Profit and loss suspense account; Cash account

(D) Profit and loss suspense account; the deceased partner’s capital account
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(i) $u-ll SRUEL IRL tiUAUMT HUAA A5 AQ Sl HUsH . Yy, UE] 1A Ut uRaAdH d-
AR A4 53 el

(i) vl (A3 sudlug AN angla saadl and uldsiBa ©

(iv) WRLRns TIT oL T wist uR3uL 2a3u uxd 8.

(A) WA (i) 24 (i) (B) WA (i) , (i) 241 (iii)

(C) WA (i) A (iii) @) . i), Gii) 2 @v) ey
su-l w12l 2013+ san 52 Yarot, Susll gl AR MHAH vidl Gualol 530 asu .

(i) $ul o112 Al widenn - Sufl-i ueAiA Ayl HULES 2AA GliHA AR 2L W2,

(i) Su-l-u SiSuR AR waal [Rei-=a2d yH WA, AaaL Ysaami sudal s[Han 2 q2iad 1idl ana
we.

(i) Su-ll-w wals wAdq widl awna we.

(iv) Ul ROAo1A Us- 242 1aa1 Roi-ai- ud MallawHl oo sal.

(v) Wit AR YAl 24, AH AL W€l .

Gunidl sl [Qan-l i e ?

(A) WA (i) 21 (i) (B) 1AL (i) , (if) 2t (i)

(C) WA (i) , (iii) 241 (v) @ . i), dii), (iv) 2L (v) e

sudl wiRl, 2013 L sau 270 Yo, Al Sudlz %21 WA d-iL wRusla waast xaa alis e 5154
$AWMLL......... AoioL aul ¢e 531 el dl, (203914 giat Sull oiy sraumi »udl s 6.

(A)2 B3
(©) 4 D) =

daloit [SRumi vl 2l oLl A-umidl 565 ugldA s3 asu e ?

(i) G=as ugld

(i) Alvvfl ysasll-l ugld

(iiii) Avvll Rasa wsld

(iv) 2idaRs Yeu vaal A2 [AlRma ugld

(A) WA (i) 21 (i) (B) "= (i) , (i) 21 (i)

(C) M= (i) 241 (iii) @ . i), dii) 27 iv) e
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(i) Every listed company is a public company but every public company is not a listed company

With respect to company accounts, which of the following statement/s is/are correct?

(ii) Company is a separate legal entity created by law. Death, insolvency or change of member does
not affect its existence

(iii) Transferability of shares is restricted in a private limited company

(iv) Schedule III Part I explains form of Balance Sheet

(A) Only (i) and (ii) (B) Only (i), (ii) and (iii)

(C) Only (ii) and (iii) .All (i), (ii), (iii) and (iv)

According to Section 52 of the Companies Act, 2013, Securities Premium Account may be used by
the company

(i) Towards issue of unissued shares of the company to be issued to members of the company as
fully paid bonus securities

(ii) To write off the expenses of, or commission paid, or discount allowed on any of the securities
or debentures of the company

(iii) To write off preliminary expenses of the company

(iv) To provide for premium on the redemption of redeemable preference shares or debentures of
the company

(v) For the purchase of own shares or other securities

Which of the above statements are correct?

(A) Only (i) and (ii) (B) Only (i), (ii) and (iii)

(C) Only (i) , (iiii) and (v) @1 ), G, Gii), (iv) and (v)

As per Section 270 of The Companies Act, 2013, a company may be wound up by Tribunal, if the

company has made a default in filing with Registrar its financial statements or annual returns for
immediately preceding consecutive financial years.

(A) 2 (B)3
(©) 4 D) =

Purchase consideration in case of Amalgamation can be computed by which of the following
methods?

(i) Lumpsum method

(ii) Net payment method

(iii) Net assets method

(iv) Intrinsic value or share exchanged method

(A) Only (i) and (ii) (B) Only (i), (ii) and (iii)
(C) Only (ii) and (iii) .All (i), (ii), (iii) and (iv)
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(A) Yl 518

(B) -[d 2uuia

@422 s s vsBe2u viis Sl
(D) Axsd 65 2is Sz

A2lumiddl sy [ wig 92

(A) AS 24 U2 6i8 s W18 246i[Ed 9.

(B) AS 25 Q200U URUEA A8 N 18 o .
(C) AS 26 1594 [Rasdl AbiBd €.

@2 s 27 asdi afd eilfa O,

IFRS -1 dgui, DA-unigdl sun (sl e 9?

(i) IFRS %124 §r2a-4a sid-ulaua RullZo 221+,

(i) IFRS A [Augidi-2ntd qleil A3 ueiami »ud 69,

(i) €35 HUU AD AU A4S 2 UAUAA dRS 2000 adl 8 €9,

(iv) MRd U512 ICAT 018 uAMel 5304 vellua 454 534 8 uig IASB gl 3 sAdA IFRS
LR 241 vturiaa sl sy el

(A) 1A (i) 24 (i) (B) WA (i), (ii) 241 (iii)

(C) WA (i) 1 (i) @), i), i) 27 @v) e
Ind AS - Aee{ui, NA-unidl su Qs i 97?

(i) Ind AS 101 GuRdl2 [R206fl HiRRUAL MAH auid 21u-iaan 08 A{eilla .

(i) Tnd AS 105 2012 1A 6{8, 510 W AvaHl 2uda B g Mesdl AqeilEa ©.
(i) Ind AS 110 2isld -uRuslu wast Aeilffa 6.

(iv) Ind AS 115 293Q23) 3524 5162 i Aeil8d .

(A) H1A (i) 24 (i) @ ), Gi) 211 i)

(C) M= (i) 241 (iii) (D) (i), (ii), (iii) 24 (iv) L1401 %
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The Committee under the Chairmanship of , Deputy Governor, RBI, after due deliberation
suggested changes/amendments in the forms of balance sheet and profit and loss account of banks.
(A) Shri C. Rangarajan (B) Shri T. Rabi Sankar

.Shri A. Ghosh (D) Shri B P Kanungo

Accounting Standards for Non-Corporate Entities in India are issued by
(A) Supreme Court

(B) NITI Aayog

.Institute of Chartered Accountants of India

(D) Reserve Bank of India

Which of the following statements is incorrect?
(A) AS 24 deals with Discontinuing Operation
(B) AS 25 deals with Interim Financial Reporting
(C) AS 26 deals with Intangible Assets

.AS 27 deals with Impairment of Assets

With respect to IFRS, which of the following statements are correct?

(i) IFRS stands for International Financial Reporting Standards

(ii) IFRS are considered a “principles-based” set of standards

(iii) Every major nation is moving toward adopting them to some extent

(iv) The Government of India in consultation with ICAI decided to converge and not adopt to
IFRS issued by the IASB

(A) Only (i) and (ii) (B) Only (i), (ii) and (iii)
(C) Only (ii) and (iii) @1 ), Gi), Gii) and (iv)

With respect to Ind AS, which of the following statements are correct?

(i) Ind AS 101 deals with First Time Adoption of Indian Accounting Standards

(ii) Ind AS 105 deals with Non-current Asset Held for Sale and Discontinued Operations
(iii) Ind AS 110 deals with Consolidated Financial Statements

(iv) Ind AS 115 deals with Regulatory Deferral Accounts

(A) Only (i) and (ii) .Only (i), (ii) and (iii)

(C) Only (ii) and (iii) (D) All (i), (ii), (iii) and (iv)
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(i) 232 Yo B2 MisHA $E-U AL MUL Gig Ll e

(iii) 2321 Yo Baa isu- AU AEMHUL vigaLdl -8l

(iv) 2032l 8¢ wausla uAsHI Sgydsi aupnsalzA- [Qaa-l sa 4 auRaiAl 6
(A) H12A (i) (B) WA (i), (i) 2t (i)

(C) ML (i) 21 (i) @), i), (i) A v) e
AA-migdl san [Aunid 2103221 21582 622U dS Rl 2ud 972

(i) weroll vidd) Hoaa e

(i) 21562 waudla uast vidl Ml dlysd [Rde-idl ysd 8 d-l viadl sra

(i) “URUSLY WASIHL A AA Y

(iv) 2Udl2ril HIRRU gIRL 2UaguSdL Yoot HUS AR S

(A) {1 (i) 21 (iv) (B) H1aL (i), (ii) A (i)

(C) |t (i) 241 (iv) @), i), (i) A (v) ey

Daumiddl suid Agnsla uasi-u 2R2Hi 2ual dart Yra Wil als uami 2ud 697?
(i) (3210l ugld 244 2nidRs 2iga-l uglad uRaw

(i) usld 241 ulznii-l allan 524l

(i) (S0l A1l oudldas sl agiuell

(iv) A1 HHIRRAAL 24 WALl wRLS

(A) Wt (i) 21 (i) (B) A (i), (ii) 241 (iv)

(C) M2 (i) 241 (iv) @ o). i), Gii) 211 (iv)

32+ usiiqi Aeui, NAnnidl sa [Qaul 0 9?

(i) AHH USR crwiR s 21511 21241 A H2 21B32 s1uAR Ad sA%Uld ©

(i) 2321 o1 cuus fell2imi [Aeulda saHi 20 69, 212d 5 s1ueL 86 32 2il32 21 [R5 2132
(iii) Su-l tRL g1 AAd su-lzil sl 8 3 2ilRe-l siellui »ud 8

(iv) eil301 Surllail sl st 33 22l sillmi »ud 8

(A) 1A (i) 24 (i) (B) WA (i), (ii) 2 (iv)

@ Gi), Gii) 211 iv) (D) (i), (ii), (iii) 24 (iv) L1401 %
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With respect to Auditing, which of the following statement/s is/are correct?

(i) The basic objective of audit does not change with reference to nature of an entity
(ii) The basic objective of audit does not change with reference to size of an entity
(iii) The basic objective of audit does not change with reference to form of an entity

(iv) The purpose of an audit is to enhance the degree of confidence of intended users in the financial

statements
(A) Only (i) (B) Only (i), (ii) and (iii)
(C) Only (ii) and (i) @1 ), Gi), Gii) and (iv)

Which of the following statements are considered as overall objective of the auditor?
(i) To obtain reasonable assurance

(ii) To ensure the financial statements as a whole are free from material misstatement
(iii) To report on the financial statements

(iv) To communicate as required by the SAs

(A) Only (i) and (iv) (B) Only (i), (ii) and (iii)

(C) Only (ii) and (iv) .All (i), (ii), (iii) and (iv)

Which of the following are regarded as principal aspects to be covered in an audit of the financial
statements?

(i) An examination of the system of accounting and internal control

(ii) Reviewing the system and procedures

(iii) Checking of the arithmetical accuracy of the books of account

(iv) Verification of the authenticity and validity of transactions

(A) Only (i) and (ii) (B) Only (i), (ii) and (iv)

(C) Only (iii) and (iv) .All (i), (ii), (iii) and (iv)

With respect to types of audit, which of the following statements are correct?
(i) Audit is legally obligatory for all types of business organisations or institutions

(ii) Audits are divided under two broad categories, i.e. audits required under law and voluntary
audits

(iii) Companies governed by the Companies Act fall in the category of Audit required under law
(iv) Banking companies fall in the category of Audit required under law

(A) Only (i) and (ii) (B) Only (i), (ii) and (iv)

.Only (ii), (iii) and (iv) (D) All (i), (ii), (iii) and (iv)
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(i) A Al ulSaai- nenla [Rdid 28101 53 8 B2 UsH-AL U147 08 Astuen -8l

(i) d sHANA NRIA 218 ABLS AwA a3 511 53 ©

(i) 210323 “uRusla uAsl 52 HiSHl FUAEIR 155l sAUMT HEEIU &

(iv) ALENlEIRL UA AU Yy AHA [Suoil udtaeHi 432 s004 URnSlA UASL voL HEEZU AU 8
(A) WA (i) 24 (i) (B) WA (i), (ii) 2 (iv)

(C) WA (i), (iii) - (iv) @ o). i), Gii) 21 (iv)

21dRs 232w Aedui, DNA-uniddl 5y [ vig 97

(A) 2dlRs 2132 2 2AiR322-1 2215 U g1 AU 24 5110 ugi-l Add sl2a udlan 8.
@125 2iR240 2idRs dwn 27 AidRS vigu-l urmda wu 9

(C) 2idRs 232 ugldni, s11 yel aa1 uedl d-l dwin saumi »ud 8

A A

(D) 2AdRs 2322 Al AS e HAAoHr2 Al &

widRs viga-u Aeeinl, NA-uniddl sy [Qan viig 97

(A) Wl widRs 2ign ugld A A8 gEBuAEl sluaami Hee 53 8 A sidur
fRulRdaiddl 28 2ul ©

(B) 215 A1 AidRs »iga ualaat YAlud 52 © 3 A0l Gualol AR [RailRd Sqil e o a8

-\

(C) d ®al 2 vRAMAdAA A1 WA 212514 8, F-udl [AaA-la 21 A2 [SA16iA UleAs-
w69,

@ 52710 [ 27 ueielziiu wARRE« g1 sHEz Rdld 2281 s el

w1idRs viga-u Aeeinl, NA-uniddl sul Q- vz 97

(i) oprsreias iga((32sdla s2id) -l A Ml viaa ARUMAAIA adl 2259 W sAH
2udl €9,

(i) [Reurs izl Ml x2aa ARAFRAARAL 200 4l d Al e [ 8
(i) YHRLHS 25 HAl 2 ARURMA W s1ecu-l A o dL YR W2 qguls tirid ©
(iv) it e[ siaEll, [Rairs sigal vuagus 8 5120 5 dil Al3u 8 i JRIAT UR (IR Y5 6
@ () >4 i) (B) WA (i), (ii) 2 (iv)

(C) M= (i), (iii) 241 (iv) (D) (i), (ii), (iii) 24 (iv) L1401 %
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With respect to advantages of audit of financial statements, which of the following statements are
correct?

(i) It safeguards the financial interest of persons who are not associated with the management of
entity

(ii) It acts as a oral check on the employees from committing defalcations
(iii) Audited financial statements are helpful in settling liability for taxes

(iv) Audited accounts are of great help in the settlement of accounts at the time of admission or
death of partner

(A) Only (i) and (ii) (B) Only (i), (ii) and (iv)
(C) Only (ii), (iii) and (iv) @1 i), Gi), Gii) and (iv)

With respect to Internal audit, which of the following statements is incorrect?

(A) Internal audit is a continuous critical review of financial and operating activities by a staff
member of the auditor

.Internal audit includes internal checks and internal control
(C) In an internal audit system, work is checked after it is done.

(D) The internal auditor submits his report to the management

With respect to Internal controls, which of the following statements is incorrect?

(A) A good internal control system helps the protection of organisation resources from
misappropriation and do safeguard from any irregularities

(B) A good internal control system ensures that the resources are utilized only for their intended
purposes

(C) It prevents errors and irregularities by detecting them in a timely manner, thereby promoting
reliable and accurate accounting records

.It doesn’t protect the interests of employees by segregation of duties and delegation of
responsibilities

With respect to Internal controls, which of the following statements is incorrect?

(i) Detective Controls are designed to discourage errors or irregularities from occurring

(ii) Preventive Controls are designed to find errors or irregularities after they have occurred

(iii) Corrective Controls target at the correction of errors and irregularities as soon as they are
detected

(iv) From a quality standpoint, preventive controls are essential because they are proactive and
emphasize quality

.Only (i) and (ii) (B) Only (i), (ii) and (iv)
(C) Only (ii), (iii) and (iv) (D) All (i), (ii), (iii) and (iv)
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026. ..o Horol, “widRs 32l ALl AHU wouReR sHAX ddls 511 521 2R2H1 2215 g1RL
Aensly 24 sl ualtizi-l udd, @R wflaunl wrda 2 6.

(A) L. %5 AlS (B) Wl %145 ARded
@ i3z ol Do (D) L. Y123 Ry

027. B~ Aee{Hi, NA-uniddl s34 [Aam vig 97
(A) WBAR 2 i, [Ad@ e Yel 2 AR ABd 5181 3UHL YR1AAL 28 @HRLY
(B) RAssHHL, A MR[AY, wdle nidell ua, [AA2 615 a3l aiBu-L UsIRIAL GElwU €9,
@ G 20Ul GuR sdami wud 8
(D) BAA sull-l 2ig2 (AldRs ABuA) x1aal Su-dl-l i1 (cual GAA) Beunt 530 A3 69,

028. su-l w12l 2013 L 544 139(7) AR, U512 su-dl-i (Brumi, nan 222l [Angs su-d-l Aluel-l

adlwl.......... fl 2igR HIRAL SIR2IAR A wUl322-%1R4 gL seUML U4l
(A) 30 [Ban (B) 45 Bax @ oo o (D) 75 [Ban
029. su-l wRill 2013 L sa1 139(2) yaror, 516 waL (@28 Su-ll xnaan su-dlati-u ad wd Asvuddl iu, 3
RaiRa 52 asw,
€Y — sl Ay AHY W2 Ail322 a3 uldd; 247
(b) 2«32 ¥dl.......... sl ay W ke ddls.

2dlell [AHgs x1aan yr:Ry3d 520 dl-

(A) Add Ui ANl 215 Hed; Add uiA -l 28 Yed
@1 iz ol s Yed; Add uia a6 yed
(C) Add ui ANl 6L Yed; Udd win -l 6 Yed
(D) Al i aul 6l HYed; Add win -l AR Yed

030. (32 v Aecni, NA-uniel sa [Qau-l viey 97?

(i) 21322 ULy (AU s 59 TR 24322 [Arst] u 2148l § wsusla uast, dxun Rl suotdin,
ALY USAL URUSLAL ASAUATAL HIBAL HFAIR AUR SAANL S 6.

(i) 23221 vSuani U (addressee)l 32 1l
(i) 2322 ASAnT You 2132 tustd-l Gedu sl 2 RSl UASIHL 22Ul [Aseu siud 8

(iv) w2 222 213221 A uani A[Gnani §2512 s 24080 AV O, AR AiB2R A=A WAL
UL HAAAL ALSL AA HAUE 529 5 % AALRUHL AU[AA §51R 11 5121 AseLHT wRRwal.

(A) WA (i) 24 (i) @~ (), Gi) 211 Gii)
(C) M~ (i), (iii) 241 (iv) (D) (i), (ii), (iii) 21 (iv) 1 %
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According to , “Internal auditing consists of a continuous, critical review of financial and
operating activities by a staff of auditors functioning as full time salaried employees.”

(A) Prof. Jack Walker (B) Prof. Joseph Rosvelt
.Prof. Walter B. Meigs (D) Prof. Peter Smith

With respect to vouchers, which of the following statements is incorrect?

(A) A voucher is a piece of substantiating evidence, in the form of a written record of expenditure,
disbursement, or completed transaction

(B) Cash Memo, Sale Invoice, Purchase Requisition Slip, Minutes Book etc. are examples of types
of voucher

.Original vouchers are called collateral vouchers
(D) Vouchers may generate inside the company (internal vouchers) or outside the company

(external vouchers).

According to Section 139(7) of the Companies Act, 2013, in the case of Government company,
the first auditor shall be appointed by Comptroller and Auditor-General of India within
from the date of registration of the company.

(A) 30 days (B) 45 days .60 days (D) 75 days

According to Section 139(2) of the Companies Act, 2013, no listed company or a company belonging
to such class or classes of companies as may be prescribed, shall appoint or reappoint

(a) an individual as auditor for more than ; and

(b) an audit firm as auditor for more than

(A) one term of five consecutive years; one term of five consecutive years

.one term of five consecutive years; two terms of five consecutive years

(C) two terms of five consecutive years; two terms of five consecutive years

(D) two terms of five consecutive years; three terms of five consecutive years

With respect to Audit Report, which of the following statements is incorrect?

(i) The auditor shall express a qualified opinion when the auditor concludes that the financial
statements are prepared, in all material respects, in accordance with applicable financial
reporting framework

(ii) There is no need of the addressee in the Auditor’s report

(iii) Communicating key audit matter in the auditor’s report constitutes a substitute for disclosure
in the financial statements

(iv) When the auditor expects to modify the opinion in the auditor’s report, the auditor shall
communicate with those charged with governance the circumstances that led to the expected
modification and the wording of the modification

(A) Only (i) and (ii) .Only (i), (ii) and (iii)
(C) Only (ii), (iii) and (iv) (D) All (i), (ii), (iii) and (iv)
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Run 2l (stes A) Ssnll €35 Ul d-l dun Gaug -l 2 Aaiuidl eduiaz.......... 2w Ay,
SId 1 A3ddd Bulgn A Al A5E2 2-2ilaz.......... 22Ul AY, Sl dl udd-L AL »Hil32
$2193l.

(A) 3L 20 5303; 3L 10 503 (B) 3L. 25 5RU3; 3L. 25 53

@ 50 5215 31 25 5308 (D) 3L 50 5313; 3L. 50 5313

Ul vl Aedul, AA-unidl 3 [Qan vig 97

(A) U3dR 2l HIAU GAUer 1Al AUA AUl 8¢ HIZ QUL A W weudla sf@ut
HU B,

(B) ULEL AGEIHI U3dR H2d dHIH WAL §A UL,

@ :: 2 21 2ua arg uR sami 2udd w1 AR AsilRd v 2004 azg usa- vidd s2a1 w2
sUML A WA (URAlAs ud s1euls dl) a3 ug vailia sami 2ud 8.

(D) U3dR Heudl A2 89 5128 5 usdR -wendl gl R Heu axgl Guallidl v1aa Guallidii

ALHHL HIYAUHT 2ud

2ol 53 neua v Gersw dl?

(A) vy sd stuq gaiRarl W

(B) w3 [Ms uRuixu(wadiz Wiz se) - wails Wy
(C) MUSL YR HNAY w2 AHIRSIH 244 anagll

@250 2215 211 una 530 (Time Office) 17 Yau sANUL s1id HoR

3UidR A AU a5 vuRd sami 204 ©
(i) st el uzdz

(i) Neudt 1Rl

(i) Mewgt WA

(iv) 5120 HA AR HAHt 3uidRd sau-l uia wd

(A) 1A (i) 21 (i) (B) WA (i), (ii) 241 (iii)

@ Gi), Gii) 217 iv) (D) (i), (ii), (iii) 21 (iv) 1 %
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Every company, under regulated category (Table A) shall get cost records audited if the turnover
from all its products or services is or more and the aggregate turnover from individual

product or services is or more
(A) Rs. 20 crores; Rs. 10 crores
(B) Rs. 25 crores; Rs. 25 crores
.Rs. 50 crores; Rs. 25 crores

(D) Rs. 50 crores; Rs. 50 crores

With respect to concept of cost, which of the following statements is incorrect?

(A) Cost is a measurement, in monetary terms, of the amount of resources used for the purpose of

production of goods or rendering services
(B) Cost in simple words, means the total of all expenses.

.Cost is also defined as the amount of expenditure (actual but not notional) incurred on or
attributable to a given thing or to ascertain the cost of a given thing

(D) Cost is also different from value as cost is measured in terms of money whereas value in terms
of usefulness or utility of an article

Which of the following is not an example of direct expenses?

(A) Cost of rectifying defective work

(B) Experimental expenses of pilot projects

(C) Repairs and maintenance of plant obtained on hire

.Clerical staff and labour employed in Time Office and Security Office

Conversion Cost is defined as the sum of

(i) Raw material cost

(ii) Direct wages

(iii) Direct expenses

(iv) Overhead costs of converting raw material to the finished products
(A) Only (i) and (ii)

(B) Only (i), (ii) and (iii)

.Only (ii), (iii) and (iv)

(D) All (i), (ii), (iii) and (iv)
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(Alay usiR- usaz-u Aeeinl, AA-unidl sy [ viig 97

(A) AHid usdu 21583 AlAd WA 9, vied 3 walls usd anl Aldd uia W

(B) As(eus usdul 1 ALssU AU 24Ul Al AlssA Id AA18AL Gualdl s34 FdL s34
[aseuld yeu ©.

(C) Aoi[Ad usdR 2al WA & F ALssU 8 2ual uRRald W Aoilda glu &

@550 vl 2 sieulRs v el dAdl v 8, B s el At g W2 oaddl sia s
vl AHAL Al ),

.......... 2 2L5H A1 AR 56 VA € FHL AMLA UEIAL LA AHAA WA 8 F GAUleirL s AHAA

aY, deissIHE d-l 2A0m nd) v 9

[ EERTREE (B) WlEuL usdr

(C) UM U3dR (D) HIEAMLA USdR

.......... 2 Ui2HIEH WA 6 % w1 21 uel 458l sl 2d €9 i d aralds 51l usa 4 wlaffa
@\ usaz B) ydRaiRd usar

(C) MHIBL Y3dR (D) 2i81%d U3dR

A UsdR wgld-u Aeeini, NA-unidl sy [Qaq/lam-l vigmia 87

(i) A U3dR ugldal A A Ssu [Aldas Asul gt [Aldd usd- Rgidi 244 ulzui-u
GuAldL dls crvaid s30 s 69,

(i) BAUR AHIA U3AR Ugldrl Guaiol A cqqzaus-L [Alay 2sul gL sami 214 8 QIR d visuiHl
WEd v/ Sl gAUHT HEE $3 €9,

(i) AR AUIR UANS-UrL UGU AA5HL g1 BUALL SAUME U RUR UM U3AR Ugld de-iens Hi5[Ea vl
a213al, A [BHd [Raie A 458l 5200 249 dd wad sl Hee 52 6,

(iv) AL U3AR Ugldad UM U3dR A58l $al i dril BUALRL S, AR UdR A Awlddl -
BaMmda [daasi-u sel albl dd yasat sa1- carvilid saHi 2ud 9.

(A) 1AL (i) @~ () 21 v
(C) WA (i), (iii) 21 (iv) (D) (i), (ii), (i) 2 (iv) ot o

wEani 215 quaRu eARUA 16,000 KisHL 1A $AUHL 209 9. EIMA BUSHIML 5% ULHIRL BRI
8. R AY, S 2215 B 60% ULl 8 L 2,000 A5HL 69, 13,200 Yol adal sl 2uoul ulsami

HISAUH 2UeuL 89, 2L AHUU0U W2 AHLA Bewg (Equivalent Production).......... .
(A) 13,200 @14,400
(C) 15,200 (D) 16,000
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With respect to different types of cost, which of the following statements is incorrect?
(A) Marginal Cost is the aggregate of variable costs, i.e. prime cost plus variable overhead

(B) Opportunity cost is the value of alternatives foregone by adopting a particular strategy or
employing resources in specific manner

(C) Relevant costs are costs which are relevant for a specific purpose or situation
.Engineered Costs are hypothetical or notional costs, not involving cash outlay computed only
for the purpose of decision-making
is the aggregate cost related to a cost unit which consists of a group of similar articles
which maintains its identity throughout one or more stages of production
.Batch Costing (B) Process Costing
(C) Uniform Costing (D) Material Costing
are post-mortem costs ascertained after they have been incurred and they represent the
cost of actual operational performance
.Historical Costs (B) Predetermined Costs
(C) Standard Costs (D) Estimated Costs

With respect to Uniform costing, which of the following statement/s is/are incorrect?

(i) Uniform Costing may be defined as the application and use of the different costing principles
and procedures by different organizations under the same management

(ii) When the Uniform Costing is made use of by the different concerns the same management
helps to indicate the strengths and/or weaknesses of those concerns

(iii) When used by the member concerns of a trade association Uniform Costing helps to reduce
expenditure on a comparative marketing, to determine and follow a uniform pricing policy

(iv) Uniform Costing is defined as the preparation and use of standard cost, their comparison
with actual costs and the measurement and analysis of variances to their causes and points of

incidence
(A) Only (i) .Only (i) and (iv)
(C) Only (ii), (iii) and (iv) (D) All (i), (ii), (iii) and (iv)

In a process 16,000 units are introduced during a period. 5% of input is normal loss. Closing work
in progress 60% complete is 2,000 units. 13,200 completed units are transferred to next process.
Equivalent production for the period is

(A) 13,200 @ 14,400
(C) 15,200 (D) 16,000
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(i) AHid UM, S10UAL U0l 2 S0UAL RITR SN YRUis xRl dar w2l
HIYES 69,

(i) AL HIIAL ST Galds Ris viad a8 AoiBd Hildsu duel v andr 8.

(iii) 1511l Q& A 11512541 €2 B2 S18L IR EATAUHL 204 9

(iv) 10U AU A A UTURASLA, AHg2 A Fal % [Rgidl u 2uaRa © R 5 d aldd vl v
oed [RuR W v gald .

(A) HA (i) 21 (i)

(B) WA (i) 241 (iv)

@ ), i) A i)

(D) (i), (ii), (iii) 24 (iv) L1 %

.......... L NHIR AR 82 UR HUU[Sd NHIGL SALSL 2R WMRAMR SALSL AL dSldd, €.

(A) HYR [Ra [Qaaq

(B) 1R €2 [dua

(C) HYR Buoy [Qua

@2 sedana [Qaan

AL] vigrpuat (HReR eie) U AeelHi, AA-unidll sy (A wig 87
(A) At] 2ig1us B AR AAML AHIH S1A 20AE] Al 2 IR ST 2UA4, iElruat .

@120l vierzuani st 2 gsat vidL 217 st wRAu Raiay dum Sl sisidl seerusiil
AL AU O,

(C) ulA] E1WUA, B ARIA LA UA dLlS ULl UNHAUNL 2Ud 69, d AHAIUGU HSHL dHIH,
LI 215 YHNMAUL HSHUL A3 8 i UM, d HEER ViU Aol e2ld 6.

(D) E1%UA ALY AL HHAHL HSAL USAL, LA AALASL GIRL YU SEL1PUAT RUAHT AUHT 241 €9 2 %L
dui 2182 s 151l Rald Adinsis 1 wRua di dHi ARl scui 2ud 8.

.......... 2 viglgusld gl 8q Hie [AsRia Al 2is @l 6, A [dendrn asidl weedl [alay

2ig1guAl AU UM Girilaaldl 8g 8.

@-ic o 3

(B) ¥iglrux wleRist

(C) eI AU

(D) 4l vigimuat
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040. With respect to marginal costing, which of the following statements are correct?

(i) In marginal costing, margin of contribution and contribution ratio are the main yardsticks for
performance evaluation and for decision-making

(ii) In common parlance, contribution is the reward for the efforts of the entrepreneur or owner
of a business concern

(iii) Growth of profit or profitability rate is depicted by Angle of Incidence

(iv) A contribution breakeven chart is based on the same principles as a conventional breakeven
chart except for that it shows the fixed cost line instead of the variable cost line

(A) Only (i) and (iii)
(B) Only (i) and (iv)

@ onty ), Gi) and Gii)
(D) All (i), (i), (iiii) and (iv)

041. is the difference between the standard hours which should have been worked and the
hours actually worked, valued at the standard wage rate.

(A) Labour Mix Variance

(B) Labour Rate Variance

(C) Labour Yield Variance
.Labour Efficiency Variance

042. With respect to Master Budget, which of the following statements is incorrect?
(A) Master budget is the budget prepared to cover all the functions of the business organisation

.The master budget incorporates all the subsidiary functional budgets except the budgeted
Profit and Loss Account and Balance Sheet

(C) Master budget, also known as summary budget, combines all the budgets for a period into one
harmonious unit and thus, it shows the overall budget plan

(D) Before the budget plan is put into operation, the master budget is considered by the top
management and revised if the position of profit disclosed therein is not found to be satisfactory

043. A is a section of an organisation developed for the purpose of budgetary control, and is

intended to facilitate formulation of various budgets with the help of head of the department

.Budget Centre

(B) Budget Manual

(C) Budget Period

(D) Capital Budget
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Aauaslu (el ugla-n Aeciui, DA-uniddl sy [Qun vilg 92

@:inafa Rl ugld Hizwewudl azdls u2 2uaRd 9. 4 Aisal 2igl U 2aRd Hll, 2un
daadla (B0l ugld Ssu 2yl AsAS vidLl scumi 2ud €.

(B) sl [Sa1ell ugld AlssuuLl AA1a5i-1 Slaul 2is A4 6, ug A4 siedl asd -l

(C) Ay [Ba0ll ugld 2 AAas WU x4 vi8aal Yyt wd © g-udl da-i Gaeudl wAni
SEURTEREA

(D) Al [du0ll ugla-dl 2au- 21 wain sueid 9 dofl dmm ez v 5304, Al 4élaiA uadl
A5 du -l

aluniddl sul opRiid @isil SUsU-L ALRALAL YRIAR 35 ARAUHT uadl 12l?

(A) gai-S[5adl sl

(B) Hl&sl-l dpaiinr

@-vs vuaze @i

(D) 34 N2do 9yt

oA 518 A2+ t1onR [Bud 3. 25, Asdd Y& 3. 10 21 BlAs=3 €2 20% 8. BBlAs~s Buay yRinR.......... 8.
@s- (B) 10%

(C) 20% (D) 50%

53 UALS YAS 2, G310 Nl UASIL AE AL, DNAnnidl sun [Qau-l i 97
(i) ¢L3ion M uas 2 wist w3l oL il a2y siiglla 3 i $812 sald ©
(i) 53 NS UAS As3 2R (R0l ugld v 2uRd 9

A oY

(iii) “weufl [AequR- A8 d<ls A3 U UaAs 2 51 ouon-l [deduat i A3 vuale e ay
Guaicll 9

(iv) ¢l Hals uas s1alla YL AMM He sl A8 AUA8IR 53 €

(A) H1A (i) 21 (i)

(B) WA (i) 241 (iv)

(C) WA (i), (i) 2 (iii)

@ o). Gi), Gii) 211 (iv)

A58 Ul wssHi, srlalla Y- 5251204 2tisat w2, NA-uHial 59 [Qotd BHami 2uasgl 1l?
(A) 2059 Ysadd AU B2l (B) 2251 8213l

@: e i anrl (D) QUERIH A:IRL
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.Management Accounting is largely based on actual. It does not deal with estimates alone, and
thus total accuracy is fully ensured under Management Accounting

With respect to Management Accounting, which of the following statements is incorrect?

(B) Management Accounting is definitely a tool in the hands of management, but cannot replace
management.

(C) Management Accounting provides measure and reports to the management thereby facilitating
in attainment of the objective of the business

(D) The installation of Management Accounting is a costly affair so all the organizations, in
particular, small firms cannot afford.

Which of the following ratio is not regarded as long-term solvency ratio?

(A) Debt Equity Ratio

(B) Proprietary Ratio

.Interest Coverage Ratio

(D) Capital Gearing

If the market price of a share is Rs. 25, paid-up value is Rs. 10 and dividend rate is 20%.
The dividend yield ratio is

@:s (B) 10%

(C)20% (D) 50%

With respect to Cash flow statement and Fund flow statement, which of the following statements
are correct?

(i) Funds Flow Statement reveals the change in working capital between two Balance Sheet dates
(ii) Cash Flow Statement is based on cash basis of accounting

(iii) Cash Flow Statement as a tool of financial analysis is more useful for short-term analysis and
cash planning

(iv) Funds Flow Statement deals with all components of working capital

(A) Only (i) and (iii) (B) Only (i) and (iv)

(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)

In cash flow statement, for Adjustment for Working Capital changes, which of the following items
will not be added?

(A) Decrease in Prepaid Expenses

(B) Decrease in Stock

.Increase in Debtors

(D) Increase in Creditors
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049. uiou 3 Wi @zl A, DA-umisdl san [drunl i 697
(i) Su-lld 43l o Alell ay 515125 €ig AN
(i) YL a1 2a3u 2l ld 8dl s1eauni 2ud 5 Bl Ul AUEIR Al FLHHHUL A 2ud.
(iii) ere el uRRaldx-l or3RutdiA ugixll ana we il Hovi uRad-slla €ig ASx
(iv) 4l oy 2Adl d 8a3q HSA 5 dul Surly 2ig2 Hiadg YrdH AvH WHA S
(A) WA (i) 24 (i)
(B) "= (i), (i) 2 (iii)
(C) M= (i) 241 (iii)
@) Gi), (i) A iv) e
. 050. uenild Gudsdiri Aeeini, Nad-unidl sun [Qa-l = 92

(i) “weudla GRAsAA EBIT -l 24l 20U 25103l atil 21l dstudd EPS |l % quRl adls
uaild 530 s 6.

(i) U4l s11o0<) 51 A RaR wendla vil-i uReud Aensly Gruasdl Goj aw 6.

(i) 24 oLl [R22 28 8 2 ARu sl GRnA5d1l 80 21 520 dl EBIT i 1ML $3512 W2 EPS Hi
$3512 Ay ¢4l

(iv) =il ollos 2l Gl 6, d -ueudlu Brunasdidl san aid 9, g+l A4 €9 5 Udl ay BuR A 9 d-
FLH QIR 9,

(A) 1A (i) 24 (i)
@~ (), Gi) 211 Giv)
(C) M= (i) 241 (iii)
(D) (i), (i), (iii) 247 (iv) 181 %
051. Y-l usd-u Agedu, AA-umisdl sun [Qanql w2 87?
(i) HAD ugaR 24 sHRlAL HeH %32 £ A Yl wAHl s2-u1s €2 8
(i) HSL u3dR 1 A5 U s2-l S2e9-NUcdlrl HEUIS WIS AURUL a21arL € €9
(i) L usaR 2 wigse-u As1aAHi YA s1naefl wiSHl se-21s €2 ©
(iv) A M52 UL ANd- €2 8 % AT 6122 [FudA wanad wwal
(A) 1A (i) 21 (i)
(B) M1 (i), (i) A (iv)
@~ Gi), (i) 211 Giv)
(D) (i), (ii), (iii) 24 (iv) L1801 %
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With respect to features of an Appropriate Capital Structure, which of the following statements
are correct?

(i) The capital structure of the company should be most profitable

(ii) The pattern of capital structure should be so devised as to ensure that the firm does not run the
risk of becoming insolvent

(iii) The capital structure should be flexible to meet the requirements of changing conditions

(iv) The capital structure should be so devised that it involves minimum risk of loss of control of
the company

(A) Only (i) and (ii)

(B) Only (i), (ii) and (i)
(C) Only (ii) and (iii)
@1 ), i), Gii) and (iv)

With respect to Financial Leverage, which of the following statements are correct?

(i) The Financial Leverage may be defined as a % increase in EPS associated with a given
percentage increase in the level of EBIT

(ii) Financial leverage emerges as a result of fixed financial charge against the operating profits of
the firm.

(iii) Other things remaining constant, lower the degree of financial leverage, higher will be the
change in EPS for same change in EBIT

(iv) Higher the interest burden, higher is the degree of financial leverage, which means more a
firm borrows more is its risk

(A) Only (i) and (ii)
@oniy ), i) and (iv)
(C) Only (ii) and (iii)

(D) All (i), (i), (iii) and (iv)

With respect to Cost of Capital, which of the following statements are correct?

(i) Cost of Capital is the maximum required rate of earnings or the cut-off rate of capital expenditure
(ii) Cost of Capital is the discount rate used in evaluating the desirability of the investment project
(iii) The Cost of Capital is a cut-off rate for the allocation of capital to investments of projects
(iv) It is the rate of return on a project that will leave unchanged the market price of the stock
(A) Only (i) and (ii)

(B) Only (i), (ii) and (iv)

.Only (ii) , (iii) and (iv)

(D) All (i), (ii), (iii) and (iv)
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052.

053.

054.

055.

A5 Wi sl Se9ludl A58l s W2 ud 2uu qHuuoudl ugld dgeind, QAunidl su [Qu-
AL ¢97?

(i) A1 EuUAL, Y5 s d ALl AlsBia 24 causuel An8lldl uudtd ugld ©

(ii) A5 WF 52 Heuis sl d Alefl 100 ugla2inidl 245 ©

(iii) URel 20 AHA sur [Rely darmi Guailell 8, uHucul F2dl divil WFs2 vedl ay uR
(iv) d 3l wAui A ey uReinn Lu-ui @ ©

@~ ) 211 Gi) (B) WA (i), (ii) 241 (iii)

(C) WA (i) A (i) (D) (i), (ii), (iii) 241 (iv) L1 %

g [Rasda- deeu, Da-unidl suu[Qal w97

(i) 51 Pasd g Masd a3 R o aollgd srami 2ud 8 ol duidl 565 200Eq Bud Hoaw Sl
Al AR S, HIZ S1Y AU HHIAL AHIRL AR ASHT QUAAHE 1Y

(i) 516 [Masa g Rasd a5 aollgd sani 2ud 6 w12 d Masd Youd duir- 8q 2 AvaHi
2ud €9

(iii) 16 Masad g Masd adls aollga saumi 2ud 8 s d Ruilzer amuousn ug) u -l
g UAA BHd s sia 6.

(iv) 516 [Rasdad g Masd adls adllgd saumi 2ud 6 w12 d [Br-ulacifd Ass xaqn A5 A1sa
Sy 8

(A) 1A (i) 24 (i) (B) WA (i), (ii) 241 (iii)

(C) WA (i) A (iii) @ o). i), Gii) 211 (iv)

.......... gIRL AL sUML 20dd BlAs=s hdddl HIse yoror, A+ oioR [Bud R[as~s ysasll ur

2uRa ), 2124 5 [RBlag=s Hla x1uga 9.

(A) HIARIA A3 (B) BHA Ale2R

(C) A1 244 §3 @5z 27 W Ra2uAA

24l (Tally) 251822 Usoy-it digedu, NA-uniell 53 [ viig 872

(A) 4NRid {ld Tally.ERP 9 Hi Aldlu cuBa usi2l €.

(B) ERP »i2d vi-26% [Raiad vl

.ée[lv{l YUY A UR, Alt + F4 eoidld adHiq, quaus sieddl as o

(D) 2s16[re01 A2l 8¢ Yd Ad 2isoUBa-dl AsnSA YR saunl &
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053.

054.

055.

With respect to the payback period method to determine the desirability of an investment project,
which of the following statements are correct?

(i) It is the most popular and widely recognized traditional methods of evaluating the investment
proposals

(ii) It is one of the easiest methods of evaluating the investment projects

(iii) The knowledge of payback period is useful in decision-making, the longer the period better
the project

(iv) It does take into account the interest factor involved in the capital outlay
@onty () and Gi)

(B) Only (i), (ii) and (iii)

(C) Only (ii) and (iii)

(D) All (i), (ii), (iii) and (iv)

With respect to current assets, which of the following statements are correct?

(i) An asset is classified as current asset when it is expected to be realised or intends to be sold or
consumed in normal operating cycle of the organisation

(ii) An asset is classified as current asset when the asset is held primarily for the purpose of trading

(iii) An asset is classified as current asset when it is expected to be realised within twelve months
after the reporting period

(iv) An asset is classified as current asset when it is non-restricted cash or cash equivalent

(A) Only (i) and (ii) (B) Only (i), (ii) and (iii)

(C) Only (ii) and (iii) .All (i), (ii), (iii) and (iv)

According to Dividend Irrelevancy Model, as founded by , the market price of the share
does not depend on the dividend payout, i.e. the dividend policy is irrelevant

(A) Myron Gordon

(B) James Walter

(C) Graham and Dodd

.Miller and Modigliani

With respect to Tally accounting package, which of the following statements is incorrect?
(A) By default there are twenty-four voucher types in Tally. ERP 9

(B) ERP stands for Enterprise Resource Planning

.On Tally’s first screen, Current period can be changed by pressing Alt + F4

(D) Accounting software is basically aimed to ensure arithmetical accuracy

[BCH-2] [PT.O.
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056.

057.

058.

059.

060.

061.

24l w5620 Uso-il Ae®Hi, NA-uniddl sy [Aaq w2 97

(A) wou-l [ordi 32 wre: ami »ud ¢

(B) wauRHl [Qoidl daulRs wike 321Mi 2ud ¢

@ o5 usi2- ysacl Auls wze: Jawmi 20d 8

(D) TDS U512+l ysaeh-l 5621 W2 321l 204 &

M. A, desifan agmad GSTHL [Aeuar 297 531 24 2uuRu 2 HIG drd, 24 AdL 52 (S84 A=
AldA 25u) Wisa Bond s w2 s Al -1 53,

@:000 (B) 2005

(©) 2009 (D) 2011

.......... UL, 5vs 1512 [Brsd RUFUBURL 211 B2 AH2 U s 2125 sl AU $3), FL..........
Hi A1 11091 Ayl Ad AslAd ‘GSTHl suryds e 53N,

@:003; 2004 (B) 2006; 2007

(C) 2009; 2010 (D) 2015; 2016

50% 4l ay ApUL =L Bran sigiell e oue, sitrr (12241 YURl) B, 2014 4 84l a6R, 20160

219 guldAl quld 1ol 24 d vinra (.......... ) 2AlA[RuH, 2016 61l 21, BEL FURAHI GST UL 1AL
Wl Wisul sl

@ 10104 st (B) 1064 %413\

(C) 12141 YRl (D) 12341 YR

AA-Hidl sun Al A1 ACUBA AU GST SIUEL UAIR $UR UAH AFALHL SdL?

(i) dedusu (i) A2 (i) HSIR (iv) 3L%2Ud
@+ () 21 i) (B) WA (i) A1 (iii)
(C) HA (i) 241 (iii) (D) H1AA (iii) 21 (iv)

.......... AL A% %3 21 512412 gIRL SGST SIUEL UAR SAUHL UL &ell, B CGST 21 IGST d2g5H
GSTA J&K YAl donadl 112 61812 W3UML Al .

(A) 1dl s, 2017 (B) 3% a8, 2017

@50 s, 2017 (D) 154 ogeuss, 2017
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060.

061.

With respect to Tally accounting package, which of the following statements is correct?
(A) Salary details fall in Capital Master Data

(B) Salary details fall in Statutory Master Data

.TDS Nature of Payments falls in Statutory Master Data

(D) TDS Nature of Payments falls in Accounting Master Data

In the year , the then Prime Minister mooted the concept of GST and set up a committee

to design Goods and Services Tax model for our country.

@:000 (B) 2005

(C) 2009 (D) 2011

In , the Central Government formed a task force on Fiscal Responsibility and Budget
Management, which in strongly recommended fully integrated ‘GST’ on national basis.
.2003; 2004 (B) 20065 2007

(C) 2009; 2010 (D) 2015; 2016

Subsequent to ratification of the Bill by more than 50% of the States, Constitution
(122" Amendment) Bill, 2014 received the assent of the President on gth September, 2016 and
became Constitution ( ) Act, 2016, which paved the way for introduction of GST in India.

.1015t Amendment
(B) 106th Amendment
(C) 1215t Amendment

(D) 1237d Amendment

Which of the following states were among the first ones to pass their respective State GST Laws?

(i) Telengana (ii) Rajasthan (iii) Maharashtra (iv) Gujarat

@oniy ) and Gi) (B) Only (i), and (iii)

(C) Only (ii) and (iii) (D) Only (iii) and (iv)

On SGST Act was passed by Jammu and Kashmir, CGST and IGST Ordinances

promulgated to extend GST to J&K.
(A) 1% July, 2017 (B) 37 July, 2017

@:s: 1uy, 2017 (D) 15% July, 2017

[BCH-2] rro. B3
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062.

063.

064.

06S.

GST - deeini, NA-unigdl s (s e 9?
(i) MR $YAA GST HIA U €9

(i) WRRUA, $vs i A%UL V15 A1 AV AU HIAAHIAL $ULA YRASL UR A i U GST
QYA 69, % A% AL SwAAd UBAHL AU ),

(i) GST 5% 11 A%UL IR VA5 ALEUH 21 8

(iv) Svsel URL ABU-AUAL LA YR 2540 Aduictal-ll AL 9 A AU UBL 5 AUl HIS ATl HUUUHL
d) €9

(A) WA (i) 21 (i) (B) WA (i), (ii) 241 (iii)

(C) HAA (i) A1 (i) @ o). i), Gii) 21 iv) s

GST -t e edui, dA-uniel sui [Qau-l 2 9?

(i) GST 2 dided 214Rd (destination-based) 52 £ B HIAAUIHIL 24 A YASL UR ALOL A €9
(i) CGST ay&dl HI2 5 o S1UEL 89 - CGST 152, 2017.

(i) (e [ Swaulia uga (2124 5 vigiHiq 2 [Asiour 2ryil, (el @9lR) UTGST ayaa
2 UGST 2152, 2017 g1R1 dd i 69,

(iv) %A 21 SseulAd ugal dx-l uldidl [Qanueui (A2d 5 y3adl, dadlu asil) wa SGST aydal
H12 Uldirl GST $IUEL 8.

@ () >4 i) (B) WA (i), (ii) 241 (iii)

(C) WA (i) 1 (i) (D) (i), (ii), (iii) 24 (iv) L4 o

HSN il Gualal GST St Hietq adlls@ s e 2u €. HSN -l 2Ad.........

(A) Harmonised Subset of Numbering

(B) Harmonised Subset of Nomenclature

.Harmonised System of Nomenclature

(D) Historical System of Nomenclature

GST - Aeedui, dAunil sui [Qau-l ua 9?
(i) GST i dlded 2uaRd quna 52 siadl, SGST -0 2uas iy d BUeisdL A%ULA 1A 69,

(i) 2UALA $7UR AAHL AAAIR dril gL $AUHL 20l AHidR-2A%U WLl U AsaHl 20dd IGST il
(32 Hoaaidl e92 €.

(i) 2UdR-A%U dA1A-] 2098 [A51A 5L A%AA WA D

(iv) 5% SGST / UTGST-l Ysaelui aundl IGSTL 5[32 2uaid 5212 A%uA 21mus2 53 .
(A) |3 (i) 1A (i) (B) WA (i), (i) A (i)

@ () 211 v (D) (i), (ii), (iii) 24 (iv) L1401 %
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064.

06S.

With respect to GST, which of the following statements are correct?
(i) India has adopted a Dual GST Model

(ii) Consequently, Centre and States simultaneously levy GST on taxable supply of goods or
services or both, which takes place within a State or Union Territory

(iii) GST is imposed concurrently by the Centre and States

(iv) The Centre also has the power to tax intra-state sales & States are also empowered to tax

services
(A) Only (i) and (ii) (B) Only (i), (ii) and (i)
(C) Only (ii) and (i) @1 ), i), Gii) and (iv)

With respect to GST, which of the following statements are correct?
(i) GST is a destination-based tax applicable on supply of goods and services
(ii) There is single legislation - CGST Act, 2017 — for levying CGST.

(iii) Union Territories without legislatures (i.e. Andaman and Nicobar Islands, Delhi etc.) are
governed by UGST Act, 2017 for levying UTGST

(iv) States and Union territories with their own legislatures (i.e. Puducherry, Lakshadweep etc.)
have their own GST legislation for levying SGST

@ onty ) and Gi)

(B) Only (i), (ii) and (iii)
(C) Only (ii) and (iii)

(D) All (i), (ii), (iii) and (iv)

HSN is used for classifying the goods under the GST. HSN stands for
(A) Harmonised Subset of Numbering (B) Harmonised Subset of Nomenclature

.Harmonised System of Nomenclature (D) Historical System of Nomenclature

With respect to GST, which of the following statements are correct?

(i) Since GST is a destination-based consumption tax, revenue of SGST ordinarily accrues to the
consuming states.

(ii) The seller in the importing State is allowed to avail the credit of IGST paid on inter-State
purchases made by him

(iii) The revenue of inter-State sale does accrue to the exporting State

(iv) The Centre transfers to the importing State the credit of IGST used in payments of
SGST/UTGST

(A) Only (i) and (ii) (B) Only (i), (ii) and (iii)
@onty ) and (iv) (D) Al (i), (ii), (iii) and (iv)

[BCH-2] rro. [EJ
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067.

068.

069.

070.

HIE 21 AL 52 (AU AndR) A 2182, 2017 860 [l Aaraus il 21412, A%A B dAidlvidl SGST
SIUEL AHAUL Q1A 9 d alwl.......... QML AHUDUU HIS A%BUA AULAR Y WLSAHE 21 €9,

(A)3 (B) 4 @: D)7
GST - A eui, A-umidl sau [Qtunl 2 97

(i) Ml quRig HiHl 2uesisilas €13 GST el t8IR €

(i) U2UAuH 53 GST - &l 6181 8

(iiii) AARA U GST L &l ;IR 8

(iv) AHLg GST UL &2l t8IR €9

(A) WA (i) 24 (i) @ ), (i) 2 Gii)

(C) WA (i) 1 (iv) (D) (i), (i), (iii) A1 (iv) 10 %
AA-umiddl sul Sdla 52 24 AU 5 GSTHI A2 $AUHT 20Ul dll?

(i) Av2& A5 333

(i) CVD 241 vt CVD

(i) W2 52 (RS A G1RL AYAUH 2iadl 25 [Rcun)

(iv) Qi2, AU A FOUR UR 42

(A) WA (i) 24 (i) (B) WA (i), (ii) 241 (iii)
(C) HA (i) 24 (iv) @), i), Gii) 211 iv) e
AUJWIE.......... 55l 53 69 5 HAR-APU AUIR A ARy eARUA YA U GST HIRA AR gIRL

AYAUHL 202 27 S5 SANT 202 27 d SIUEL GIRL AAUE GIRL A5l 52U 204 d Ad I3A AU
AldA 251 516 HAMBI UR Srs i AL 422 agAAHI 2448,

(A) 246 (B) 246 A (C) 254 @265 A

GST -u Ageiui, AA-nnigdl s [Aan-i e 9?

(i) titRRll 4 279A Aruldr S i AU AYSA 511 A 5 3 A3 Aldu 251 516[Rua-
2L sl ATl 20U 8.

(ii) GST $16[F1a aaidl o2 124l 023612, 2016 1L A% AHAUT 20
(i) 0eguldxt 154 w2012, 201671 A% GST 516[Faa-l -1 531

(iv) GST $18[ual €35 [l 8192 244 HASIA $-UR1 URAU MIRIBA HarL 6 gdlaial sl 2Aie01 -
Sl da ol gL A 2ud 6.

(A) H=A (i) 2 (i) @~ (), Gi) > Gii)
(C) M2 (i) 241 (iv) (D) (i), (ii), (iii) 24 (iv) L1401 %
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070.

As per the provisions specified under the Goods and Services Tax (Compensation to States) Cess
Act, 2017, Compensation is to be provided to a State for a period of years from the date
on which the State brings SGST Act into force.

A)3 (B) 4
@:; (D)7

With respect to GST, which of the following statements are correct?

(i) Alcoholic liquor for human consumption is outside the realm of GST

(ii) Petroleum crude is outside the realm of GST

(iii) Natural gas is outside the realm of GST

(iv) Tobacco is outside the realm of GST

(A) Only (i) and (ii) .Only (i), (ii) and (iii)
(C) Only (i) and (iv) (D) All (i), (ii), (iii) and (iv)

Which of the following Central taxes and State taxes were subsumed in the GST?
(i) Central Excise Duty

(ii) CVD and Special CVD

(iii) Entertainment Tax (except those levied by local bodies)

(iv) Tax on lottery, betting and gambling

(A) Only (i) and (ii) (B) Only (i), (ii) and (iii)
(C) Only (i) and (iv) .All (i), (ii), (iii) and (iv)
Article stipulates that GST on supplies in the course of inter-State trade or commerce

shall be levied and collected by the Government of India and such shall be apportioned between
the Union and the States in the manner as may be provided by Parliament by law on the
recommendations of the Goods and Services Tax Council.

(A) 246 (B) 246A
(C) 254 @269

With respect to GST, which of the following statements are correct?

(i) Article 279A of the Constitution empowers the President to constitute a joint forum of the
Centre and States namely, Goods & Services Tax Council

(i) The provisions relating to GST Council came into force on 12 September, 2016
(iii) President constituted the GST Council on 15" September, 2016

(iv) Every decision of the GST Council is taken by a majority of not less than two-thirds of the
weighted votes of the members present and voting

(A) Only (i) and (iii) @oniy G, Gi) and i)
(C) Only (ii) and (iv) (D) All (i), (ii), (iii) and (iv)

[BCH-2] rro. B
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072.

073.

074.

.......... dl ay 2-{2ilar 42ad A% caqui 1dl xAMa, 20219 AURs1S3 Brosdu-g-Broada casil
w2 sABradusl SAs2iMs S-aldu $9y s2a1-1 284,

@:. 50 5218 (B) 3L 100 5313

(C) 3. 200 5213 (D) 3L. 500 5213

AAnidl s [ 2 9?
(i) 2usell ad 2i2d £ a¥ 1) xAkaqu [Bad a3 adi 12 vl Auaouo
(i) 2nasd2n 8d W wensla ad (1l xARBadl 314 w2l ) wesan au-l gH x4 s%uid 9.

(iii) % ML 205 1A 69, A wiesel ad dl3 2ANMAHE 21d 9 24 20Ul Al 5 FHE Bas HeuisT
sl 204 8. d- 28160 Al a3 s 2ud ©

(iv) Weog aud »i2d 25120l au ugl dd % 2iag weudlu aw

(A) = (i) 2 (i) @ (), (i) 2 Gii)

(C) M2 (i) 21 (iv) (D) @), (i), (iii) 247 (iv) 141 o

2ua5d20 4121, 19610 564 2(31) Ss0n calda-dl carval Hyaror, s~ alddui umda aa 8-
(i) 2Ll (i) Wldtl (iii) YyRalid (iv) tUR 516[Faa
(A) H= (i) 2 (i)

(B) WA (i), (i) 24 (i)

(C) HAA (i) 241 (iv)

@ o). i), Gii) 211 iv)

2ua5dU HIRL, 1961 saH 2(24) 801 2uas-l carva Yaror A-uniddl sau (Al i 872

(i) 2UAS ASSUL A 14 U512 WH A5 AS

(i) 215 [Qeuanidl ollon [deuoami Asidl Seied sA@ Ha, dauddl 20uas adls awiaHi 2uqsl
(i) 20as 2l LAAHIAL 2 sl LA SIS A3 O,

(iv) 2UASHE SIRAHS BUcSL URL A ALY 69

(A) WA (i) 24 (i)

@+ ), Gii) 21 (iv)

(C) HA (i) 241 (iii)

(D) (i), (ii), (iii) @A (iv) o181 %
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Registered businesses having turnover greater than will have to mandatorily issue
electronic invoices for notified business-to-business transactions from 15t April, 2021

.Rs. 50 crore (B) Rs. 100 crore
(C) Rs. 200 crore (D) Rs. 500 crore

Which of the following statements are correct?
(i) Assessment year means the period of 12 months commencing on the 1° day of April every year

(ii) Itis mandatory for all assessees to follow financial year (from 1°* April to 31 March) as previous
year for Income-Tax purpose

(iii) The year in which income is earned is known as Previous Year and the next year in which
income is assessed is known as Assessment Year

(iv) Previous Year means the financial year immediately succeeding the Assessment Year

(A) Only (i) and (iii)

.Only (i), (ii) and (iii)

(C) Only (ii) and (iv)

(D) All (i), (ii), (iii) and (iv)

As per the definition of PERSON under Section 2(31) of the Income Tax Act, 1961, Artificial
Juridical Person includes

(i) Deities (ii) Idols (iii) University (iv) Bar Council

(A) Only (i) and (iii)

(B) Only (i), (ii) and (iii)

(C) Only (ii) and (iv)

@ ), i), Gii) and (iv)

As per the definition of income under Section 2(24) of the Income Tax Act, 1961 which of the
following statements are correct?

(i) Income may be received in cash or in kind

(ii) Goods transferred from one department to another department at a profit, shall be treated as
income of the business

(iii) Income may be from a temporary source or from a permanent source.
(iv) Income also includes negative income

(A) Only (i) and (ii)

.Only (i), (iii) and (iv)

(C) Only (ii) and (iii)

(D) All (i), (ii), (iii) and (iv)
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07s.

. 076.

077.

AR IR, 1961 )l 5AH 288B S50 2541 AG[F321-2s -1 Aeetui, NA-unidl su 2wl 9?

54 wRuR sl gaeieldl (3.) AG[F3o1-21s 52+ wauteidl (3.)
(i) 14,876.49 14,880

(ii) 16,452.50 16,450

(iii) 18,732.92 18,740

(iv) 15,138.75 15,130

@ () >4 Gi) (B) WA (i), (iii) 241 (iv)

(C) WA (i) &A1 (iii) (D) (i), (ii), (iii) A1 (iv) o1 %

A=-nidl sa (sl 0 9?

(i) 4l 2uas 52 W wAsierR dl, Qa5 semi [ARre Ad 458 sami 2u iy, suR, vsydl
2a54 Yl3d 2 2uadl 44, Raw 5 semi [ dd 155l sami 2u sia.

(i) tew e gL YA uiedl ygaai 2ud dl wel waur sHAl- siaHl 48y dl 2nas 8ol

(i) Wil 151 % ayand-dl ulsami auns onu 8, sld. vugl 24 vieinidl Aued), ulEunHi wHa
YA auad LunHi dlan [ 2uas adls sua o

A Y Y

(iv) %L 518 ul3d d-u aui 35132 DA ddls v w2 [Riew wdle 6, %t weyndl daciui 2uqdl, di d

Y e Y

Y8l 2uas orud uig ol d o [Qlew 208 4R gL daami 2048l di d d- 1dydl 2uas s
(A) WA (i) A (i) (B) ML (i), (iii) 21 (iv)
(C) A (i) 21 (iii) @), i), i) A7 iv) e
£ AU, 5313, 52 - AeL, DaAunioll sun Q- vie 972

(i) $24201 201 2 (Al YB3, suid, [Rei2 217 Asd G121 S YA wsaHi 20dd Ayl il ad-
53 FAUGLER] BLsarl WL 69,

(i) 5 A %5 sAUUA O Bl 611 AR s1ug1Hi QAL 92 56u2AHL s1uguR Ld A A 9,

N

(i) staetL 24 Alds oid d $AN dASIULAUR 69,
(iv) 5292 A% A SIAEA dlgUl [ dl cim Aausll v e,
(A) 1A (i) 24 (i) (B) WA (i), (iii) 241 (iv)

@ i) 217 v (D) (i), (ii), (iii) 24 (iv) L1401 %
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075. With respect to ROUNDING-OFF OF TAX under Section 288B of Income Tax Act, 1961, which of
the following are correct?

No. Tax liability actually worked out (Rs.) Tax liability as rounded off (Rs.)
@) 14,876.49 14,880

(ii) 16,452.50 16,450

(iii) 18,732.92 18,740

@iv) 15,138.75 15,130

.Only (i) and (ii) (B) Only (i), (iii) and (iv)

(C) Only (ii) and (iii) (D) All (i), (ii), (iii) and (iv)

m 076. Which of the following statements are correct?

(i) A capital receipt is not liable to tax, unless specifically provided in the Act, whereas, a revenue

receipt is not exempted, unless specifically provided in the Act

(ii) Salary even if paid out of capital by a new business will be a revenue receipt in the hands
of employee

(iii) Profits from capital which is consumed and exhausted in the process of realization,
e.g. royalties from mines and quarries, is taxable as income regardless of the consumption of
capital involved in the process

(iv) If a person purchases a piece of sculpture to keep as decoration piece in his house, if sold later
on, will bring capital receipt but if the same sculpture is sold by an art dealer it will be his
revenue receipt

(A) Only (i) and (ii) (B) Only (i), (iii) and (iv)
(C) Only (ii) and (iii) .All (i), (ii), (iii) and (iv)

077. With respect to Tax Planning, Tax Evasion, Tax Avoidance, which of the following statements are
incorrect?

(i) Tax planning is a way to reduce tax liability by taking full advantages provided by the Act
through various exemptions, deductions, rebates & relief

(ii) Tax evasion is an exercise by which the assessee legally takes advantage of the loopholes in the
Act

(iii) Tax evasion is illegal, both in script & moral
(iv) Tax planning is a practice of bending the law without breaking it
(A) Only (i) and (ii) (B) Only (i), (iii) and (iv)

@ onty Gi) and (iv) (D) All (i), (ii), (iii) and (iv)
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078.

079.

080.

081.

AA-umidl su1 suui sau 874 Ssu 92 (Rebate) H?

s+ R 2612l £%5%1 alils g& 2uas
@) U3 (50 adl) 1l 3. 4,90,000
(i) 3d (65 ail) 2l 3. 5,12,000
(i) 3 (85 anl) B2l 3. 4,50,000
(iv) (&g xlamisa g 2Wdla 3. 4,25,000
& i) (B) WA (i) A1 (iv)

(C) WA (i) (D) (i), (i), (iii) 247 (iv) L8 %

6101 £ AL, DAl sun [Qau-l = 97
(i) s2e1dudl 8 s1a1 el [Rald d-l 2uasl sutaadid & 458 52 8

(ii) al3a-l 881011 ool [Rald 21y wesar auell oflog wiesen anl Yol vrecudl el (SHa uxn
W ¥9)

(i) Al3d 2uas 245 2ld WS WA A 21y ld W2 G-l L €IS a3

(iv) 215 Al3d 25 52l ay 2AH] AHIA SR %00 4R1dl a5 ]

(A) Wt (i) 241 (i) (B) 1L (i), (iii) 241 (iv)

@~ (i) 211 i) D) (i), (ii), (iii) A (iv) L4 %
QAmidl 55 2uas Bra-24la w2 s 9l?

(A) HIRAML B d 2iacu GuHd HAd 2 WH AL WH HiAUH 2iadl 208

(B) U5 HIRd 1812 GUUFd U g HIRAHD WH 2 €9 24l WH 28 Slalg, HiAUHE 2ud
(C) 2uas MIRAHE Ul e GulFd Ml 2Ud €9 UTd HIRA G812 UIH AL €9

@)z FRilBid cacrua 2 cudui 20l g4 g1 aRd- sk Gl d 2w aidl 2uas

A2A-uniel sa (-l e 9?

(i) sl 242 550 UR % WAR dl5 530 A5 6 A Ysaull s2UR HlAs Sld x4 AR Ysaru-l
s Slu

(i) GuellerRA d-l Udlmigll nolal uour, uduR d<ls surst 84 Al

(i) (33522 6165 S “wwu 2tldinioll 2uas” s st suA 9.

(iv) ~nlan Hong He-dug “uduR” L slius Ssm swA 8

(A) 1A (i) 24 (i) (B) WA (i), (iii) 241 (iv)

(C) M= (i) A (i) @ ). i), Gii) 211 iv) e
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079.

080.

081.

In which of the following cases, Rebate under Section 87A will be available?

Case No.  Assessee Residential status  Annual Total Income
(i) Individual (age 50 years) Resident Rs. 4,90,000

(ii) Individual (age 65 years) Resident Rs. 5,12,000

(iii) Individual (age 85 years) Non-resident Rs. 4,50,000

(iv) HUF Resident Rs. 4,25,000
.Only (i) (B) Only (i) and (iv)

(C) Only (ii) (D) All (i), (ii), (iii) and (iv)

With respect to residential status, which of the following statements are correct?
(i) Residential status of an assessee determines the scope of chargeability of his income

(ii) Residential status of a person doesn’t vary (always remains same) from one previous year to
another previous year

(iii) A person cannot be a resident for one source of income and non-resident for another source
(iv) A person cannot have same residential status in more than one country
(A) Only (i) and (ii) (B) Only (i), (iii) and (iv)

@ onty () and ii) (D) All (i), (i), (iii) and (iv)

Which of the following income is not-taxable for Non-resident?

(A) Income accrued or deemed to be accrued and received or deemed to be received in India

(B) Income accrued outside India but received or deemed to be received in India

(C) Income accrued or deemed to be accrued in India but received outside India

.Income accrued and received outside India from a business controlled in or profession set-up
in India

Which of the following statements are correct?

(i) A payment can be construed as salary only if the payer is the employer and payee is the employee
of the payer

(ii) Salary received by a partner from its firm shall not be taxable as salary

(iii) Directors’ sitting fee is taxable under the head “Income from other sources”.
(iv) Remuneration received by judges is taxable under the head “Salaries”

(A) Only (i) and (ii) (B) Only (i), (iii) and (iv)

(C) Only (i) and (iii) .All (i), (ii), (iii) and (iv)
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082.

083.

084.

08S.

Al WyARua yeu alls 3. 1,32,000

agefl (g awlls 3. 1,17,000

HA eug awlls 3. 1,02,000

BRUR HOLULAL ML 3. 1,12,000

BuRisd 2uud WAL udl , Wi Masd-] Al alls yeu 2 a9l ?

(A) 3. 1,02,000 @:. 1.12,000

(C) 3.1,17,000 (D) 3. 1,32,000

25 audly su-l2 3. 50,000 v AYRL 1 [@ARr2 Ad Aul-- Sd W sul 8. 2 ISR s4H 601

2L v HIZ SIS SUldrl Elal SRUML el 8l 2a5dR) “IRL, 1961+ saH 35DD 60 BudsY sulds
uHLRL 9 82l ?

@:. 10,000 (B) 3. 20,000

(C) 3. 25,000 (D) 3. 50,000

DAl sa BRumi, ol Masd $eeaddl dilv udai 18 w2 Avani 2udl €id di dq s
ol 4l Aasd (STCA) a3 2Ainvicumi 20a9 1dl?

(i) a2 s su-flui Sl3adl

(i) 2[&23 Su-lHi Us AR

(i) RaR Rasa ol 21 11 21 vid

(iv) MRA-5urt oli=gA (MA 5123 SlA 5 4 lu)

(A) WA (i) @ iv

(C) M= (i) A (i) (D) {12 (i) 241 (iv)

2145421 121, 1961+ 44 64(1A) 8601 uoll2 tucs-l 2uas- AeelHi, NA-uniddl sy/su [Qamy/Qa-
wigfuilel 97

(i) o0R tunsll 2uas Hidl-Radl nas w18 Aisami 2ua F-l a4 2uas (0 2uas Aldd) auR €.

(i) 1 MR euns uasd QIRL, 1961 L 80U 8501 GedBid ugla-l sidua [asaioiaedl N3 siu dl
salBiaL gt @y ag .

(iii) %L w02 U5 gIRL SRAME 20AQ STUR HyAa s SR8 2uas Glell wa vaw dd GulFd
s 204 dl saltioL gtorans ) agl 1l

(iv) %L 12 cunsl gandy, ulaew, QR suq 2aa x1q™an sl 2uas Glell i »aal dd Guilsd
sUML 204 dl sat10) Ao @y Al dl.

[ BIER0) (B) HIA (iv)
(C) M= (i) A (i) (D) {12 (i) 241 (iv)
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082.

083.

084.

08s5.

Gross Municipal value for the whole year Rs. 1,32,000

Fair rent for the whole year Rs. 1,17,000

Standard rent (for whole year) Rs. 1,02,000

Actual rent receivable Rs. 1,12,000

From the information provided above, what will be the Gross Annual Value of a house property?
(A) Rs. 1,02,000 @rs. 1,12,000

(O) Rs. 1,17,000 (D) Rs. 1,32,000

An Indian company has incurred Rs. 50,000 as expenditure wholly & exclusively for the purpose

of amalgamation. No deduction has been claimed for such expenses under any other Section.
What will be the Quantum of deduction available under Section 35DD of Income Tax Act, 1961?

.Rs. 10,000 (B) Rs. 20,000

(C) Rs. 25,000 (D) Rs. 50,000

In which of the following case/s, an asset shall not be termed as a Short-Term Capital Asset (STCA)
if it is held for 18 months before the date of transfer?

(i) Equity in an unlisted company

(ii) Preference share in an unlisted company

(iii) Immovable property being land or building or both

(iv) Zero-Coupon Bonds (whether quoted or not)

(A) Only (i) .Only (@iv)

(C) Only (i) and (iii) (D) Only (ii) and (iv)

With respect to INCOME OF MINOR CHILD under Section 64(1A) of Income Tax Act, 1961,
which of the following statement/s is/are incorrect?

(i) Income of a minor child shall be clubbed with income of the parent whose total income (including
this income) is higher

(ii) The clubbing provision shall not apply if the minor child is suffering from any disability of
nature specified u/s 80U of Income Tax Act, 1961

(iii) The clubbing provision shall not apply if the income arises or accrues to the minor child due
to any manual work done by him

(iv) The clubbing provision shall not apply if the income arises or accrues to the minor child due
to his skill, talent, specialised knowledge or experience

@o-nyy i) (B) Only (iv)
(C) Only (i) and (iii) (D) Only (ii) and (iv)
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086.

D .

088.

259 IRL, 1961 L sam 41(5) -l il Al 451 A4 Haunil oi8 a1 A A6 [Ed g5 A2 s
Aecdn, NaAunidl sun BRuni gsAq 2uam auRdl asg 14l?

(i) [Bg wAMsd gl cuay i [Sg wlAmsd gZuql cuauin [8g 2xlAmsd g2oi sdl gl Qami
204 €9

(i) HUASAL cuqu 2l Uél g1l Al 2ud 9 Fui wilds cudlleiR siu &

(iii) 24 UL gL vugeudl uél adls

(iv) 25 Udl ol Ul cuqaua Udl-u cuelleRimisdl 245 gL ddimi »ud €9

(A) 1A (i) 21 (i) (B) WA (i) 241 (iv)

(C) WA (i) 1A (i) @) i), (i) 4 v) e
R Al sl 244 HUR L 2AsNs0-1 Aeeini, DA-nnisdl s [Asu-i e 97?

(i) Al A apnanidl 43 u 2isx suAd WA s wld 9.

(ii) [Qenefl2i ol Glud- wual wuudl a3 i sai uel 2 HR Al 2sBid scumi 2ud 8 d wals
wedl 9.

(iii) $El usa-il (3040 WSl 2isBid sa-) 2 ugld wsnadl ugld .

(iv) %eugt 22y ugla-dl daumi Wldl sisAlsa-dl Hda sl usuald ugla Aldl ay (GRard
20931 4 €9

(A) WA (i) 21 (i)

@ i) 21 (v

(C) M= (i) A1 (iii)

(D) (i), (ii), (iii) 24 (iv) 4181 %

Rl usizl, Hldl vislse 244 [Qeduair AeeHi, DA-unidl sun [Qtunl a2 97
(i) B AL vuglardl 22pu1a 2usld, 212 217 R g1R1L sUHE 20d &

(i) HUS AL 20020 ay AA2 HaH AlBid 2Ud LEd Sles AU 6.
(iii) HURAME 284 aqwy, %L s18 i dl, vugldadil 2gudui AS asu .
(iv) 5128 a-uHD, WS AL 3td, %1 518 Sid dl, Wwel2uni siaiaami »ud ¢,
(A) H1A (i) 2 (i)

(B) WA (ii) 21 (iv)

(C) Wt (i) A (i)

@ o). i), Gii) 211 (iv)
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088.

With respect to Set off of losses relating to the year of closure of business against deemed profit
Section 41(5) of Income Tax Act, 1961, in which of following cases losses cannot be carried forward?

(i) Business of an HUF where the business of the HUF is taken over by the Karta of HUF

(ii) Proprietorship business taken over by a firm in which proprietor is one of the partners

(iii) A firm being succeeded by another firm

(iv) A firm where the business of the firm is taken over by one of the partners of the firm

(A) Only (i) and (ii)

(B) Only (i) and (iv)

(C) Only (ii) and (iii)

.All (i), (ii), (iii) and (iv)

With respect to types of data and data collection, which of the following statements are correct?
(i) Data collected on religion from the census report are primary data

(ii) The data collected on the height of a group of students after recording their heights with a
measuring tape are primary data

(iii) The best method to collect data in case of a natural calamity is questionnaire method

(iv) Mailed questionnaire method of data collection covers the widest area as compared to direct
interview method

(A) Only (i) and (ii)

@oniy Gi) and (iv)

(C) Only (ii) and (iii)

(D) All (i), (ii), (iii) and (iv)

With respect to types of data, data collection and analysis, which of the following statements are
correct?

(i) Diagrammatic presentation of data is done by diagrams, charts and pictures

(ii) The more accurate mode of data presentation is tabulation instead of textual presentation
(iii) Hidden trend, if any, in the data can be noticed in diagrammatic presentation

(iv) In tabulation, source of the data, if any, is shown in the footnote

(A) Only (i) and (ii)

(B) Only (ii) and (iv)

(C) Only (ii) and (iii)

@1 ), i), Gii) and (iv)
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089.

090.

091.

092.

093.

Aeuar-l Aeedui, NA-unidl sun Qs i 97?

(i) A320AHE, AGna-L izl v sdl.

(i) alSacsll Aeuan 24 ey Aeuarl i Aeua-i-u 6l cus Qe ¢,

(iiii) Ay H-eul ulBdaall Acuar-u-l Guuid ad us o.

(iv) 215 oL 18[54 dalS 2invu 9 %l uaR Rl wele9s v 530 as.
(A) 1A (i) 24 (i) (B) WA (ii) 21 (iv)

@~ Gi), (i) 211 Giv) D) (i), (ii), (iii) A (iv) A %

=

ol 6l g2zl A 24 B UUR [RaRs sy, dl
(A) dil 1A AdA Siy 69 (B) dll ad= €1 a5 8

@t 2ada 1 €S w3 (D) A2 AHIA Ad AHQd €S wsdL 1l
(Bugl [Aawi-u 2igedni, AA-unisll s [Qanl e 9?

(i) [Buel [Adr@ M2, B2 q = 0.50 SIU AR HELS L gHS AL SIU 69,

(ii) Sl [Ada-l Heus $Hau d-i [Auan sdl ay i e

(iii) [Suel [Aare 12, oglan ergast €I a5 &

(iv) n 21 p wRell e [Guel [Ad L dsiadd HedH H&d 2n 69,

(A) 1A (i) 24 (i) (B) WA (ii) 21 (iv)

@~ ), i) A i) D) (i), (ii), (iii) A (iv) A %

YAs s Aseul, AA-uniol s Qanl = 9?

(i) Avacns xis3120- el o Aoilfd [Rald sald 6 d- yAs 2Uis sSami »ud O,

(i) 2R AN W2 YAS His SHA 200 A5 Qumi 2ud O,

(iiii) A5 25U MU MR (weights) V1oL HS AL (UL (% 8,

(iv) YAS 215 $51R1H 24yBl Wi e1ed 2sial-u $2s121 sald 6.

(A) 1A (i) 24 (i) (B) A (i) 241 (iv)

@~ ), i) 211 Gv) (D) (i), (ii), (iii) 21 (iv) o1 %
YAS LS AL UL, valHAD s2Aa1H v, 8.

(A)2 @-

e D) 10
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091.

092.

093.

With respect to probability, which of the following statements are correct?

(i) Initially, probability was a branch of Economics

(ii) Subjective probability and objective probability are two broad divisions of probability
(iii) Subjective probability may be used in Management

(iv) An experiment is known to be random if the results of the experiment can be selected at

random
(A) Only (i) and (ii) (B) Only (ii) and (iv)
.Only (i) , (iii) and (iv) (D) All (i), (ii), (iii) and (iv)

If two events A and B are mutually exclusive, then
(A) They are always independent

(B) They may be independent

.They cannot be independent

(D) They cannot be equally likely

With respect to binomial distribution, which of the following statements are correct?

(i) For a binomial distribution, mean and mode are equal when q = 0.50

(ii) The mean of binomial distribution is always more than its variance

(iii) For a binomial distribution, there may be multi modes

(iv) The maximum value of the variance of a binomial distribution with parameters n and p is 2n.
(A) Only (i) and (ii) (B) Only (ii) and (iv)

.Only (i) , (ii) and (iii) (D) All (i), (ii), (iii) and (iv)

With respect to index number, which of the following statements are correct?

(i) A series of numerical figures which show the relative position is called index number
(ii) Index number for the base period is always taken as 200

(iii) Weights play a very important part in construction of index numbers

(iv) Index numbers show percentage changes rather than absolute amounts of change
(A) Only (i) and (ii) (B) Only (ii) and (iv)

.Only (i), (ii) and (iv) (D) All (i), (ii), (iii) and (iv)

With respect to index number, the number of test of Adequacy is

(A)2 @-

e D) 10
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094.

09s.

096.

097.

[Brrt-[Ranasdinl w0045 (7 - r?) 4121 2UYUH] 204 € 21 d-f 2aeq 53 asu e 3...
@ Q24 208 A uuon dan Qaansl geiar

(B) §4 [Qaa- 18 nuona dau [QaanHl opia:

(C) uHAdl 1L asid da [aan-l auoadl asia dan [Qadq ur-l dRia:

(D) uHoAdl st dau [duan-l axndl 4 asi dal [[Qadn -l oeia:

Yeli-l Avarrl 2uaR [Ruazivis [Qequad 21 dd aollsd 531 asu -

(i) A0 [Rudriviy

(i) 2[R Rudriviy

(iii) o1[AY [Ruarivia

(iv) #Ra [Radrivia

(A) 1A (i) AR (iv) (B) WA (ii) ¥R (iv)

(C) WA (iii) 21 (iv) @), i) 21 Gii) wid 516 215
[Reatdl or3Rutau e eiui, AA-uniddl sa [Qanl = 872

(i) Reall 210 1 Ad AHAL 20000 Sl 201 WAL €1 69 24 d i 33Ul aldA
yluuul 20y 69

(i) ML LA WERARA 21 2™l dwAsdiil gL sl uadl [Rea-i xeux w2 [Reed daefl ay
A2 HIUA SAUNT 20d .

(i) AR AR AL 2100 ARUL 81U R (A datrtl s 1l 8 89

(iv) Re2in ana Ad Mgl oeliql Qe sieal W2 uan oiud 8 2 2um, aulRHdl s2dls
ctal@isaizin @dtdl Wl dl dnaami vee 2 6.

(A) H1A (i) 24 (i) (B) WA (ii) ¥A (iv)
(C) Wt (i), (i) 24 (i) @) i), (i) 4 iv) e

“pse[Faoia Binda RuilZa dodey” (XBRL) L dgeui, Hla-unisdl sun (Al i 697

A

(i) XBRL i [32016fl Qiuli-l 13e 9

(ii) XBRL i 21052 Wi2isie -l

(i) XBRL 5cu8l ual-aly] »im M8 %-idl HIE Guaey &

(iv) XBRL 1oL %A% W2t € 5 g+ uR [Buell aizeti-l 1m0l 2891 244 d-ll 29g1d. i 2uq3l
(A) 1A (i) 24 (i) (B) WA (ii) ¥A (iv)

@ Gi), Gii) 211 iv) (D) (i), (ii), (iii) 24 (iv) L1401 %
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095.

096.

097.

The ‘coefficient of non-determination’ is given by ( - r?) and can be interpreted as the
.ratio of unexplained variance to the total variance

(B) ratio of explained variance to the total variance

(C) ratio of unexplained variance to the explained variance

(D) ratio of explained variance to the unexplained variance

On the basis of number of variables regression analysis can be classified as
(i) Simple regression

(ii) Partial Regression

(iii) Multiple Regression

(iv) Complex Regression

(A) Only (i) and (iv) (B) Only (ii) and (iv)

(C) Only (iii) and (iv) .Either of (i), (ii) or (iii)

With respect to need for sampling, which of the following statements are correct?

(i) A sample study is usually less expensive than a census study and produces result at a relatively
faster speed

(ii) Sampling may enable more accurate measurements for a sample study is generally conducted
by trained and experienced investigators

(iii) Sampling remains the only way when population contains infinitely many members

(iv) Sampling usually enables to estimate the sampling errors and, thus, assists in obtaining
information concerning some characteristic of the population

(A) Only (i) and (ii) (B) Only (ii) and (iv)

(C) Only (i) , (ii) and (iii) .All (i), (ii), (iii) and (iv)

With respect to ‘eXtensible Business Reporting Language’ (XBRL) , which of the following
statements are correct?

(i) XBRL is a set of Accounting Standards

(ii) XBRL is not a Transaction Protocol

(iii) XBRL is freely licensed and available to the public

(iv) XBRL is merely a platform on which reporting standards content will reside and be represented
(A) Only (i) and (ii) (B) Only (ii) and (iv)

@ oniy i) , (i) and (iv) (D) All (i), (ii), (iii) and (iv)
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098.

099.

100.

101.

102.

SaRAT R Sradredl s2ld [Renu AlA-unidl su Gaeul 97

(i) 225 (=L a2

(i) 225l 21894 2101

(i) AU WA 2491 $31

(iv) asH-l w2 el 52U

(A) Wt (i) 21 (i) (B) A (i) 241 (iv)

(C) WA (i), (iii) - (iv) @), i), Gii) 211 iv) e

S132ASRAAA AAHE AL AR SAAAL duid 52 avid, Asldd 57222 qugasdl [l a3 8-
(i) % HUSAA ulsa sl © d s¢
(i) W Alss %34 &

(iii) 33 izl »3u

(iv) W3l yRialda gl

(A) 1A (i) 24 (i) (B) WA (ii) 21 (iv)

(C) 1A (i), (i) 2 (iv) @ o). i), Gii) 21 iv) s

.......... 2 AL55U BRoU, BH 5 YridH UsdR, Al ay -5l AL LML AL AU, FUIR d A4
asfeus Guaial iy R Hulled Aaaql 2iaan dar axdil Guaio 54l Ad sdl d 2w s weHdl
asls 6.

(A) Yus s (B) us oy

@2 2o (D) Ruaziviy

DAHiel 53 Ao YA w2 a2si wlalfia 52 97
(A)K =r —b—f B)K =f-b-r,
(O K,=f+b+r, @« -r+b+t1

ol K, = 48l UsdR; r, = Yra A AR 5 b = i giviug Bisllay ; £ = uendla vng Bidlan

MPBF -l 242 i 89 -

(A) Minimum Permissible Banking Finance
.Maximum Permissible Banking Finance
(C) Maximum Permission to Banking Finance

(D) Minimum Permission to Banking Finance
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099.

100.

101.

102.

Which of following are the objectives of computerized inventory control system?
(i) Control level of stock
(ii) Avoid stock shortage
(iii) Minimise cost of ordering
(iv) Minimise cost of carrying
(A) Only (i) and (ii) (B) Only (ii) and (iv)
(C) Only (ii) , (iii) and (iv) .All (i), (ii), (iii) and (iv)
When investigating an application with a view to computerisation, the prospective computer user
might consider
(i) The volume of data to be processed
(ii) The accuracy of processing required
(iii) The speed of processing required
(iv) The repetitive nature of the processing
(A) Only (i) and (ii) (B) Only (ii) and (iv)
(C) Only (ii) , (iii) and (iv) .All (i), (ii), (iii) and (iv)
is a technique for specifying how to use limited resources or capacities of a business to

obtain a particular objective, such as least cost, highest margin or least time, when those resources
have alternate uses.

(A) Index number (B) Correlation

.Linear Programming (D) Regression

Which one of the following formula represents the three components of cost of capital?

AK =r -b-f B)K =f-b-r,

(O K,=f+b+r, @« - v+t

where, K = Cost of capital; r, = Return at zero risk; b = Premium for business risk &
f =Premium for financial risk

MPBEF stands for —

(A) Minimum Permissible Banking Finance

.Maximum Permissible Banking Finance

(C) Maximum Permission to Banking Finance

(D) Minimum Permission to Banking Finance
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103.

104.

10s.

106.

107.

108.

SAUEIRIAL 212 dRiR HIE A-unHidll 53 Yo i) 97
@: 1512 2-{2ilaz JRiaR = GriR dawa + A3 BAEIRL
(B) 2AUEIR 2-12AAR JRITR = AIAA sAUEIRL + BHIR A0
(C) LR 2-{2ilaR Aalin = GriR dw + g4 Masdl

(D) 2AUEIR 2-i2AdR JRITR = GHIR dAIRL + AL BAER] x 319 [Bal

R 518 UL [RaR v+l HIZL 254 i Al&d v Al 531010 Gualol 52 6, UL U WiA.......... Sia,
PRETURE

(A) 1) sau-dl 5190 A5 (B) 5101

(C) 2iggn sollHl Gruasal @2 s2u-l 5100 Gruasa

510l Gauasadl sen (DOL) o NA-umiell 53 Yo iy 97

@ oL = 51 251l 581R(EBIT) + el geumi 251l 32512
(B) DOL = dA181-i1 %2l Hi 251a18] $2812 + 15140 251c18] $281(EBIT)
(C) DOL = A1l 2513 $351R + $6Ue s1Mi 25115 §512(PAT)

(D) DOL = 5206418 4$1H1 251cU3] §31(PAT) + AARHL 2518 512

RSl Grudsdl Hual e D-umidl s oRin-AL Guaiol a6 ?
(A) 2L dRITR (B) ea-S(3adl duiin

(C) QU%-19381 dRITIR @Gurisa avun

Dalumidl sy Q- vl ©97?

(A) 1 vigruaAni AdfAausl Hi2l 2Ul8d Al 2 a9,

@1\ vicrruani givanq el san 206 Sl 8.

(C) 1l ig1ruaAH] WZ[MS v 2 20U[RA ANAR Q2 UHIRHT QLG AHUU 1A 69,

YN

(D) H iglpuaAani R Masda-dl GHRY, 5512, sledid , $618¢L A Yr:AUALHL A A1 69,

Daumioll 56 Yl viclruadl ana-Jailya x1aa 2nyls dsdls 19l ?
(A) Ay adHini Yt ugla

(B) 2[Hna dey ugld

@200l 2iaa w3 andzHl €2

(D) 12l -GQIM QRlAR AU 51515 LS
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103.

104.

10S.

106.

107.

108.

Which one of the following is correct formula of Debtors Turnover Ratio?

.Debtors Turnover Ratio = Credit sales ~ Average debtors

(B) Debtors Turnover Ratio = Average debtors + Credit sales

(C) Debtors Turnover Ratio = Credit sales +~ Total assets

(D) Debtors Turnover Ratio = Credit sales +~ Average debtors x 319 days

When a firm employs a greater amount of fixed cost and a smaller amount of variable cost, the
firm is said to have a

(A) Low degree of operating leverage (B) Contribution

(C) Favorable operating leverage .High degree of operating leverage

Which one of the following is the correct formula of Degree of Operating Leverage (DOL)?
.DOL = % change in Profit (EBIT) ~ % change in Sales Volume
(B) DOL = % change in Sales Volume + % change in Profit (EBIT)
(C) DOL = % change in Sales +~ % change in Profit After Tax (PAT)
(D) DOL = % change in Profit After Tax (PAT) + % change in Sales

Which one of the following ratio(s) is/are used to measure financial leverage?
(A) Debt ratio (B) Debt-Equity ratio
(C) Interest Coverage ratio .All of the above

Which one of the following statements is incorrect?
(A) Capital budgeting involves potentially large anticipated benefits.
.Capital budgeting has relatively lower degree of risk.

(C) Capital budgeting has relatively long time period between the initial outlay and the anticipated
return.

(D) Capital budgeting includes addition, alteration, modification, disposition and replacement of
fixed assets.

Which one of the following is not a time-adjusted or sophisticated technique of capital budgeting

technique?

(A) NPV Method

(B) Terminal Value Method

.Accounting or Average Rate of Return Method

(D) Benefit Cost Ratio or Profitability Index
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109.

110.

111.

112.

113.

114.

115.

116.

[Rlag=3l 2u2gddi-it vareui Aa-unidll sul Rugia/Ragidl 084 © ?

(A) Blass-i 9y Rugia (B) HiSPauA-Ma ydaien
@Guzisa vid (D) Guuidl Hisua dl

MIS il 212 a1 ¢ —

(A) Managing Informatics Scheme (B) Management Information Scheme
.Management Information System (D) Managing Information System

A2umisdl sur w0l vieauaHl adadlsd cavay 2udl © ?

(A) 234 [Ru2 (B) 211633 WRla

(©) % AL W)y @ iia e

.......... A (3201 |idL vl s 4eL 84l

(A) s argil (B) s uldwl quadl axgil
(C) 2icid %33 axgil @Guzisa ann

TR TTCETR I g12L 2% Jd aplaaimi 2ud 69,

(A) HidL vl GuR dzs+ll ald (B) HidL v 316l drs viug)

(C) HidL vite DA drs viug @) >4 B) v

vigdl gr Hesdlni da (Bruml Ala-unidl st Gedad a9 ?
(A) glapRl [Run (B) ol [Run

(C) Hiarll wlaa @250 Rum

QURAHL RU 61212 2 Yl 6122 a2l dstadl 2100 DA-uuiell sy [Qauqt i ) ?
(A) WU B12ARAL H et Ul Al aHRLell 6.

(B) 4l o1l HS el AURUSLY ALl AMLdLell €9,

(C) RBI UBIL 1214 48 Sl AR 42 6 24 Yl o120 uia Sld 2R 52 69,

@19 oo urnnsllHi usu eoaRul Aaue waRsi Al 284 9.

Wi [MS MR v (IPO).......... Al Bl QUL 89,
[ FEIEPEEELE (B) 321 4l 1R
(C) walis s ;e (D) SR R AR
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109.

110.

111.

112.

113.

114.

115.

116.

Irrelevance Concept of Dividend includes which of the following theory/theories?
(A) Residual Theory of Dividend (B) Modigliani Miller (MM) Hypothesis
.Both of the above (D) None of the above

MIS stands for —
(A) Managing Informatics Scheme (B) Management Information Scheme

.Management Information System (D) Managing Information System

Which one of the following economists has given the universally accepted definition of economics?
(A) Adam Smith (B) Alfred Marshall
(C) A C Pigou .Lionel Robbins

Demand curve will slope upwards in case of
(A) Giffen goods (B) Goods having prestige value
(C) Extremely essential goods .All of the above

Decrease in demand is best described by
(A) Upward movement of the demand curve
(B) Leftward shift of the demand curve

(C) Downward shift of the demand curve

@soth (A) and (B)

In case of distress sale by the farmers which of the following will get violated?
(A) Law of utility (B) Law of demand

(C) Elasticity of utility .Law of supply

Which one of the following statements is not true regarding the difference between money market
and capital market in India?

(A) Important financial instruments of the money market are homogeneous in nature
(B) Important financial instruments of the capital market are heterogeneous in nature
(C) RBI directly influences the money market and indirectly influences the capital market

.Money market faces significant amount of risk as compared to the capital market

Initial Public Offer (IPO) is a part of
.Primary capital market (B) Secondary capital market

(C) Primary money market (D) Secondary money market
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117.

118.

119.

120.

121.

122.

123.

RBoi-a2 aRsid sudlnt.......... RLUHL 2414 69,
@:xen (B) *ulas
(C) sULRI (D) 2uerRAUS

Arzd uifed Alda (Sksw) dlafles (CDSL) Al 2a0u-1 s avui a8 edl ?
(A) 1992 (B) 1994 (C) 1998 @199

QURAHE -URUeAR 2bilAd DA-unidll sy [ 0 © ?

(A) 5% USIR GIRL 1AM £9 USIRU 233 ofledrl Gualol sl 2ud 69,

(B) uélglz2 s uidfle Henu AR an-l Yed w2 2udl asiu 8.
@502 2019 | cwsllorn wal (Slulizia Tu)- drElaA gl 2l sdl.
(D) sl Hrll WE2 Yneyd dd Sr25u-dl w-dl wsz .

BHARAT-22 i.......... 6.

(A) sl {2+ vataely Hiel [ PEBRERIER

(C) S-simHi 22 su-lliid %2 (D) GURisd WSl visur ]

Guulollal yeu vi2d..........

[ JIENTE (B) wdle al3d (€) Bua (D) Gualolal
A1 g2 sinl sUl A4S HIA 2 d aruRa 53 6 ?

(A) arg, {2l §2691 2 vileal3a

(B) vleal3d 244 ysaehl s2a-ll duidl

@20 22 S, wdlealza 213 ysaell srall dud
(D) ad, Wl 2691 21 Ysaell sl dasl

[ o [Qan-l Lunui Al

[Atin I— 245 argd YU 20 Agr el ada dd asldl asu 8.
[t 11- 245 azgrl (BHd 2w azgHl (Buadl 2ad=t Ad aeld) asu 6.
BuRlsd [Qauriqu Aeeinl AA-unidl sl [dseu i e ?

@ vt ) v S wa Qs Gii) 0y 8.

(B) (At (i) 2 €9 wat [asn (i) v ©.

(C) bin [Qru- v 69,

(D) tiA [Qau-l vier 69,
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117.

118.

119.

120.

121.

122.

123.

Debenture holders are considered of the company

.Creditors (B) Owners (C) Debtors (D) Promoters

Central Depository Services (India) Limited (CDSL) was established in which year?
(A) 1992 (B) 1994 (C) 1998 @199

Which of the following statements regarding India’s money market is correct?
(A) Presently Treasury Bills of six types are in use by the Central Government
(B) Certificate of deposit can be issued for a maximum maturity of four years
.SEBI allowed the listing of commercial papers in 2019

(D) Call money market is basically inter-company money market

BHARAT-22is

(A) An environmental standard for vehicles
.An exchange traded fund

(C) Group of 22 companies in e-commerce

(D) None of the above

Value—in-use means
.Utility (B) Purchasing power
(C) Price (D) Usefulness

Which one of the following set of the components best defines demand?
(A) Desire for a commodity and purchasing power

(B) Purchasing power and willingness to pay

.Desire for a commodity, purchasing power and willingness to pay

(D) Desire for a commodity and willingness to pay

Consider the following two statements:

Statement (I) - Value of one commodity can be described independently of the value of the other
commodity.

Statement (II) - Price of one commodity can be described independently of the price of the other
commodity.

With respect to the above given statements which one of the following alternatives is correct?
.Statement (D) is incorrect but statement (II) is correct

(B) Statement (I) is correct but statement (II) is incorrect

(C) Both statements are correct

(D) Both statements are incorrect
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124.

125.

126.

127.

128.

129.

2134, [Rua 2ol caaRad gt 2y AR UaH Al3d gd. A0 vl N2 2uda [aseainid sul
HEl Srsi gdl ?
(A) sRURL (B) 2894

@-iul (D) al& 24 [as

D2-uniofl sul ust urdagsll 2eleustu fxui ¢ ?

(A) ARl swAll Vil 52 vid SIMEIRL 2 QYT dd-t 524 Sig SIS ?
@1 ruau ool Yasuis nuid surqui dza dist alol) vn QA 8 ?
(C) Hel WA asan W2 [Brsa wlwyan use-l se s2d) Sidl A2 ?

-\

(D) g RBI 24 84 g2uciq [Riaui 2euian 1@ ul 22 atukdl i ?

Al Hoaar w2 vielaami Gualami daidl A4HlRd ugld (Deductive Method).......... -l
GuaiaL 53 69,

@ B) 321/ R

(C) udaw (D) GURlsd dHM

Gewe uiEuwi Gualoll gedl Auadin.......... A5 2 Ad aeldl asu .

(A) 422l axgil (B) 2ulAs azqil

@50 argil (D) Y5 AReil

Daumiddl sy [Qa eadl azgii 2w <d aeld € ?

(A) 8@l argii-l HidL i A5+l puas a2 AL ivik €.
@18 argil-l 1o 217 s 2uas a2l cud 2viy 8.
(C) Al argii-l »uas HaAUUAA ) Siu 8.

(D) $ASl Al Hds HRAUUAA YA SIU 6.

-

Aol 56 a2 argrl yast vud 1A as wAsd?
(A) Bewg - Aa-iHl Guastdimi aausi

(B) Gewg, WUl a1IRl

(C) U $dRA £UL Ak

@15 019 yRaun 54 el siaHami anRl
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124. Adam Smith was the first person to give a systematic definition of economics. His definition is

125.

126.

127.

128.

129.

centered on which one of the following themes?
(A) Welfare (B) Scarcity

.Wealth (D) Growth and Development

Which one of the following questions is in the realm of positive economics?

(A) What should be the minimum wage for farm workers cultivating cotton in Gujarat?

.How many people in India are below poverty line according to multi-dimensional poverty

index ?
(C) What should be the extent of fiscal stimulus package to fight recession?

(D) Should the RBI now increase repo rate to keep inflation under check?

Deductive method employed in economics to derive generalization makes use of
.Logic (B) Data/Information

(C) Survey (D) All of the above

Natural resources useful in production process are best described as
(A) Natural goods (B) Economic goods

.Free goods (D) Supplementary goods

Which one of the following statements best describes inferior goods?

(A) Demand for inferior goods and income of consumers is directly related
.Demand for inferior goods and income of consumers is inversely related
(C) Inferior goods have low income elasticity of demand

(D) Inferior goods have zero income elasticity of demand

Which one of the following events will shift the supply curve of a commodity downwards?
(A) Decrease in availability of factors of production

(B) Increase in the cost of production

(C) Increase in indirect tax value

.Increase in efficiency of factors due to technological improvement
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130.

131.

132.

133.

134.

135.

136.

Al Y61 YERUAIUAAL 1.27 WU 8. GUARL AN 5512 5.5% 69. dl WSl drgril YA Wi 2udd
o RAUHL UUHIR 5512 52l 82l ?

(A) 4.33% (B) 0.23%
@95 (D) 4.23%

-

Al A Y48l Heaaaidl g iy dl DA-uniell sy [ 0 © ?
@10 czg 2 yras 3vu Gel sdl

(B) 2l g, W2 yast v »udl eal

(C) 2516 argil AML=U {ld YrayASL HRANUAAL LA €9,

(D) @it Hizl Ll Al 9 YasL HRIUUAAL Eld €.

ARl YRASL U Al 2215 ARAHL Aoy Sal €97
(A) Neuat @

(C) 851RUcHS (D) 58l -1 As1u

grigLon il yasl 2w uiesnd Yuu 51281 9 97
(A) 4D HA (B) 2US U

@ 510 vl L (D) AAARHL 2Ll =l A 5L

Hiotdl 2uoudl W2 wule udan ugld-l Guaiol sau-l Al W2l s1uel sul 97?
(A) d AHY s 89,

(B) d watudl €9,

@ <4 uiie 8 120 3 RRaRU dsm sl owuHi 2ud 8.

(D) d 248l wain 69,

SN

A, B o C AR YRS axg il 8. %1 B 21 C L [ZHadl avumellni A AL Bud al di.........

(A) B -0l 1id qugl (B) C -0l HidL qugl

@5 211 C viAAl Hiv and (D) B 241 C binil Hiv 12l
3eslugld.......... 0 AsoAd 69,

(A) Bua-dl owiadl @00 2uoudl

(C) st-l 21dl (D) 4l vig1munt
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130.

131.

132.

133.

134.

13S.

136.

Price elasticity of supply for a commodity is given to be 1.27. Proportionate change in price is

5.5%. Then what will be proportionate change in quantity supplied?

(A) 4.33% (B) 0.23%

@505 (D) 4.23%

If price elasticity of supply for a commodity is zero then which of the following statements is
correct?

.Supply curve for such a commodity is vertical

(B) Supply curve for such a commodity is horizontal

(C) Durable goods generally exhibit zero price elasticity of supply

(D) In the long run most of the commodities exhibit zero price elasticity of supply

What is the nature of relationship between a supply of a commodity and its stock?
(A) Direct .Inverse

(C) Positive (D) Cannot be said

The main reason behind upward sloping of the supply curve is
(A) Substitution effect (B) Income effect

.Goal of profit maximization (D) New customer entering the market

The biggest advantage of using population survey method for demand forecasting is that
(A) It saves time

(B) It is biased

.It is accurate as all units of observation are considered

(D) It is less costly

A, B and C are three substitute goods. If price of A increases relative to the price of B and C, the

demand for
(A) B will increase (B) C will increase
.B and C will increase (D) B and C will decrease

Delphi technique is associated with
(A) Calculation of price .Demand forecasting

(C) Calculation of profit (D) Capital budgeting
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137. 20 2yel [Qsuq € s1eLs..........
(A) d 205 ge-utin auenai Slasiuq unui dg .
@112 adnys AR B 214 A 2uoudl 52 yeda 8.
(C) d [Reaidl agar 12 0lys AsufAst g Guaiani daidl ugld2i-l Gualal 54 1.
(D) d 2[5 82U SR AUUUHL A% 518 UUAA AL A el

138. wHd Ad yast v eikdl auid X-431 U agrl o2l 24 Y-43 uR ddl (Bud dami »ud ©.
ol Ul X-431 uR argrll [3Hd 42 214 Y- 93] uR agril 2l dl Yast vl ¢l sal sal?

@ (B) 6,
(C) % (D) AA-id
139. widg [ArdRa........ 118 AsAa 9.
(A) [Budui atui; wivri onui aauRl (B) (BHani a213l; Hidi-L el a1l
@i w21sl; o euni ail (D) BBl atuRy; Hioi orzanmi 21l

140.  ADA-uniodl s 2154 Hsd a5 2Rl as bl ?
(A) [R1&15 widi-u sun i @pud 69,
(B) $1522 Uldirit uRcuz1 ueui-l 1R 430 80 69,
@202 014 222 gL i 2uadl aslell Aail
(D) Hicdl Uil tUoSL WS WiRLs A4 69,
141. 59 e [Qeall vudll As@asRA [Bri-euwdl lun 5129 2dl gsat 04 9128 »udld [Asadla
w2 (A2l A5t Wicil8d s 8 ?
(A) Sr2RA2d 615 512 R52251 vir3 3a@ui-2 (IBRD)
(B) 21214 $15-U-A sluRuA (IFC)
(C) $reund Arer 512 AedHr2 viis $rdzeu-2 flye (ICSID)

@) 242:4 S-Aei-e 934 A=A (MIGA)

142, ADAuniEdl 53 iU wusisin (IMF) o sid el ?
@15 dwrA vicus 2uudl
(B) [AlAHu €2+ Razeid Wicus 2uug
(C) 2ALARABA RIS ASA2AA AN A-UAd,

-

(D) YuraRad [ARH razziia Ueis 2ug)

m [BCH-2] [Contd.


Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight


137.

138.

139.

140.

141.

142.

Economics is an imperfect science because

(A) It does not take into account history in explaining economic events

.Human behavior is uncertain and difficult to predict

(C) It does not use methods used by social scientist to formulate theories

(D) It does not take into account the influence of politics in shaping economic events

Supply curve is generally drawn by taking the quantity supplied on X-axis and its price on the

Y-axis. What will be the slope of the supply curve if we take price on X-axis and quantity supplied
on the Y-axis ?

@rositive (B) Negative
(C) Zero (D) Infinite

Expansion of demand is associated with

(A) Rise in price; rise in quantity demanded
(B) Fall in price; fall in quantity demanded

.Fall in price; rise in quantity demanded
(D) Rise in price; fall in quantity demanded

Which one of the following cannot be considered to be a free good?

(A) Teacher teaching his own children

(B) Doctor treating his family members

.Medical service offered by a charitable trust

(D) Mother preparing food for her children

Which institution encourages foreign investment in developing economies by offering insurance
(guarantee) to foreign private investors against loss caused by non-commercial risks?
(A) International Bank for Reconstruction and Development (IBRD)

(B) International Finance Corporation (IFC)

(C) International Centre for Settlement of Investment Disputes (ICSID)
.Multilateral Investment Guarantee Agency (MIGA)

Which one of the following is not a function of the IMF?
.To promote free trade

(B) To promote exchange rate stability

(C) To facilitate international monetary cooperation

(D) To promote orderly exchange arrangements
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143.

144.

145.

146.

147.

148.

AARAY AUR HIZ VA5 Heed SRQ.......... 8.
@-oilas Rl s (B) A% 51U yeuelld)
(C) [ a5l W2 usigeyfa (D) wels ygacue

(a2 duir 2161 (WTO) -l uaizu [Rela Ad A 56 € ?
@024 sivs-u (B) ARAuay

(C) S A1 vl (D) laye Aead-2 oildl

DAuHiefl sy Qv © ?

(A) 199441 *H1Rd A1y, vitdtHi 3R Ayeiudl 3uidlRd(Convertible) vi-ilcil.

@24 R [QRuue: ugl uudl 8.

(C) 5M2a 25162 (Yl vid) Fuid-u Yert 21ea2 1S diRR ARAD 2201 sl 2ud) sdl.
(D) S1AHE I vildl-l A1 AYRIUEL Y el

Dalumiofl sy (At 0 € ?
(A) AuRgel 2 [Axgd vaid € R daerdll dan i Aglad vaa ©.

(B) g, vt Y3 ucusi-l il a8 guR il vl $5d azgil 244 Al 2uad sl
aaell i 6.

@5 25 cuasiRiq gl g viami a S R A2 neia YA st nadi-l Al 44 vuawi
CIDER

(D) 4l vl vie A1y vl vier eald €.

5§ 6l Al “olen gad edlu”’ ddls dlsBia 97

(A) idARU UL ¢l (IMF) 244 [@2 duiR 6281 (WTO)
(B) 2HidslAU -ueu ¢isi (IMF) 241 A2 [As ols (ADB)
@i 200 e cidin (IMF) 214 [ ols

(D) [ 615 24 [Q2 duiR 281 (WTO)

Srsrdlad s1Sru siuiRan s SlEsar (IFCD- 2a1u-1L 1948 Hi.......... U B2y 2w scuHi sudl
&l

(A) vl dl12s su-dlaia alenduousdl diq 2

(B) ulbas dlHles su-l2iin ZsoumuHl diq uua

@ as s sulaia aiewouou-dl diq 2uua

(D) &g GelldliA aisuoususl @i »uudl
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143.

144.

145.

14e.

147.

148.

One of the important reasons for international trade is
.geographical specialization (B) political diplomacy

(C) sympathy for world citizens (D) regional groupism

Which is the highest decision-making body of the World Trade Organization?
.Ministerial Conference (B) Secretariat

(C) Board of Governors (D) Dispute Settlement Body

Which one of the following statements is incorrect?

(A) India made rupee fully convertible on current account in 1994

.India has adopted fixed exchange rate system

(C) Tarapore committee was appointed to study the issue of capital account convertibility

(D) Currently capital account transactions are not totally free

Which one of the following statements is correct?
(A) Balance of trade is a broad concept whereas balance of payments is a narrow concept

(B) Current account records capital flows whereas capital account records only exports and

imports of goods and services

.Unilateral flows are recorded in the current account whereas foreign direct investment flows

are recorded in capital account

(D) Deficit in capital account reflects deficit in current account

Which two institutions are popularly known as ‘Bretton Woods Twins’?
(A) International Monetary Fund and World Trade Organization

(B) International Monetary Fund and Asian Development Bank
.International Monetary Fund and World Bank

(D) World Bank and World Trade Organization

Industrial Finance Corporation of India was established in 1948 with an objective of
(A) providing long-term loans to private limited companies

(B) providing short-term loans to public limited companies

.providing long-term loans to public limited companies

(D) providing long-term loans to small scale industries
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149.

150.

151.

152.

153.

154.

2[Qun Jadiun-e 65 (ADB) [Qd d-unidl 53 [ wig ¢ ?
(A) [ 3aaiui-2 6ls (ADB)-L 22a1u-1 1966 Hi 4% ¢dl

(B) (2wt 3adius-2 ols (ADB)- 2auu-il 22 244 WRE 5 12 yuinii s 244 sl s sHlan-l
AR YR sauMi 2udl gdl.

(C) d [ 23 WRE 5 Al d-i [Asiuella e 2ai-l 2ulds 214 3y s wdldA Wt 2uuar 12
wuadla 6.

@raie 2isum .

.......... gL ANdR bi[dd (Compensatory) 21 U545 (Contingency) Ul ylas 3l wsani

(A) yrt:[Ania 2 [@giu 12 Aidndlu 6ls (IBRD)
@i =208l ueueisin (IMF)
(C) [a2 AR 42161 (WTO)

(D) [ 3aaiud-2 6is (ADB)

Dauniddl sy Q- vl © ?

(A) [3ud 24 HIdL AL Ud Aol A1) AR 24 2UAS 1A Hesdl AHAAUHL 20, €,
(B) YA AU SHAL A5IRAHS 81U 8

@ e 212 Shau esies Cla B,

(D) 35 argii (BRUH1 A4 AU A51RAHS SlU

(el [Almu c1omHE ol U512 dril AARLL YERAHT 8213 52 dl dni.......... aZls vNvAH 204 €9,
@yt (B) 121
(C) yeuadn (D) Yrt:3jeuism

DAl sul 24idAU duIR-L S1UEL ) ?

(A) Guaisal W2 uedlA [Axgd 52 €.

(B) 21\ [(5ud il yiaricudfl argil Guasy s1d .
@ 10us Dorini 2isellon u 2ol Reia

(D) 25 Ul alcns o

AR GUEL YA.......... adls vinvy 8.
(A) 4R AHidA¥U Yy (B) aaui-ll vile aldd
(C) AU €2 [ [EIEXORE
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149.

150.

151.

152.

153.

154.

Which one of the following statements about the Asian Development Bank (ADB) is incorrect?
(A) The ADB was established in 1966

(B) The ADB was established on the recommendations of the UN Economic and Social Commission
for Asia and the Pacific

(C) The ADB is engaged in promoting economic and social progress of its developing member
countries in the Asia and the Pacific region

.None of the above

Compensatory and contingency financial facility is provided by

(A) International Bank for Reconstruction and Development (IBRD)
.International Monetary Fund (IMF)

(C) World Trade Organization (WTO)

(D) Asian Development Bank (ADB)

Which one of the following statements is incorrect?

(A) Inverse relationship between price and quantity demanded is explained with the help of
substitution effect and price effect

(B) Substitution effect is always negative
.Income effect is always positive

(D) In case of Giffen goods, substitution effect is negative

In the foreign exchange market, if the government decreases value of its currency it is

known as
.devaluation (B) depreciation
(C) appreciation (D) revaluation

Which one of the following is not an advantage of international trade?
(A) widens the choice for consumers

(B) better quality of goods at lower prices made available
.dependence of countries on each other in essential goods

(D) local firms become competitive

External value of currency is known as
(A) international value of currency (B) purchasing power of currency

(C) swap rate .exchange rate
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155.

156.

157.

158.

159.

160.

161.

(gl [Alanadl yrast u.......... N DR
(A) Goll (B) qHidR
@ (D) 2 slrcuell

GATT -l 531 AGHL Y5 AUIR AU US%HE A, {51 247 GllfAs Ault 2185201 wuda
5l YA SAHL 20y 8!

(A) 25l ABG~3 (B) all2102 A6+
@od 26 (D) Reel AG

Y1y SlaR A 3L yeuui alg a dl..........
(A) [Rsiul atui 214 2ua1aui a2isi a6

@ s w218l A Buaal ARl wu B

(C) s 5 2uadui 516 §3512 adi 2l

(D) (A1 244 2010 6iAHE 82131 21 8

2[R Jadiude G5 You AR ARKIRSL SIS ?
(A) A, YU, A 214 iR

@, w2, A 2R ®iRd

(C) wddrs, v, [Flak- 214 siRu

(D) 2, oauir, YAu w1 Bl

Daumiddl sy Qi (A2 duir das (WTO) [agl ) el ?

@ Az 2061 (WTO)H i Ad 16l -2l 1991 - 2oy 2201 s3cuHi 2] 8
(B) [42 AuR A28 (WTO) 25 stul iz ¢9

(C) Bod AG+3 [A2 duiR 24261 (WTO) A %= 21wl

(D) MURd [A2 duiR 2§28 (WTO)-L 221us AeuIHid] 245 €9

2017 -18 UL AB2HI MURd U2 tlimg, (AHIANL2AL) 2A0il8d 56 Alog-u-ll mdud 3 el ?
(A) 3 613 @S aseia (eol) viivs
(C) AL bliv3 (D) HALAL Gl

c

5§ AM[A- Mennel v RBI 2 ul i Aad ul {lsHlosm 20 53 ?
(A) YRd *eel AR @ v2a ul
(C) vurt ARl (D) [AH A% A
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158.

156.

157.

158.

159.

160.

161.

Supply of foreign exchange curve is

(A) vertical (B) horizontal

.positively sloped (D) negatively sloped

Which round of GATT suggested the inclusion of services, investment and intellectual property
rights in the package of free trade agreements?

(A) Tokyo Round (B) Washington Round

.Uruguay Round (D) Delhi Round

Appreciation of rupee versus US dollar leads to
(A) increase in exports and decrease in imports
.decrease in exports and increase in imports
(C) no change in either exports or imports

(D) decrease in both exports and imports

Who are the four main shareholders of the Asia Development Bank (ADB)?
(A) Japan, USA, China and Korea

.J apan, USA, China and India

(C) Thailand, Malaysia, Philippines and Korea

(D) China, Japan, USA and Philippines

Which one of the following statements is not true about the World Trade Organization (WTQ)?
@+ 10 was officially constituted on 15t January 1991

(B) WTO is a permanent organization

(C) Uruguay round gave birth to the WTO

(D) India is one of the founding members of the WTO

In the budget of 2017-18, the Government of India announced floating of which scheme related to
bonds?

(A) Green bond .Electoral bond

(C) Swachhata bond (D) Masala bond

On the recommendations of which committee did the RBI introduce repo and reverse repo
mechanism?

(A) Surjit Bhalla Committee .Urjit Patel Committee

(C) Khan Committee (D) Raghuram Rajan Committee

[BCH-2] [PT.O.
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163.

164.

165.

166.

167.

168.

2uas 21 Aduladdl yagadl.......... alRL AR {ld W 2 8.

(A) “weudla A @50 Al

(C) 20l Alla OEREIR

Dauniddl sy 245 weudla Alad e ol ?

@ iz s2ax (B) 4[5 A53cdL uH (SLR)
(C) Wl a 2[5 504 (MSF) (D) A53cL A-UHA WML (CRR)

Aumidl 59 vite u512-1 4 LRI 2% Ld eald 872
(A) vyl vuer (B) t1%2 vl
@ s sl vua (D) s vua

AUSHL o2 YR A 69 dHiell DA-uHigdl sul qoiss) el ?

(A) B1%2 UR AHI=Y AL (B) a2 U w5162

@iz »is Ra-e (D) it uiowellail u2 Hdgi
ofaRRirl SaU 202 YA Ol.......... A AWl wRn sl [SAu0H /A3AU1 dUIR s $21d. 8.
(A) 3% AR @ 1n w2412

(C) ssalad ueaul (D) GURisd dHIM

ylRun o1ge- deeHi D2 ol [Qail 2um uR |l

(A8 1: 1959-60 - 12l NaH Avid 2% d walA 21q8fl 29 sAUL el
(Qeunt 11 : 24d 172 2014-15 | U G1g2 A8 FLIUNT U 8

Bu 2uudl [Qau-i-u Ageini DA 2udan [Qscuinidl sul [Aseu 01 6 ?
(A) [Qtun (i) 24 (i) ol w0 o

B) [Qtunt (i) 21 (ji) oid wieL 8

@i ) 203 B 214 [Qan i) vig ©

(D) (At (i) v € 244 [t (i) 2 &

AA-umidl sui (B g 20l eisin- fl1id WA (MCLR) i Ggat -l ?
(A) GASIA Y JHIEHS GLdl AEH ti-ladl

(B) cuell cures € 61 [l Guastdl YRlad sa

@ rB1 A soucunn qzaisd giua 5201 uBH A

(D) Gisi-u (B el Wil e1mn gr-uHladul YRl sa
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163.

164.

165.

166.

167.

168.

Redistribution of income and wealth is better achieved by

(A) Monetary policy .Fiscal policy

(C) Industrial policy (D) Agricultural policy
Which one of the following is not an instrument of monetary policy?

.Indirect taxes (B) Statutory Liquidity Ratio (SLR)
(C) Marginal Standing Facility (MSF) (D) Cash Reserve Ratio (CRR)

Which one of the following deficits best highlights total indebtedness of government?
(A) Revenue deficit (B) Budget deficit
@riscal deficit (D) Primary deficit

Which of the following is not the stages through which the budget goes through in Parliament?

(A) General discussion on the budget (B) Vote on account

.Vote of dissent (D) Voting on demands for grants
Article 202 of the Constitution requires to prepare annual financial statements.
(A) Central Government .State Governments

(C) Union Territories (D) All of the above

Consider the following two statements with respect to the Union Budget:

Statement I — Plan expenditure was for the first time separately presented in the budget of 1959-60
Statement II — Railway budget was merged with the general budget in 2014-15

Which one of the below given options is correct with respect to the statements given above?

(A) Statements (I) and (IT) both are correct

(B) Statements (I) and (II) both are incorrect

.Statement (I) is correct and statement (II) is incorrect

(D) Statement (I) is incorrect and statement (II) is correct

Which of the following is not an objective of Marginal Cost of funds-based Lending Rate (MCLR)?
(A) to enable banks to become more competitive

(B) to ensure availability of bank credit at fair interest rates

.to enable the RBI to achieve the inflation target

(D) to improve the transmission of policy rates into the lending rates of banks
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169.

170.

171.

172.

173.

174.

175.

176.

soUil bt:;&ﬁ-ld (Inflation-indexed) li~s.......... uR 2R gdl.

(A) A8 G YAsAis (CPI) @ u0iv cua yasais (Wer)

(C) vl (Measd yeu (NAV) (D) 2144 Yeu (Discount Value)

R HL o2nRH YL ual 6 Ayl Su-ll2iia curdlu AR01RIHE AR 214 [361-u2 $2y sl

uaAl 2ua HIZ FAUGEIR Sdl?

(A) RisyRA» & g ol 2iis Sl-3u1 (SEBI)
@::14z vis 3Rza Syu (con)

(C) -usu Hua

(D) 22ls M52 29ya22 iis Slrsul (SMRI)

AAuHidl $Y 12 2021-22 Al 2uHIRAM Al ?

(A) s causiall auad w2 adumdas [@As (B) 202194 i1, Yrusiil

(C) WS 27 wsulu 44 @iz 4

1982 viLeL Uil anal HI2 ARSIR GIRL AY USH E.neneenen dRs €l nu 8.

(A) w20l &si yARistemi atil (B) (220l &=-u sl arrl
@100 Acn ydAsiami a2 (D) -l €14 w2l

A S FUREIL] 21 6% 2 AW (FRBM) SI4EL 2003.......... UL MIR Y5 69,

(A) u8yall udlar-l dsu Asivlu xAdls@ (B vidHL AR wRRusl

(C) $RAUA A5HAAS @cuzu oy

MURAHL U2 615 aual HI2 %33 YrdH 2Agd yil 524l 97
(A) 3. 10 5313 (B) 3. 50 5213
@:. 100 218 (D) 3. 1,000 513

DAuHiell 53 (A IDBI (A2l wig & ?
@081 22uu-u 1976 Hi as sdl (B) 2004 Hi IDBIA Busyais 6lsui 3uidRd 54

(C) IDBI 8144l vl &otl isl giullug (D) IDBI 1, agHas Yoidui 8

515 (14, 2009 Horor alBd (st g1 wean 3¢l 54 Ysdl a3 97

(A) 3L. 500 @:. 1,000
(C) 31. 10,000 (D) 2udl 515 Wulgl el
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169.

170.

171.

172.

173.

174.

175.

176.

Inflation-indexed bond was based on

(A) Consumer Price Index (CPI) .Wholesale Price Index (WPI)

(C) Net Asset Value (NAV) (D) Discounted Value

Before the reforms of capital market in India which agency was responsible for allowing companies
to issue shares and debentures in Indian stock market?

(A) SEBI .Controller of Capital Issues (CCI)

(C) Ministry of Finance (D) Stock Market Regulator of India (SMRI)

Which one of the following is not a pillar of the Budget 2021-22?
(A) Inclusive development for aspirational India

(B) Health and well-being

(C) Physical and financial capital

.Intellectual capital

Excessive borrowing by government to meet its budget deficit leads to
(A) increase in private sector investment (B) increase in foreign sector investment

.decrease in private sector investment (D) decrease in interest rates

The FRBM Act 2003 emphasizes on
(A) Reserve-led fiscal consolidation (B) Better expenditure outcomes

(C) Rationalization of tax regime .All of the above

What is the minimum authorized capital required to set up a payments bank in India?
(A) Rs. 10 crore (B) Rs. 50 crore
.Rs. 100 crore (D) Rs. 1000 crore

Which one of the following statements about IDBI is incorrect?

.IDBI was established in 1976

(B) In 2004, RBI converted IDBI into a scheduled commercial bank

(C) IDBI is currently in the category of private sector bank

(D) Headquarter of IDBI is in Mumbai

According to the Coinage Bill, 2009, what is the maximum amount that an individual can pay
through coins?

(A) Rs. 500 @rs. 1,000

(C) Rs. 10,000 (D) There is no such limit
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177.

178.

179.

180.

181.

182.

uniddl sy 2w weusly axdad cavaild 52 6 ?
(A) 835 AN U ML &

(B) €251 [l glampiqi o1oaRHi ude voL 8

(C) €35 l5ad RBHavug €iq

NN

@5 2uqs v2nadL AR AL W AR5 Al ugisdl

Dalumiddl s eil=501 &aqi Y uR AResH alAa-1 4l e 44l ?

(A) G531 L W2 AR AU UELgsHAL AL

@ r51 2 2158 2tund urRL (CRR) uR G54 cues Ysad A 1)

(C) Wi vl HARuoUME A4URS 53l UM (SLR) Hi 25% YHlAL detssiau: 821sl s

(D) Givs1 85% -l Sl udlndl 2l (CAR) siud s4l B

ollo] 2215 A1aAy (BSE) 1A 52¢l YAsAALSL Hl1a 6 ?
& (B) A
(QREIE] (D) 45 Al

RURA U511 YL o2l AlA-unigdl siql umda a6 ?

(i) RBI waidll dlag eq

(i) [A2ell U511 Al wodl div

(i) (R yd W sa Hi2Hl vl

(iv) A% ASIRAA 2uani 2uddl diq

(A) HA (i), (i) 241 (iv) (B) LA (i) A (i)

(C) WA (i) @) Gi), (i) 21 v) e

.......... RURdA] UAH YLl SIRY2ATRS 2s Had-y 8.

(A) NSE (B) BSE
@oicel (D) ASE

GDR 24..........

@i iifed Alxe (B) Al SiARes Rfle
(C) 2aind siHlRes RAdle (D) Al Al [:dle
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177. Which one of the following best defines financial inclusion?
(A) Everyone having access to stock market
(B) Everyone having access to foreign exchange market
(C) Everyone having a demat account
.Delivery of banking services at an affordable cost to low income group people
178. Which one of the following is not a recommendation of Narasimham Committee — I on banking
sector reforms?
(A) Establishment of 4-tier hierarchy for banking structure

.RBI should not pay interest to banks on CRR

(C) Phased reduction in the SLR to 25 % over a period of five years

(D) Banks should achieve capital adequacy ratio of 8%

179. How many indices are connected with the Bombay Stock Exchange (BSE)?

@our (B) thirty
(C) fifty (D) one hundred

180. Which of the following are included in the capital budget of the Government of India?
I. Borrowings from the RBI
II. Loans received from foreign governments
I11. Expenditure on acquiring fixed assets
IV. Loans granted to State Governments
(A) (i), (ii) and (iv) (B) (ii) and (iii)

(C) Only (i) @1 of the above

181. Which is India’s first fully computerized stock exchange?
(A) NSE (B) BSE
@orcer (D) ASE

182. GDR stands for

.Global Depository Receipt (B) Gross Domestic Receipt

(C) Global Domestic Receipt (D) Gross Global Receipt
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183.

184.

18S.

186.

187.

188.

suL anHi [dgell Arensly As1asRAA MiRdld A201e40 [A2ellai-n g st sl {odl >unami
2udl gdl ?

(A) 1991 @199 (C) 1995 (D) 2000

RBI glR1 veell 612141 42513 ool vileau..........
@0 c2 gl uig uvu yrast 2 Ardu 2uas audl
(B) % €2, LRI YAl - AU H1as ausl

(C) 1% €3, IBU YRASL A1 A 2Uds 829l

(D) % €2 A U YAl 829l uid AU 2uas ausl

-

olst [Qal Ala-uwidl sy [Qaq vig 97

(A) 6151 AlSiu sAd- 2Uedid Ucldd 53

(B) S50 1A w152 $2 89 A dHA Beulet WIS Buasy si-id 69
(C) BLst L A% AHE HEE 53

@Guzisa W4 2sua 14

“allHl AuA HEEUR” (A3 2ls Are Ruid) ed..........

(A) AL Bigdi-L AT A1 2iag

@121 900 52151 ununi vz OF 210 GSiHL bl Yiag)
(C) AWl isig L AP AU sruani suag)

(D) BuRisd U4 2isun Al

Daumidl sy [Qa- vl © ?
(A) RBI 2uvt [Ra[3a 531 215 €9, duidl olst v u2g a5 €9 udl d (R 530 asdl -9l

(B) RBI -l 44 Bgal ¢ia [R22d1 18 gl 244 [asiaq ylRlRia sau-l 8. dwidl elsi-l qra 62 v
A5l sHIQAIAL €

(C) RBI AR5l a8 s €9, dwid] 6151 ARSI AAUSSIR dZl5 514 sl -l
@Guiisa 1A Asua 4l

U53$ wrid MHRL (CRR) Hi atul scudl adl 24421 8él %9 Hl..........
@:is c2ui el sami 2

(B) vical o124 u25151 Lol dacumi »ud

(C) daulAs 53 v (SLR) Hi a1 $ami 204

N

(D) Aay Ul 224l a1 sAUUi 2ud
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183.

184.

185.

186.

187.

188.

In which year were FIIs permitted to invest foreigner’s money in Indian Stock Market?
(A) 1991 @199
(C) 1995 (D) 2000

Open market purchases of government securities by the RBI will have the tendency to
.Decrease interest rates, but increase the money supply and national income

(B) Increase interest rates, the money supply and national income

(C) Decrease interest rates, the money supply and national income

(D) Decrease interest rates and money supply but increase national income

Which of the following statements about banks is incorrect?

(A) Banks encourage saving habits among people

(B) Banks mobilize savings and make them available for production
(C) Banks help in creating credit money

.None of the above

The ‘lender of last resort’ means

(A) The government coming to the rescue of poor farmers

.Central bank coming to the rescue of other banks in times of financial crisis
(C) Commercial banks coming to the rescue of small industrial units

(D) None of the above

Which one of the following statements is incorrect?
(A) RBI can control credit. Commercial banks can create credit but cannot control it.

(B) Main objective of RBI is to ensure growth and development with price stability. Main objective
of a commercial bank is to maximize profit.

(C) RBIl is an advisor to the government. Commercial banks do not work in advisory capacity to
the government.

.None of the above

The effect of increase in CRR will be reduced if
.Bank rate is reduced

(B) Government securities are sold in the open market
(C) SLR is increased

(D) Reverse repo rate is increased

[BCH-2] [PT..
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189.

190.

191.

192.

193.

194.

s [RAARI AU d AL 8L 8ol UR MERUAR(Sd UL W3 €9 ?
(A) uigallysd (B M-l @ Rruvacis Reizwl

(C) dRucHs [Riei (D) BURLsd M

nddaani ydRisr Rz s2a0 12 RBI g 5291 ?
@:u 22 awdl

(B) 65 €2 82139

(C) vical 612141 U513 AnHl0 24 wilesl

(D) AAS A53dL AL (SLR) Hi 82131

AweuSlY &l YRl usan oilrso [Rizewai.......... REURTREERCETS IR TR
(A) dA[&d @u9r €2 Y] (B) G 2xA-uHd o3[Rurdl
@G- 1550 90002 (D) GuRisd WA visua 4l

we s arfla oisi (RRBs)-l 2aiu-L sau aiui scuui 2udl ?
@975 (B) 1979

(©) 1980 (D) 1985

RBI UL 140 {3 D2A-uniell 54 Qi vilg 97

@ r5I1 sz -Gl siSullna Sudlaig Rusq sami 2ud 8.
(B) RBI Micis s s1ul 534 el

(C) RBI AARIAL 6U&L HeUA oanadl W2 gaeiglR Al

(D) 2017 9l RBI 215 302+l -2l eordl 281 69,

-

Q1o €2 S8R wed g ?
(A) A4S 53 MM (SLR) 21 53 BUHA UHIL (CRR) A4-L dslad

(B) 53 v UM (CRR) 4 d41ARs 53 UL (SLR) AL dsiad
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189.

190.

191.

192.

193.

194.

controls affect indiscriminately all sectors of the economy.
(A) Selective credit .Quantitative

(C) Qualitative (D) All of the above

In order to discourage investment in the economy, the RBI may
.Increase the repo rate

(B) Decrease the bank rate

(C) Buy government securities in the open market

(D) Decrease in SLR

Before financial sector reforms, the banking system was characterized by all of the following

except
(A) Administered interest rate structure (B) High reserve requirements
.High profitability ratio (D) None of the above

Regional Rural Banks were established in

@975 (B) 1979

(©) 1980 (D) 1985

Which one of the following statements with regard to RBI’s functions is incorrect?
.Non-banking financial companies are regulated by the RBI

(B) RBI does not perform promotional functions

(C) RBI is not responsible for maintaining external value of currency

(D) Since 2017, RBI is printing one rupee notes

Interest rate corridor is the

(A) Difference between statutory liquidity ratio and cash reserve ratio
(B) Difference between the cash reserve ratio and statutory liquidity ratio
.Difference between the repo rate & the reverse repo rate

(D) Difference between the bank rate and the repo rate
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195.

196.

197.

198.

199.

200.

AMlez 23y RsyRA» vi2d..........

@2512-0 oloD i

(B) 6l su-luil gL e8I WMl 2udd 02l

(C) eigARIU su-dl2il giRL o112 wisauni »udd il
(D) YRR siulaq giaL ei81R Wi uda el

D2lumioll sy [ a9 97

@ 2uc viis A curdH big12 bie12 wida bil=s 8 uig tudld 3R safawHi 204 8

(B) HALAL 1lm3 24 HIRAHE HASIR WAL tllv3 A 8 Ud, YA LA™ salaqui »ud 8
(C) AuRdlu sudl2iid 2019 Hi v oii=g Al Hogl 2uuami 2udl ¢dl
(D) Guuidl 215y )

A2-umiofl 53 weudlu g Gergw 4l ?
(A) g 21 [3o1-uR (B) $[322l 212
(C) suRiza dur @ s 23y

59 613 AURAll Man Ada YH-2 6l A 431 ?
(A) WAAH (Paytm) Ois @22 da-ew ols al2s
(C) 2uSlvisAl 522 (D) vitn &5

“[3e02” 52914 S601 BuAAL AHIH U Belloll 56 51 Yl HenH Al Hadl a5 © ?
(A) 3L. 50,000 (B) 3. 1,00,000
@:. 5.00,000 (D) 3\. 10,00,000

QA-midd)l 55 %1 wlou Nd W vl Al ?

(A) 215041 615 (EXIM Bank) — (Rt 214 2naid we (B
(B) RBI - 6isi-ll 61

(C) IDBI - 4B (B

@rcr - Aud Giia nufa usin
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195S.

196.

197.

198.

199.

200.

Gilt-edged securities refer to

.Government securities

(B) Securities issued by blue-chip companies

(C) Securities issued by multinational corporations

(D) Securities issued by municipal corporations

Which one of the following statements is correct?

.Masala bonds are the bonds issued outside India but denominated in Indian rupees

(B) Masala bonds are the bonds issued in India but denominated in US dollars
(C) Indian companies were permitted to sell Masala bonds in 2019
(D) None of the above

Which of the following is not an example of financial instrument?

(A) Bonds and debentures (B) Equity shares

(C) Commercial papers .Balance sheet

Which bank launched India’s first live payments bank?

(A) Paytm Bank @~irtcl Payment Bank Ltd
(C) IDFC First (D) Bandhan Bank

All small businesses falling under ‘Kishore’ category can get a maximum loan of what amount?

(A) Rs. 50,000 (B) Rs. 1,00,000
@rs. 5,00,000 (D) Rs. 10,00,000

Which of the following pairs is not correctly matched?
(A) EXIM Bank — Financing for export and import
(B) RBI — Banker’s bank

(C) IDBI - Industrial finance

.FCI — Financial assistance to commercial banks

[BCH-2]
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